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Java Programming

Question 01: Which company developed Java?

a) Microsoft

b) Oracle

c) Apple

d) Sun Microsystem

Answer : D

Explanation: None.

e

Question 02: Which was the original name of Java at the time of dev@t?

a) CupofCoffee
b) Oak 6
c) Sun++
d) Gava s\
Answer : B O

Explanation: None. Q\p

Question 03: Java is ? ,&
a) Method Oriented Program%

b) Object Oriented Progran
c) Pure Object Oriente ramming
d) Structural Oriented mming

Answer : C

Explanation: None. Q

Question 04: Which company owns Java now?

a) Sun MicroSystem
b) IBM

c) Apple

d) Oracle

Answer : D

Explanation: None.
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Question 05: After compilation of a Java program which code generated?

a) Executable code (.exe)

b) Assembly code (.asm)

c) Object Code (.obj)

d) Byte Code (.class)
Answer : D

Explanation: After compilation class file (Byte code) generated.

Question 06: Which declarations are required in a Java program?

a) There should be a main function

b) There should be a class
c) There should be a class and a main function
d) None of these 6

Answer : C C}
Explanation: There should be a class and a main function s\

Question 07: Which is not a valid type of variable? Q )

a) Global variable

b) Local variable Q,\'

c) Class variable

d) Instance variable @
Answer : A \

Explanation: None.

v

Question 08: Which is a pyj data type?

a) String

b) Chara

c) Float
d) byte

Answer : D

Explanation: String, Character and Float are classes but byte is primitive data type.

Question 09: What will be the output of following program?
public class Prg

{

public static void main(String args|[])

{
}

System.out.print(20+ 1.34f + "A" + "B");
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a) 201.34AB
b) 201.34fAB
c) 21.34AB
d) Error
Answer : C

Explanation: None.

Question 10: What will be the output of following program?
public class Prg

{

public static void main(String[] args)

{
char [] str={i"'n";c'I''u’,d"'e"}h''e",I''p'}; 6@

System.out.printin(str.toString());
/ @,
) ! ludehel \
a) includehelp
b) Error O
c) [C@19e0bfd (Memory Address) \'
d) NULL

Answer : C éQ

Explanation: str is a character array, if @0 print str.toString() it will not converted to string
because str is an object of character é‘ at will print an address in string format

Question 11: What should be %’(e of java program file containing this program?

public class M
{ @
» % void main(String args[])

{

}
}
a) MyPrg.class
b) MyPrg.java

System.out.print("IncludeHelp");

c) MyPrg
d) Any file name with java extension
Answer : B

Explanation: In this program class MyPrg is public, so we can not take any file name, we must
save this program by MyPrg.java file name otherwise Compilation error is occurred.
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Question 12: What is byte code in Java?

a) It is another name for java source file that contain the information about the hardware.
b) It is a binary code generated by the Java Virtual Machine for operating system.
c) Itis an intermediate code generated by the java compiler for Java Virtual Machine.
d) None of these
Answer : C

Explanation: It is an intermediate code generated by the java compiler for Java Virtual Machine.

Question 13: What is Garbage Collection (GC) in the Java?

a) Itis a thread to free the memory of de-referenced objects automatically.

b) It is a method to collect the garbage values of variables.

c) Itis a package included in program to free the memory occ@ objects.
d) None of these

Answer : A C}@
Explanation: None.

X

Question 14: What will be the output of following rog@ )
class Prg K

{ Q
public static void main(String a@

{

const int a=10;

System.out. ;
}
a) 10
b) a @
c) Unprinta ter
d) CompileTi
Answer : D

Explanation: JAVA does not support the const keyword, instead of const, final keyword is used.
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Question 15: What is the range of short data type in Java?
a) -128 to 127
b) -32768 to 32767
C) -2147483648 to 2147483647
d) None of the mentioned
Answer : B
Explanation: Short occupies 16 bits in memory. Its range is from -32768 to 32767.

Question 16: What is the range of byte data type in Java?
a) -128 to 127

b) -32768 to 32767
C) -2147483648 to 2147483647 6

d) None of the mentioned

Answer : A
Explanation: Byte occupies 8 bits in memory. Its range is o to 127.

Question 17: In Java, Numbers are considered as ? O‘
a) Integer

b)) :nt Q\'
c) long @

d) Float
Answer : A
Explanation: None. X

4

Question 18: An expression i %ﬁbyte, int, and literal numbers is promoted to which of
these?

a) int

b) lon

c) byte

d) float
Answer : A

Explanation: An expression involving bytes, ints, shorts, literal numbers, the entire expression is
promoted to int before any calculation is done.

Question 19: Which of these literals can be contained in float data type variable?
a) -1.7e+308
b) -3.4e+038
c) +1.7e+308
d) -3.4e+050

Answer : B
Explanation: Range of float data type is -(3.4e38) To +(3.4e38)
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Question 20: Which data type value is returned by all transcendental math functions?

a) int
b) float
c) double
d) long
Answer : C
Explanation: None.

Question 21: What is the output of this program?
class average

{

public static void main(String args[])

{
double num([] = {5.5, 10.1, 11, 12.8, 56 Sl 9},
double result;
result = 0;
for (inti=0;i<6; ++)

result = result + num[os\

System.out.print( result/6

}
} Q

a) 16.34 J
b) 16.566666644 @
c) 16.4666666666666

d) 16.4666666666
Answer : C
Explanation: None.

)
Question 22: What e output of these statement?

class o

{

public static void main(String args[])
{
double a, b,c;
a=3.0/0;
b =0/4.0;
¢=0/0.0;
System.out.printin(a);
System.out.printin(b);
System.out.printin(c);

}
}
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a) Infinity

b) 0.0

c) NaN

d) all of the mentioned
Answer : D
Explanation: For floating point literals, we have constant value to represent (10/0.0) infinity
either positive or negative and also have NaN (not a number for undefined like 0/0.0), but for the
integral type, we don’t have any constant that’s why we get an arithmetic exception.

Question 23: What is the output of this program?
class increment

{
public static void main(String args[])
{
intg=3; 6
System.out.print(++g * 8); ( )
}

| S
a) 25

b) 24

c) 32 Q’\'

d) 33 @

Answer : C

Explanation: Operator ++ has more pref@lhan *, thus g becomes 4 and when multiplied by
8 gives 32.

cIass area

Question 24: What is the ou @'ﬂs program?

|d main(String args]])

double r, pi, a;

r=98, pi=3.14

a=pi*rrr

System.out.printin(a);
}

}
a) 301.5656
b) 301
c) 301.56
d) 301.56560000
Answer : A
Explanation: None
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Question 25: What is the numerical range of a char data type in Java?

a) -128 to 127
b) 0 to 256
c) 0 to 32767
d) 0 to 65535
Answer : D
Explanation: Char occupies 16-bit in memory, so it supports 2216 i:e from 0 to 65535.

Question 26: Which of these coding types is used for data type characters in Java?

a) ASCII

b) ISO-LATIN-1

¢) UNICODE @
d) None of the mentioned

Answer : C
Explanation: Unicode defines fully international character set @n represent all the characters
found in all human languages. Its range is from 0 to 6553

Question 27: Which of these values can a boolean vari@cbntain?

a) True & False

b)0 &1 Q,\'
c) Any integer value
d) true @
Answer : A
Explanation: None. \

Question 28: Which of tf;e&@ﬂrst 0 to 127 in Unicode character set used for characters

in Java?
a)
b@LATlN-l
c) e of the mentioned

d) ASCII and ISO-LATIN1
Answer : D
Explanation: First 0 to 127 character set in Unicode are same as those of ISO-LATIN-1 and
ASCII.

Question 29: Which one is a valid declaration of a boolean?

a) boolean bl =1,
b) boolean b2 = ‘false’;
¢) boolean b3 = false;
d) boolean b4 = ‘true’
Answer : C
Explanation: Boolean can only be assigned true or false literals
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Question 30: What is the output of this program?
class array_output

{

public static void main(String args])

{

char array_variable [] = new char[10];
for (inti=0;i<10; ++i)

array_variable[i] = "i';

System.out.print(array_variable[i] + "™ );
i++:

. &

2)iiiii ( )~
) 01234
¢)ijklm 0‘\

}

d) None of the mentioned

Answer : A
Explanation: None. \'
Question 31: What is the output of this pr .

class mainclass

{ \ﬁ
public static void % tring argsf])

{

chara="

at+;
g.’print((int)a);
}

}
a) 66
b) 67
c) 65
d) 64

Answer : A
Explanation: ASCII value of ‘A’ is 65, on using ++ operator character value increments by one.
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Question 32: What is the output of this program?
class mainclass

{

public static void main(String args])
{
boolean var1 = true;
boolean var2 = false;
if (var1)
System.out.printin(var1);
else
System.out.printin(var2);

b) 1

c) true < ’
d) false
Answer : C s\

o (9{'/

Explanation: None.

X
Question 33: What is the output of this prograw@'
class booloperators

{ <
public static void main S@s[])
{
boolean var1 = &
boolean var, :
System.o {in((var1 & var2));
} (Z,

R
a)0
b) 1
c) true
d) false
Answer : D
Explanation: boolean ‘&’ operator always returns true or false. varl is defined true and var2 is

defined false hence their ‘&’ operator result is false.
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Question 34: What is the output of this program?
class asciicodes

{
public static void main(String args[])
{
char var1 ='A";
charvar2 ='a’;
System.out.printin((int)var1 + " " + (int)var2);
}
}
a) 162
b) 65 97
c) 67 95
d) 66 98
Answer : B 6
Explanation: ASCII code for ‘A’ is 65 and for ‘a’ is 97. < 1

Question 35: What is the order of variables in Enum?
a) Ascending order
b) Descending order
c) Random order Q’\'
d) depends on the order() method @
Answer : A
Explanation: The compareTo() method & mented to order the variable in ascending order.

Question 36: Can we create an ipﬁ%e'of Enum outside of Enum itself?
v

a) True

b) False Q
Answer : B @
Explanation: Enum ave a public constructor.

Question 37: What is the output of this program?
enum Season {

WINTER, SPRING, SUMMER, FALL

b
System.out.printin(Season.WINTER.ordinal());

a)0
b) 1
c) 2
d)3
Answer : A
Explanation: ordinal() method provides number to the variables defined in Enum.
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Question 38: If we try to add Enum constants to a TreeSet, what sorting order will it use?
a) Sorted in the order of declaration of Enums
b) Sorted in alphabetical order of Enums
c) Sorted based on order() method
d) Sorted in descending order of names of Enums
Answer : A
Explanation: Tree Set will sort the values in the order in which Enum constants are declared.

Question 39: What is the output of below code snippet?

class A

{}

enum Enums extends A

{

ABC, BCD, CDE, DEF;

}
a) Runtime Error < ’
b) Compilation Error

c) It runs successfully Os\

d) EnumNotDefined Exception
Answer : B

Explanation: Enum types cannot extend class. Q’\'

Question 40: What is the output of below, } ippet?

enum Levels \'

private TOP,
public MEDIU ?‘
protected B ;

]

/

c) It runs successfully
d) Compilation Error
Answer : D
Explanation: Enum cannot have any modifiers. They are public, static and final by default.
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Question 41: What is the output of below code snippet?
enum Enums

{
A B, C;
private Enums()

{
System.out.printin(10);

}

public class MainClass

{

public static void main(String[] args)

{
Enum en = Enums.B; 6

}

} < 1
a) 10
10 s\
u O
b) Compilation Error

c) 10 ’\n
10 @Q

d) Runtime Exception
Answer : A
Explanation: The constructor of Enun#J ed which prints 10.

Question 42: Which method ret#gfi3¥he elements of Enum class?

a) getEnums()

b) getEnumConsta

C) getEnumLy

d) getEnum()
Answer : B
Explanation: getEnumConstants() returns the elements of this enum class or null if this Class
object does not represent an enum type.

Question 43: Which class does all the Enums extend?

a) Object

b) Enums

c) Enum

d) EnumClass
Answer : C
Explanation: All enums implicitly extend java.lang.Enum. Since Java does not support multiple
inheritance, an enum cannot extend anything else.
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Question 44: Are enums are type-safe?
a) True
b) False
Answer : A
Explanation: Enums are type-safe as they have own name-space.

Question 45: Which of the following is the advantage of BigDecimal over double?
a) Syntax
b) Memory usage

c) Garbage creation
d) Precision
Answer : D % ;

Explanation: BigDecimal has unnatural syntax, needs more mecj‘ creates a great amount
cal

of garbage. But it has a high precision which is useful for som ations like money.

X

Question 46: Which of the below data type doesn’t su@ overloaded methods for +,-,* and /?
a) int
b) float Q,\'
¢) double @
d) BigDecimal
Answer : D

Explanation: int, float, double proviK oaded methods for +,-,* and /. BigDecimal does not
provide these overloaded methodgs

Question 47: What is the f below code snippet?

double g3 ,
doubl ,
double a;
System.out.printin(c);

BigDecimal _a = new BigDecimal("0.02");
BigDecimal _b = new BigDecimal("0.03");
BigDecimal _c = b.subtract(_a);
System.out.printin(_c);
a) 0.009999999999999998
0.01
b) 0.01
0.009999999999999998
c) 0.01
0.01
d) 0.009999999999999998
0.009999999999999998
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Answer : A
Explanation: BigDecimal provides more precision as compared to double. Double is faster in
terms of performance as compared to BigDecimal.

Question 48: What is the base of BigDecimal data type?
a) Base 2
b) Base 8
c) Base 10
d) Base e
Answer : C
Explanation: A BigDecimal is n*10”scale where n is an arbitrary large signed integer. Scale can
be thought of as the number of digits to move the decimal point to left opright.

P

Question 49: What is the limitation of toString() method of BigD

a) There is no limitation

b) toString returns null ( ’

c) toString returns the number in expanded form

d) toString uses scientific notation s\
Answer : D
Explanation: toString() of BigDecimal uses scientiffpotation to represent numbers known as
canonical representation. We must use toPlainSt avoid scientific notation.

'}

Question 50: Which of the following is ded by BigDecimal?

a) scale manipulation

b) + operator ,&\,
c) rounding

d) hashing 9@’

Answer : B
Explanation: toBigint @1 rts BigDecimal to a BigInteger.toBigIntegerExact() converts
this BigDecimal to a@eger by checking for lost information.

Question 51: BigDecimal is a part of which package?
a) java.lang
b) java.math
c) java.util
d) java.io
Answer : B
Explanation: BigDecimal is a part of java.math. This package provides various classes for
storing numbers and mathematical operations.
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Question 52: What is BigDecimal.ONE?

a) wrong statement
b) custom defined statement
c) static variable with value 1 on scale 10
d) static variable with value 1 on scale 0
Answer : D
Explanation: BigDecimal.ONE is a static variable of BigDecimal class with value 1 on scale 0.

Question 53: Which class is a library of functions to perform arithmetic operations of
BigInteger and BigDecimal?

a) MathContext

b) MathLib
c) BigLib
d) BigContext 6

Answer : A
Explanation: MathContext class is a library of functions to per@rlthmetic operations of

BiglInteger and BigDecimal. \

Question 54: What is the output of below code sni peto
public class AddDemo K

{ Q
public static void main(String args]]) @

{

BigDecimal b = new B;
BigDecimal br = ne,
BigDecimal bre

1("23.43");
Cimal(“24");
new BigDecimal("450.23"));

Math = b.add(new BigDecimal("450.23"), mc);

BigDeci
S @' “orintin("Add using MathContext: "+bdecMath);
}

System.out.p& d: "tbres);
MathConE%: new MathContext(2, RoundingMode. DOWN);

a) Compilation failure
b)
Add: 684.66
Add using MathContext: 6.8E+2
C)
Add 6.8E+2
Add using MathContext: 684.66
d) Runtime exception
Answer : A
Explanation: add() adds the two numbers, MathContext provides library for carrying out various
arithmetic operations.
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Data Type-Date, TimeZone

Question 55: How to format date from one form to another?

a) SimpleDateFormat

b) DateFormat

c) SimpleFormat

d) DateConverter
Answer : A
Explanation: SimpleDateFormat can be used as Date now = new Date();
SimpleDateFormat sdf = new SimpleDateFormat ("yyyy-mm-dd'T'hh:MM:ss");
String nowStr = sdf.format(now);
System.out.printIn("Current Date: " +); .

p
Question 56: How to convert Date object to String? ,g/
a) SimpleDateFormat sdf = new SimpleDateFormat("yyy, w ;
sdf.parse(new Date());
b) SimpleDateFormat sdf = new SimpleDateForma -pfm-dd");

sdf.format(new Date());
c¢) SimpleDateFormat sdf = new SimpleDateFor -mm-dd");

new Date().parse();
d) SimpleDateFormat sdf = new SimpleD at("'yyyy-mm-dd");
new Date().format();

Answer : B
Explanation: SimpleDateFormat takes a gmQa\containing pattern. sdf.format converts the Date
object to String. X
N
Question 57: How to convert a $if¥to a Date object?
a) SimpleDateFormat w SimpleDateFormat("yyyy-mm-dd");
sdf.parse(new D '
b) SimpleDat f = new SimpleDateFormat("yyyy-mm-dd");
sdf.format(n te());

c¢) SimpleDateFormat sdf = new SimpleDateFormat("yyyy-mm-dd");
new Date().parse();
d) SimpleDateFormat sdf = new SimpleDateFormat("yyyy-mm-dd");
new Date().format();
Answer : A
SimpleDateFormat takes a string containing pattern. sdf.parse converts the String to Date object.

Question 58: Is SimpleDateFormat thread safe?

a) True

b) False
Answer : B
Explanation: SimpleDateFormat is not thread safe. In the multithreaded environment we need to
manage threads explicitly.
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Question 59: What is the replacement of joda time library in java 8?
a) java.time (JSR-310)
b) java.date (JSR-310)
c) java.joda
d) java.jodaTime
Answer : A
Explanation: In java 8,we are asked to migrate to java.time (JSR-310) which is a core part of the
JDK which replaces joda library project.

Question 60: How is Date stored in database?
a) java.sgl.Date
b) java.util.Date @
c) java.sql.DateTime 6

d) java.util.DateTime
Answer : A 1 ?
Explanation: java.sql.Date is the datatype of Date stored ir‘@ .

Question 61: What does LocalTime represent? Q )
a) Date without time ’\'
b) Time without Date Q
¢) Date and Time @
d) Date and Time with timezone

Answer : B
Explanation: LocalTime of joda libr esents time without date.

Question 62: How to get diff ®5etween two dates?
a) long diffInMilli 54 me.Duration.between(dateTimel, dateTime2).toMillis();

b) long diffIn% i adime.difference(dateTimel, dateTime2).toMillis();

c) Date diffIr§ Java.time.Duration.between(dateTimel, dateTime2).toMillis();
d) Time diffln = java.time.Duration.between(date Timel, dateTime2).toMillis();
Answer : A
Explanation: Java 8 provides a method called between which provides Duration between two
times.

Question 63: How to get UTC time?
a) Time.getUTC();
b) Date.getUTC();
c) Instant.now();
d) TimeZone.getUTC();
Answer : C
Explanation: In java 8, Instant.now() provides current time in UTC/GMT.
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Literals & Variables

Question 64: Which of these is long data type literal?
a) Ox99fffL
b) ABCDEFG
c) 0x99fffa
d) 99671246
Answer : A
Explanation: Data type long literals are appended by an upper or lowercase L. Ox99fffL is
hexadecimal long literal.

e

Question 65: Which of these can be returned by the operator &? P
a) Integer 6

b) Boolean
c) Character
d) Integer or Boolean
Answer : D X
Explanation: We can use binary ampersand operator on@ s/chars (and it returns an integer)
or on booleans (and it returns a boolean).
Question 66: Literals in java must be appended ich of these?
a) L
b) | <
c)D @
d) Land |
Answer : D &\'

Explanation: Data type long liter appended by an upper or lowercase L.

Question 67: Literal can
a) integer
b) float
c) boolean
d) all of the mentioned

Answer : D

Explanation: None.

ich of these data types?

Question 68: Which of these cannot be used for a variable name in Java?
a) identifier
b) keyword
c) identifier & keyword
d) none of the mentioned
Answer : B
Explanation: Keywords are specially reserved words which cannot be used for naming.
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Question 69: What is the output of this program?
class evaluate

{
public static void main(String args[])
{
intaf] ={1,2,3,4,5};
intd[] =a;
intsum = 0;
for (intj=0; )< 3; +4))
sum += (a[j] * dfj + 1]) + (afj + 1] " d[i]);
System.out.printin(sum);
}
}

a) 38

b) 39 < )
c) 40
d) 41 $\

O

Answer : C
Explanation: None. X

N
Question 70: What is the output of this prog®,Qv

class array_output
{
public static void main( S

{
int array_varia ew int[10];
for (inti =§%ﬂ)
{
3o aowe[i] = i12;

variable[i]++;
m.out.print(array_variablefi] + " *);

a)02468

b)12345

c)0123456789

d)12345678910
Answer : B
Explanation: When an array is declared using new operator then all of its elements are initialized
to 0 automatically. for loop body is executed 5 times as whenever controls comes in the loop i
value is incremented twice, first by i++ in body of loop then by ++i in increment condition of for
loop.
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Question 71: What is the output of this program?
class variable_scope

{
public static void main(String argsf])
{
int x=5;
{
inty =6;
System.out.print(x + " " +y);
}
System.out.printin(x +" " +y);
}
) /
a)5656
b)565
¢) Runtime error < )
d) Compilation error

Answer : D

Explanation: Second print statement doesn’t have acces , scope y was limited to the block
defined after initialization of x.

N
Question 72: Which of these is an incorrect gripNiteral?

a) “Hello World” J
b) “Hello\nWorld” @
¢) “\”Hello World\"”
d) {\'
"Hello @"
world" Q
Answer : D
Explanation: all stri must begin and end in the same line.

Question 73: What is the output of this program?
class dynamic_initialization
{
public static void main(String args[])
{
double a, b;
a=3.0;
b =4.0;
double ¢ = Math.sqrt(a *a + b * b);
System.out.printin(c);
}
}
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a) 5.0

b) 25.0

c)7.0

d) Compilation Error
Answer : A
Explanation: Variable ¢ has been dynamically initialized to square root of a * a + b * b, during
run time.
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Type Conversions, Promotions and Castings

Question 74: Which of these is necessary condition for automatic type conversion in Java?
a) The destination type is smaller than source type
b) The destination type is larger than source type
c) The destination type can be larger or smaller than source type
d) None of the mentioned
Answer : B
Explanation: None.

Question 75: What is the prototype of the default constructor of this class?
public class prototype { } R

a) prototype()
b) prototype(void) 6

c) public prototype(void)

d) public prototype( ) < '
Answer : D
Explanation: None. x

o°
Question 76: What is the error in this code? \'

byte b = 50;
b=b*50; Q
a) b cannot contain value 100, limi Qﬂs range
b) * operator has converted b * &nt, which cannot be converted to byte without
casting
c) b cannot contain value 5 {\'
d) No error in this code %v
Answer : B

Explanation: While evalua@ expression containing int, bytes or shorts, the whole expression
ed and the result is also of type int.

is converted to int th@
Question 77: If an expression contains double, int, float, long, then the whole expression will be
promoted into which of these data types?
a) long
b) int
c) double
d) float
Answer : C
Explanation: If any operand is double the result of an expression is double.
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Question 78: What is Truncation is Java?
a) Floating-point value assigned to an integer type
b) Integer value assigned to floating type
c) Floating-point value assigned to an Floating type
d) Integer value assigned to floating type

Answer : A

Explanation: None.

Question 79: What is the output of this program?
class char_increment

{

public static void main(String args|[])
{
charc1="D} @
char c2 = 84, 6
C2++, C
cl++;
System.out.printin(c1 +"" + c2); &
}
- QO
a
b)UE Q’\’
c)VE @

dUF
Answer : A
Explanation: Operator ++ increment% lue of character by 1. c1 and c2 are given values D

and 84, when we use ++ operator alues increments by 1, c1 and c2 becomes E and U
respectively.

-

Question 80: What is the f this program?

{class o

public static void main(String args|[])

double a =295.04;
int b =300;
byte ¢ = (byte) a;
byte d = (byte) b;
System.out.printin(c +" " +d);
}
}
a) 38 43

b) 39 44
c) 295 300
d) 295.04 300
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Answer : B

Explanation: Type casting a larger variable into a smaller variable results in modulo of larger
variable by range of smaller variable. b contains 300 which is larger than byte’s range i:e -128 to
127 hence d contains 300 modulo 256 i:e 44.

Question 81: What is the output of this program?
class A

final public int calculate(int a, int b) { return 1; }

}

class B extends A

{
public int calculate(int a, int b) { return 2; }
| <

public class output

| @,
public static void main(String args[])
{ \

B object = new B();
System.out.print("b is " + b.calculd¢e(0, 1));
) \&
} lo

a)bis:2 \Y,
b)bis:1 @

c) Compilation Error

d) An exception is thrown@*@t e

Answer : C
Explanation: The code does mpile because the method calculate() in class A is final and so
cannot be overridden b QONQf class b.

Question 82: What i output of this program, if we run as “java main_arguments 1 2 3”?
class main_arguments

{

public static void main(String [] args)
{
String [][] argument = new String[2][2];
argument[0] = args;
int x = argument[0].length;
for (inty = 0; y < x; y++)
System.out.print(" " + argument[0][y]);
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Answer : D
Explanation: In argument[0] = args;, the reference variable arg[0], which was referring to an
array with two elements, is reassigned to an array (args) with three elements.

Question 83: What is the output of this program?
class ¢

{
public void main( String[] args )

{
System.out.printin( "Hello" + args[0] ); @
}
} %)

a) Hello c < ’
b) Hello
c) Hello world 0‘\

d) Runtime Error

Answer : D \
Explanation: A runtime error will occur owning @ ain method of the code fragment not
being declared static. Vo

@U
-
g

Q@
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Arrays

Question 84: Which of these operators is used to allocate memory to array variable in Java?
a) malloc
b) alloc
C) new
d) new malloc
Answer : C
Explanation: Operator new allocates a block of memory specified by the size of an array, and
gives the reference of memory allocated to the array variable.

Question 85: Which of these is an incorrect array declaration?

a) int arr[] = new int[5];
b) int [] arr = new int[5].; 6@

c) float arr[] = new float[5];

d) int arr[] = int [5] new;
Answer : D

Explanation: Operator new must be succeeded by array %ind array size.

Question 86: What will this code print? x\v
int arr[] = new int [5]; ’&

System.out.print(arr);

a)0
b) value stored in arr[0].
¢) 00000 N
d) Class name@ hashcodé® xadecimal form
Answer : D
Explanation: If we trying any reference variable internally, toString() will be called

which is implemente the String in following form:
classname@hashcod xadecimal form

Question 87: Which of these is an incorrect Statement?
a) It is necessary to use new operator to initialize an array
b) Array can be initialized using comma separated expressions surrounded by curly braces
c¢) Array can be initialized when they are declared
d) None of the mentioned
Answer : A
Explanation: Array can be initialized using both new and comma separated expressions
surrounded by curly braces example : int arr[5] = new int[5]; and intarr[] ={ 0, 1, 2, 3, 4};
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Question 88: What is the output of this program?
class array_output

{

public static void main(String args|[])

{
int array_variable [] = new int[10];
for (inti=0;i<10; ++)
{
array_variablefi] = i
System.out.print(array_variable[i] +"");
|++

}
}

) Q//
a)02468
b)13579 6
c)0123456789 < )
d)12345678910
Answer : A s\
Explanation: When an array is declared using new operato@ﬂ Il of its elements are initialized to 0

automatically. for loop body is executed 5 times as wiggneve™Controls comes in the loop i value is
incremented twice, first by i++ in body of loop the% i in increment condition of for loop.
-

Question 89: What is the output of this pr @) )
class multidimention_array

{

public static void main( @args[]

" =g
intarrf][] =

arr[0]

arr[1 =%t ;
eW Int[3];

in

= O’
for (inti=0;i<3; ++)
for (intj=0;j<i+1;+4))
arrfiji] =j +1;
for (inti=0;i<3; ++)
for (intj=0;j<i+1;+4))
sum + = art[i][j];
System.out.print(sum);
}
}
a) 11
b) 10
c) 13
d) 14
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Answer : B

Explanation: arr[][] is a 2D array, array has been allotted memory in parts. 1st row contains 1
element, 2nd row contains 2 elements and 3rd row contains 3 elements. each element of array is
given i + j value in loop. sum contains addition of all the elements of the array.

Question 90: What is the output of this program?
class evaluate

{
public static void main(String args[])
{
intarr[]=newint]{0,1,2,3,4,5,6,7, 8,9}
intn=6;
n = arrfarr[n] / 2];
System.out.printin(arr[n] / 2);
}
} -9
a) 3
b) 0
c)6
91 Q)
Answer : D x
Explanation: Array arr contains 10 elements. n cQtazNIS 6 thus in next line n is given value 2
printing arr[2]/2 i:e 2/2 = 1. @
Question 91: What is the output of thisrdgram?
class array_output
( \
public static vg tring args[])
{
chg @a Mable [] = new char[10];
@ 12 0;i<10; ++)
{
array_variable[i] = 'I'
System.out.print(array_variable[i] + "");
}
}
}

a)12345678910
b)012345678910
c)ijklmnopqr
Answer : D
Explanation: None.
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Question 92: What is the output of this program?
class array_output
{
public static void main(String args])
{
int array_variable[][] = {{ 1, 2, 3}, {4, 5, 6}, {7, 8, 9}};
int sum =0;
for (inti=0;i<3; ++)
for (intj=0;j< 3; ++j)
sum = sum + array_variable[i][j];
System.out.print(sum/ 5);
}
} /
a) 8
o 9
¢) 10 C}
d) 11
Answer : B s\
Explanation: None. Q

N\
o)
&

0‘2’&
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Data Structures-Arrays

Question 93: What is the type of variable ‘b’ and ‘d’ in the below snippet?
intaf], b;
int [Ic, d;

a) ‘b’ and ‘d’ are int
b) ‘b’ and ‘d’ are arrays of type int
C) ‘b’ is int variable; ‘d’ is int array
d) ‘d’ is int variable; ‘b’ is int array
Answer : C
Explanation: If [] is declared after variable it is applicable only to one variable. If [] is declared
before variable it is applicable to all the variables.

Object[] names = new String[3];

y.
Question 94: What is the output of below snippet? é/

names[0] = new Integer(0); o
a) ArraylndexOutOfBoundsException
b) ArrayStoreException s\
c) Compilation Error O
d) Code runs successfully
Answer : B \v

index for a given array. ArrayStoreExcepti s when you have stored an element of type

Explanation: ArraylndexOutOfBoundsExcept'Q’e es when code tries to access an invalid
other than the type of array.

X\

Question 95: Generics does not &\Mﬂ”

a) Set
b) List
c) Tree @Q

d) Array
Answer : D
Explanation: Generics glves the flexibility to strongly typecast collections. Generics is applicable
to Set, List and Tree. It is not applicable to Array.

Question 96: How to sort an array?

a) Array.sort()

b) Arrays.sort()

c) Collection.sort()

d) System.sort()
Answer : B
Explanation: Arrays class contains various methods for manipulating arrays (such as sorting and
searching). Array is not a valid class.

Prepared By : Mr. M.Islabudeen, Associate Professor, CSE, SAEC, Ramanathapuram 31




SYED AMMAL ENGINEERING COLLEGE

RAMANATHAPURAM

Department of Computer Science and Engineering < Tg{}/'

(Accreditated by NBA)

JAVA PROGRAMMING

Question 97: How to copy contents of array?

a) System.arrayCopy()

b) Array.copy()

c) Arrays.copy()

d) Collection.copy()
Answer : A
Explanation: Arrays class contains various methods for manipulating arrays (such as sorting and
searching). Array is not a valid class.

Question 98: Where is array stored in memory?

a) heap space

b) stack space @

c) heap space and stack space

d) first generation memory 6
Answer : A { ,

the Heap space and stack memory contains the reference

Explanation: Array is stored in heap space. Whenever ar&fec reated, it’s always stored in

Question 99: An array elements are always stored memory locations?
a) Sequential
b) Random @
c) Sequential and Random
d) Binary search @

Answer : A &
Explanation: Array elements are in contiguous memory. Linked List is stored in random

memory locations.
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Operators

Question 100: Which of the following can be operands of arithmetic operators?

a) Numeric

b) Boolean

c¢) Characters

d) Both Numeric & Characters
Answer : D
Explanation: The operand of arithmetic operators can be any of numeric or character type, But
not boolean.

Question 101: Modulus operator, %, can be applied to which of these?

c) Both Integers and floating — point numbers
d) None of the mentioned
Answer : C

a) Integers
b) Floating — point numbers 6

Explanation: Modulus operator can be applied to both inte@s and floating point numbers.
~

Question 102: With x = 0, which of the following yge 1ed® lines of Java code for changing the

value of x to 1?
1. X++; @

2.X=x+1;
3. x+=1;
4. x=+1;

a)1,28&3
b)1&4

0)1,23&4 Q(b’
d)3&2 Qb

Answer : C
Explanation: Operato ncreases value of variable by 1. x = x + 1 can also be written in
shorthand form as x += . Also x =+ 1 will set the value of x to 1.

Question 103: Decrement operator, —, decreases the value of variable by what number?

a)l

b) 2

c)3

d) 4
Answer : A
Explanation: None.
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Question 104: Which of these statements are incorrect?
a) Assignment operators are more efficiently implemented by Java run-time system than
their equivalent long forms
b) Assignment operators run faster than their equivalent long forms
c) Assignment operators can be used only with numeric and character data type
d) None of the mentioned
Answer : D
Explanation: None.

Question 105: What is the output of this program?
class increment

{
public static void main(String args[]) @
{
double vart =1 +5; 6
double var2 = var1/ 4;
intvar3 =1 +5; C}
int var4 = var3 / 4; &
System.out.print(var2 + " " + var4);
} O
} é
a)ll
b)01 @
c)l51
d) 1.5 1.0 @
Answer : C

Explanation: None.

14

Question 106: What is the E of this program?

class
{
pub tic void main(String args|])

{
double a = 25.64;
int b=25;
a=a%10;
b=b % 10;
System.out.printin(a+"" +b);
}
}
a) 5.640000000000001 5
b) 5.640000000000001 5.0
c)55
d) 5 5.640000000000001
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Answer : A
Explanation: Modulus operator returns the remainder of a division operation on the operand.
a=a% 10 returns 25.64 % 10 i:e 5.640000000000001. Similarly b = b % 10 returns 5.

Question 107: What is the output of this program?
class increment

{
public static void main(String args[])
{
intg=3;
System.out.print(++g * 8);
}
} Q/
a) 25
b) 24 6
c) 32 ‘ ’
d) 33
Answer : C

Explanation: Operator ++ has more preference than *, tl@ becomes 4 and when multiplied by
8 gives 32.

"4

Question 108: Can 8 byte long data type be % tically type cast to 4 byte float data type?

aa) True @
b) False
Answer : A \'

Explanation: Both data types hav *@rent memory representation that’s why 8-byte integral
data type can be stored to 4-b g point data type.

pM of this program?

Question 109: What i
clas
{

public static void main(String args[])
{
inta=1,b=2,c,d;
C = ++b;
d =at+;
CH+;
bt+;
++a;
System.out.printin(a+""+b+"" +c);
}
}
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a)324

b)323

c)234

d)344

Answer : D

Explanation: None.

Question 110: Which of these is not a bitwise operator?

a) &

b) &=

c) |-

d) <=
Answer : D @
Explanation: <= is a relational operator. Vo

)

Question 111: Which operator is used to invert all the digits Wary representation of a

numberZ) - 0‘\

b) <<<
c) >>>
d)~
Answer : A
Explanation: Unary not operator, ~ mvekt&he bits of its operand in binary representation.
Question 112: What is the output o ogram’?
class bitwise ope
publlc staj @ﬂam String args|[])
‘Qﬁ‘_”
in =~vart;
System.out.print(var1 +" " + var2);
}
}
a) 42 42
b) 43 43
c) 42 -43
d) 42 43
Answer : C

Explanation: Unary not operator, ~, inverts all of the bits of its operand. 42 in binary is 00101010
in using ~ operator on varl and assigning it to var2 we get inverted value of 42 i:e 11010101
which is -43 in decimal.
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Question 113: What is the output of this program?
class bitwise_operator

{

public static void main(String args[])
{
inta=3;
intb =6;
intc=a|b;
intd=a &b;
System.out.printin(c +"" +d);
}

} ,

c)75

a)72

b) 77 6@
d)52 < ’
Answer : A

bit of the two operands in 1.

Explanation: And operator produces 1 bit if both operan@. Or operator produces 1 bit if any

Question 114: What is the output of this progra@"
class leftshift_operator

{
public static void malk@gsﬂ
{

byte x = 64;
inti;

byte y;
=X

(x<<2)
.out.print(i +

+y);
}
}

a) 0 64

b) 64 0

c) 0 256

d) 256 0
Answer : D
Explanation: None.
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Question 115: What is the output of this program?
class rightshift_operator

{
public static void main(String args[])
{
int x;
x =10;
X=x>>1;
System.out.printin(x);
}
}
a) 10
b) 5
c) 2
d) 20 6

Answer : B < ,
Explanation: Right shift operator, >>, devides the value b

Question 116: What is the output of this program? 6
class Output

{ \"
public static void main(String @
{

inta=1; @

inth=2; {\'

intc=3;
al=4;

b >>= 1; a
<D
g:n.out.println(a +""+b+""+);

}
}

a)316
b)223
c)234
d)336
Answer : A
Explanation: None.
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Question 117: What is the output of relational operators?
a) Integer
b) Boolean
c) Characters
d) Double
Answer : B
Explanation: None.

Question 118: Which of these is returned by “greater than”, “less than” and “equal to”

operators?
a) Integers
b) Floating — point numbers
c) Boolean @
d) None of the mentioned

Answer : C 6
Explanation: Explanation: All relational operators return a bor‘ean yalue ie. true and false.

Question 119: Which of the following operators can orés&on a boolean variable?
1. &&

2: 2 Q’\'
4=

2)38&2 @e
o584 &

d)1,2&3

Answer : D
Explanation: Operator Shor; @t AND, &&, equal to, ==, ternary if-then-else, ?:, are boolean
logical operators. += is tic operator it can operate only on numeric values.

Question 120: Which

a)!

b) |

C) &

d) &&
Answer : D
Explanation: Operator short circuit and, &&, and short circuit or, ||, skip evaluating right hand
operand when output can be determined by left operand alone.

hese operators can skip evaluating right hand operand?
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Question 121: Which of these statements is correct?

a) true and false are numeric values 1 and 0

b) true and false are numeric values 0 and 1

c) true is any non zero value and false is 0

d) true and false are non numeric values
Answer : D

Explanation: True and false are keywords, they are non numeric values which do not relate to

Zero or non zero numbers. true and false are boolean values.

Question 122: What is the output of this program?
class Relational_operator

{
public static void main(String args[])
{ <

int var1 = 5, var2=6;
System.out.print(var1 > var2); < )

}
} &
a)l
b) 0
o Ny
alse @

Answer : D
Explanation: Operator > returns a boole@e. 5 is not greater than 6 therefore false is

returned. ’(\'A

Question 123: What is the ouprgdt@J¥his program?

class bool_opé %
¥
pL@ oid main(String args])
{

boolean a = true;
boolean b = ltrue;
booleanc=a | b;
booleand =a &b;
booleane=d ?b:¢;
System.out.printin(d +

}
}

+e);

a) false false
b) true ture
c) true false
d) false true
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Answer : D

Explanation: Operator | returns true if any one operand is true, thus ‘c = true | false’ is true.
Operator & returns a true if both of the operand is true thus d is false. Ternary operator ?: assigns
left of “:” if condition is true and right hand of *:* if condition is false. d is false thuse=d ? b : c,
assigns c to e, e contains true.

Question 124: What is the output of this program?
class ternary_operator

{

public static void main(String args[])

{

intx=3, z
inty=~x;
Z=X>y?X:y; 6

System.out.print(z);

} | @
}

20 D
c)3

¥ Q
Answer : @

Explanation: None.

Question 125: What is the output 0 ogram?
cIass Output

publlc statlc@ﬂam String args|])

=1,
| 10 && x / 0==0)
ystem.out.println(y);
else
System.out.printin(++y);
}
}
a)l
b) 2

c) Runtime error owing to division by zero in if condition

d) Unpredictable behavior of program
Answer : B
Explanation: Operator short circuit and, &&, skips evaluating right hand operand if left hand
operand is false thus division by zero in if condition does not give an error.
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Question 126: What is the output of this program?
class Output

{
public static void main(String args[])
{
boolean a = true;
boolean b = false;
booleanc=a b;
System.out.printin(!c);
}
} ,
a)0
b) 1 %
c) false 6
d) true < ’
Answer : C
Explanation: None. s\

Qv

3)) 0
++
c)* @

Q) >> (Q
Answer : A \'

Explanation: Order of precede

Question 127: Which of these have highest precedi%ce?

ighest to lowest) a->b -> ¢ ->d.

Question 128: What shou

expreggion'\

xpression2 : expression3

ressionl evaluate to in using ternary operator as in this line?

a) IntegeN/

b) Floating — point numbers

c) Boolean

d) None of the mentioned
Answer : C

Explanation: The controlling condition of ternary operator must evaluate to boolean.
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Question 129: What is the value stored in x in following lines of code?
intx,y, z;
x=0;
y=1
X=y=z= 8’

a)0
b) 1
c)9
d) 8
Answer : D

Explanation: None. »

Question 130: What is the order of precedence (highest to lowest) #7f Ing operators?
1.&

2.1 ( '
3.7

a)l->2->3 0‘\

b)2->1->3
c)3->2->1

d)y2->3->1 Q\'
Answer : A @

Explanation: None.

Question 131: Which of these st ts are incorrect?
a) Equal to opera east precedence
b) Brackets () ghest precedence

c) Divisiog.o O/, has higher precedence than multiplication operator
d) Add ator, +, and subtraction operator have equal precedence

Explanation: Division operator, /, has equal precedence as of multiplication operator. In

Answer : C

expression involving multiplication and division evaluation of expression will begin from the

right side when no brackets are used.
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Question 132: What is the output of this program?
class operators

{

public static void main(String args[])
{
intvarl =5;
intvar2 = 6;
int var3;
var3 = ++ var2 *var1 / var2 + var;
System.out.print(var3);

}

} ,

c) 12
d) 56 < ’
Answer : C

Explanation: Operator ++ has the highest precedence th@s\ and +. var2 is incremented to 7
and then used in expression, var3=7*5/7 + 7, gi

a) 10
b) 11 6%

Question 133: What is the output of this pro Q
class operators

{

publlc static void ma &' args[])

intx=8;

System oa@ n(++x*3+""

a) 24 80

b) 24 9

c) 278

d) 279
Answer : D

Explanation: Operator ++ has higher precedence than multiplication operator, *, x is incremented
to 9 than multiplied with 3 giving 27.
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Question 134: What is the output of this program?
class Output

{

public static void main(String args|[])

{
int x=y=2=20;
}
}

a) compile and runs fine
b) 20

C) run time error

d) compile time error

Answer : D @
Explanation: None. G‘

o

Question 135: Which of these lines of code will give better p&forrgance?
1. ald4+c>b&7,;

2. al|(((4%c)>>b)&7)) Q
a) 1 will give better performance as it Qgs N&pérentheses
b) 2 will give better performance as | arentheses

c) Both 1 & 2 will give equal perfoiqanee
d) Dependent on the computer s@

reduce ambiguity does not negati ect your system.

Answer : C §
Explanation: Parentheses do not % e performance of the program. Adding parentheses to

Question 136: What is th of this program?
class Q
{
pmatic void main(String argsl[])

{
inta,b,c,d;
a=b=c=d=20;
a+=b-=c*=d/=20;
System.out.printin(a+" "+b+" "+c+" "+d);

}
}

a) compile time error
b) runtime error
¢) a=20 b=0 c=20 d=1
d) none of the mentioned
Answer : C
Explanation: Expression will evaluate from right to left.
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Control Statements
Question 137: Which of these selection statements test only for equality?
a) if
b) switch
c) if & switch
d) none of the mentioned

Answer : B

Explanation: Switch statements checks for equality between the controlling variable and its
constant cases.

o

p.
Question 138: Which of these are selection statements in Java?

a) if()
b) for() < “O'
C) continue s\

d) break
Answer : A \O

Explanation: Continue and break are jump sta ts; and for is a looping statement.

Question 139: Which of the following |
controlling the loop is initially false?
a) do-while

b) while (b"

c) for

d) none of th ned
Answer : A Q

Question 140: Which of these jump statements can skip processing the remainder of the code in
its body for a particular iteration?

a) break

b) return

C) exit

d) continue
Answer : D

ill execute the body of loop even when condition

Explanation: None.

Explanation: None.
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Question 141: Which of this statement is incorrect?

a) switch statement is more efficient than a set of nested ifs
b) two case constants in the same switch can have identical values
c) switch statement can only test for equality, whereas if statement can evaluate any
type of boolean expression
d) it is possible to create a nested switch statements
Answer : B

Explanation: No two case constants in the same switch can have identical values.

Question 142: What is the output of this program?
class selection_statements
{
public static void main(String args]])
{
intvar1 = 5; C}
int var2 = 6;
i ((var2 = 1) == vart) :s\

System.out.print(var2);
else

System.out.print(++var2); Q\'
} <

1
o @
5 >
Q

Explanation: var2 is@@ to 1. The conditional statement returns false and the else part gets
executed.

Answer : B

Question 143: What is the output of this program?
class comma_operator

{

public static void main(String args[])
{
int sum =0;
for (inti=0,j=0;i<5&j<5;++,j=i+1)
sum +=i;
System.out.printin(sum);

Prepared By : Mr. M.Islabudeen, Associate Professor, CSE, SAEC, Ramanathapuram 47




SYED AMMAL ENGINEERING COLLEGE

RAMANATHAPURAM

Department of Computer Science and Engineering < Tg{}/'

(Accreditated by NBA)

JAVA PROGRAMMING
a)5
b) 6
c)14
d) compilation error
Answer : B

Explanation: Using comma operator, we can include more than one statement in the initialization
and iteration portion of the for loop. Therefore both ++i and j =i + 1 is executed i gets the value
-0,1,2,3,4 & j gets the values -0,1,2,3,4,5.

Question 144: What is the output of this program?
class jump_statments
{
public static void main(String args[])
{
intx=2; < ,
inty=0;
for (1y <10; ++y) X
{ O
if (y % x==0)
continue; Q\'
else if (y == 8)
break; @

else
System.out.

}} ‘2}’
a)1357 &
b)246@

c)135
d)123456789

Answer : C

Explanation: Whenever y is divisible by x remainder body of loop is skipped by continue
statement, therefore if condition y == 8 is never true as when y is 8, remainder body of loop is

skipped by continue statements of first if. Control comes to print statement only in cases when y
is odd.
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Question 145: What is the output of this program?
class Output

{
public static void main(String args|[])
final int a=10,b=20;
while(a<b)
System.out.printin("Hello");
}
System.out.printin("World");
}
} Py

¢) Hello world
d) compile time error < ’
Answer : D s\

Explanation: Every final variable is compile time constf@
X\
Question 146: What is the output of this prograr@'

class Output
| <

public static void main(Stri )

i X
inta =5, b=10; &
(o

a) Hello
b) run time error 6

first:

break second:;

}

System.out.printin(a);

}
System.out.printin(b);

}
}

}
a)510
b) 105
c)5
d) 10
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Answer : D

Explanation: b >> 1 in if returns 5 which is equal to a i:e 5, therefore body of if is executed and
block second is exited. Control goes to end of the block second executing the last print statement,

printing 10.
Question 147: What would be the output of the following codesnippet if variable a=10?
if(a<=0)
{
if(a==0)

{
System.out.printin("1");

} @
else
{
System.out.printin("2 "); 6

| @

}

System.out.printin("3 ");

a) 12 é‘

013 é&
d)3 @

Qet, control would not go inside if statement and

Answer : D

Explanation: Since the first if conditi

hence only statement after the entj ck will be executed.
¢
Question 148: The while Ioo eats a set of code while the condition is not met?
a) True (/

b) Fals
Answer : B

Explanation: While loop repeats a set of code only until the condition is met.

Question 149: What is true about a break?
a) Break stops the execution of entire program
b) Break halts the execution and forces the control out of the loop
c) Break forces the control out of the loop and starts the execution of next iteration
d) Break halts the execution of the loop for certain time frame
Answer : B

Explanation: Break halts the execution and forces the control out of the loop.
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Question 150: What is true about do statement?
a) do statement executes the code of a loop at least once
b) do statement does not get execute if condition is not matched in the first iteration
¢) do statement checks the condition at the beginning of the loop
d) do statement executes the code more than once always
Answer : A

Explanation: Do statement checks the condition at the end of the loop. Hence, code gets executed
at least once.

Question 151: Which of the following is used with the switch statement?

a) Continue

b) Exit @

c) break

d) do 6
Answer : C { ,

Explanation: Break is used with a switch statement to shj s&trol out of switch.

Question 152: What is the valid data type for Varia&‘;a” to print “Hello World”?
switch(a)

{
System.out.printin("Hello W,

}
a) int and float
b) byte and short &

c) char and long
d) byte and ch Q
Answer : D é

Explanation: The sw@ndition would only meet if variable “a” is of type byte or char.

Question 153: Which of the following is not a decision making statement?
a) if
b) if-else
c) switch
d) do-while
Answer : D

Explanation: do-while is an iteration statement. Others are decision making statements.
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Question 154: Which of the following is not a valid jump statement?
a) break
b) goto
C) continue
d) return
Answer : B

Explanation: break, continue and return transfer control to another part of the program and
returns back to caller after execution. However, goto is marked as not used in Java.

Question 155: From where break statement causes an exit?

a) Only from innermost loop
b) Terminates a program
c) Only from innermost switch 6

d) From innermost loops or switches C}

Answer : D

Explanation: The break statement causes an exit from in st loop or switch.

Question 156: Which of the following is not a v%w control statement?
a) exit()

b) break
C) continue @Q
d) return

Answer : A &\'

Explanation: exit() is not a f}& | statement in Java. exit() terminates the currently running

JVM.
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Concepts of OOPs

Question 157: Which of the following is not OOPS concept in Java?
a) Inheritance
b) Encapsulation
c) Polymorphism
d) Compilation
Answer : D

Explanation: There are 4 OOPS concepts in Java. Inheritance, Encapsulation, Polymorphism and
Abstraction.

Question 158: Which of the following is a type of polymorphism in JQ?,/

a) Compile time polymorphism
b) Execution time polymorphism 6
c) Multiple polymorphism
d) Multilevel polymorphism
Answer : A \

(overloading) and runtime polymorphism (overrig#

Explanation: There are two types of polymorphism§ Ja@Compile time polymorphism

Question 159: When does method overloaﬂ@determined?
a) At run time Q
b) At compile time
¢) At coding time \'

d) At execution tim
Answer : B

Explanation: Overlo termined at compile time. Hence, it is also known as compile time
polymorphism.

Question 160: When Overloading does not occur?
a) More than one method with same name but different method signature and different
number or type of parameters
b) More than one method with same name, same signature but different number of signature
c) More than one method with same name, same signature, same number of parameters but
different type
d) More than one method with same name, same number of parameters and type but
different signature

Answer : D

Explanation: Overloading occurs when more than one method with same name but different
constructor and also when same signature but different number of parameters and/or parameter type.
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Question 161: Which concept of Java is a way of converting real world objects in terms of
class?

a) Polymorphism

b) Encapsulation

¢) Abstraction

d) Inheritance
Answer : C
Explanation: Abstraction is the concept of defining real world objects in terms of classes or
interfaces.

p 3

Question 162: Which concept of Java is achieved by combining meth@d attribute into a

class?
a) Encapsulation
b) Inheritance C}

c¢) Polymorphism
d) Abstraction
Answer : A

Explanation: Encapsulation is implemented by comMping methods and attribute into a class. The
class acts like a container of encapsulating prop

Question 163: What is it called where chil b gets killed if parent object is killed?

a) Aggregation

b) Composition ,&\'

¢) Encapsulation

d) Association
Answer : A Q

Explanation: Compogtioyotcurs when child object gets killed if parent object gets killed.
N/

Question 164: Method overriding is combination of inheritance and polymorphism?

a) True
b) false
Answer : A

Explanation: In order for method overriding, method with same signature in both superclass and
subclass is required with same signature. That satisfies both concepts inheritance and
polymorphism.
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JDK-JRE-JIT-JVM

Question 165: Which component is used to compile, debug and execute java program?

a) JVM
b) IDK
c)JIT
d) JRE
Answer : B

Explanation: JDK is a core component of Java Environment and provides all the tools,
executables and binaries required to compile, debug and execute a Java Program.

Question 166: Which component is responsible for converting byteco %ipto machine specific
code?

a) VM

”~
b) JDK C;O
e &

Answer : A O

Explanation: JVM is responsible to converting b to the machine specific code. JVM is
also platform dependent and provides core jav, trons like garbage collection, memory
management, security etc.

Question 167: Which component is 1, stole to run java program?

a) VM
b) JDK

c) JIT Q(b’
d) JRE Q)

Answer : D Q
Explanation: JRE is the Tmplementation of JVM, it provides platform to execute java programs

Question 168: Which component is responsible to optimize bytecode to machine code?

a) JVM
b) IDK
c)JIT
d) JRE
Answer : C

Explanation: JIT optimizes bytecode to machine specific language code by compiling similar
bytecodes at the same time. This reduces overall time taken for compilation of bytecode to
machine specific language.

Prepared By : Mr. M.Islabudeen, Associate Professor, CSE, SAEC, Ramanathapuram

55




SYED AMMAL ENGINEERING COLLEGE

RAMANATHAPURAM

Department of Computer Science and Engineering < Tg{}/’

(Accreditated by NBA)

JAVA PROGRAMMING

Question 169: Which statement is true about java?
a) Platform independent programming language
b) Platform dependent programming language
c¢) Code dependent programming language
d) Sequence dependent programming language
Answer : A

Explanation: Java is called ‘Platform Independent Language’ as it primarily works on the
principle of ‘compile once, run everywhere’.

Question 170: Which of the below is invalid identifier with the main method?

a) public

b) static @

C) private

d) final 6
Answer : C { ,

Explanation: main method cannot be private as it is invo external method. Other identifier
are valid with main method.

Question 171: What is the extension of java co 4
a) .class @
b) .java @
C) .txt
d) js {\,
Answer : B @0

Question 172: Whai§
a) .class
b) .java
C) .txt
d) .js

Answer : A

Explanation: The compiled java files have .class extension.
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Question 173: How can we identify whether a compilation unit is class or interface from a .class
file?

a) Java source file header

b) Extension of compilation unit

¢) We cannot differentiate between class and interface

d) The class or interface name should be postfixed with unit type
Answer : A

Explanation: The Java source file contains a header that declares the type of class or interface, its
visibility with respect to other classes, its name and any superclass it may extend, or interface it
implements.

p 4

Question 174: What is use of interpreter? .
a) They convert bytecode to machine language code
b) They read high level code and execute them C}

c) They are intermediated between JIT and JVM
d) It is a synonym for JIT s\

Answer : B

program. Interpreters are normally not passing thfoO™yte-code and jit compilation.

<
Q
&
R

Q@

Explanation: Explanation: Interpreters read high Ie; language (interprets it) and execute the
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Class Fundamentals & Declaring objects

Question 175: What is the stored in the object obj in following lines of code?
box obj;

a) Memory address of allocated memory of object
b) NULL
c) Any arbitrary pointer
d) Garbage
Answer : B

Explanation: Memory is allocated to an object using new operator. box obj; just declares a
reference to object, no memory is allocated to it hence it points to NULL.

Question 176: Which of these keywords is used to make a class?

a) class

b) struct ‘O
c) int
d) none of the mentioned

Answer : A O

-

Explanation: None. Q\n

Question 177: Which of the following is a)@ec aration of an object of class Box?
a) Box obj = new Box(); Q
b) Box obj = new Box;
c) obj = new Box();

d) new Box obj Qés

Answer : A

Explanation: None. QQ
Question 178: Which of these operators is used to allocate memory for an object?

a) malloc

b) alloc

C) new

d) give
Answer : C

Explanation: Operator new dynamically allocates memory for an object and returns a reference
to it. This reference is address in memory of the object allocated by new.
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Question 179: Which of these statement is incorrect?

a) Every class must contain a main() method
b) Applets do not require a main() method at all
c) There can be only one main() method in a program
d) main() method must be made public
Answer : A

E Explanation: Every class does not need to have a main() method, there can be only one main()
method which is made public.

Question 180: What is the output of this program?

class main_class
{
public static void main(String args]]) 6

{ C
intx=9;
if (x==19)
( X
intx =8; O
System.out.printin(x);

B

a) }9 @
b) 8
C)) Compilation erroré\'

d) Runtime error

Answer : C Q

Explanation: Two V ith the same name can’t be created in a class.

Question 181: Which of the following statements is correct?

a) Public method is accessible to all other classes in the hierarchy

b) Public method is accessible only to subclasses of its parent class

¢) Public method can only be called by object of its class

d) Public method can be accessed by calling object of the public class
Answer : A

Explanation: None.
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Question 182: What is the output of this program?
class box

{
int width;
int height;
int length;
}

class mainclass

{

public static void main(String args[])

{

box obj = new box();

obj.width = 10;
obj.height = 2;
obj.length = 10; 6

inty = obj.width * obj.height * obj.length;

System.out.print(y);
}

&

b) 200

) 400 .

d) 100 Q
Answer : B @
Explanation: None. (Q

&

Question 183: What is the outpu%'s program?
class box Q
{
int wigth: @
int @
int leNgth

}

class mainclass

{

public static void main(String argsf[])
{
box obj1 = new box();
box obj2 = new box();
obj1.height = 1;
obj1.length = 2;
obj1.width = 1;
obj2 = obj1;
System.out.printin(obj2.height);
}
}
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a)l

b) 2

¢) Runtime error

d) Garbage value
Answer : A

Explanation: When we assign an object to another object of same type, all the elements of right
side object gets copied to object on left side of equal to, =, operator.

Question 184: What is the output of this program?
class box

{
int width;
int height; 6

int length;

class mainclass s\C}

{
public static void main(String args]]) O
{
box obj = new box(); Q\'
System.out.printin(obj);
) <
) .@
a)0
b) 1 {\'
c) Runtime error @'

d) classname@ e in hexadecimal form
Answer : D @

Explanation: When t object internally toString() will be called to return string into this
format classname@hashcode in hexadecimal form.
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Introduction to Methods

Question 185: What is the return type of a method that does not return any value?

a) int

b) float

¢) void

d) double
Answer : C

Explanation: Return type of an method must be made void if it is not returning any value.

Question 186: What is the process of defining more than one method in a class differentiated by

method signature? P
a) Function overriding
b) Function overloading 6
¢) Function doubling
d) None of the mentioned

Answer : B \

Explanation: Function overloading is a process of dggr; ore than one method in a class with
same name differentiated by function signature i; type or parameters type and number.
Example — int volume(int length, int width) & me(int length , int width , int height) can
be used to calculate volume.

Question 187: Which of the followi method having same name as that of it’s class?

a) finalize
b) delete

c) class Qa
d) constructo@

Answer : D Q
Explanation: A constructor is a method that initializes an object immediately upon creation. It
has the same name as that of class in which it resides.

Question 188: Which method can be defined only once in a program?

a) main method

b) finalize method

¢) static method

d) private method
Answer : A

Explanation: main() method can be defined only once in a program. Program execution begins
from the main() method by java runtime system.
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Question 189: Which of this statement is incorrect?

a) All object of a class are allotted memory for the all the variables defined in the

class

b) If a function is defined public it can be accessed by object of other class by

inheritation

¢) main() method must be made public

d) All object of a class are allotted memory for the methods defined in the class
Answer : D

Explanation: All object of class share a single copy of methods defined in a class, Methods are
allotted memory only once. All the objects of the class have access to methods of that class are

allotted memory only for the variables not for the methods. »
Question 190: What is the output of this program? %A
class box
{ @
int width, height, length, volume;
void volume(int height, int length, int width) &
{

volume = width*height*length;

) N\
) QQ

class Prameterized_method

{
public static void main(% anys|])

{ &
box obj = new %
obj.height =

obj.lengtheg

oo

.«@ 03,2,1);
SysWgf.out.printin(obj.volume);

}
}

a)0
b) 1
c)6
d) 25

Answer : C

Explanation: None.
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Question 191: What is the output of this program?
class equality

{
int x;
inty;
boolean isequal()
{
return(x ==y);
}
}

class Output

{
public static void main(String args])
| S

equality obj = new equality();

obj.x =5; < )
obj.y =5;

System.out.printin(obj.isequal()); s\

}
}

g)) false Q’\'
true
<

c)0
d)1 \'®
Answer : B \
(o

Explanation: None.

]
Question 192: Whaig put of this program?
class b
{
int width;
int height;
int length;
int volume;
void volume()
{
volume = width*height*length;
}
}
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class Output
{
public static void main(String args[])
{
box obj = new box();
obj.height = 1;
obj.length = 5;
obj.width = 5;
obj.volume();
System.out.printin(obj.volume);
}
} ,
a)0
b) 1
c) 25 6

d) 26 < ’
Answer : C

Explanation: None.

S

X\
Question 193: What is the output of this prograr@'

class area @

int width;
int length; \'

int volume;

?reé() _ 0&
;/:dth—@
zlo&e()

{
volume = width*length*height;
}
}

class cons_method

{

public static void main(String args[])
{
area obj = new area();
obj.volume();
System.out.printin(obj.volume);

}
}
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a)0
b) 1
c) 30
d) error
Answer : D
Explanation: Variable height is not defined.

e —
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Constructors & Garbage Collection

Question 194: What is the return type of Constructors?

a) int

b) float

¢) void

d) none of the mentioned
Answer : D

Explanation: Constructors does not have any return type, not even void.

Question 195: Which keyword is used by the method to refer to the object that invoked it?

a) import

b) catch

c) abstract 6
d) this < )

Answer : D
Explanation: this keyword can be used inside any meth@fer to the current object. this is
always a reference to the object on which the methog waS¥fivoked.

Q

Question 196: Which of the following is a)@!i having same name as that of its class?
a) finalize

b) delete {\'Q

c) class

d) constructor @v

o4 method that initializes an object immediately upon creation. It
bf class in which it resides.

Answer : D

Explanation: A consiydC
has the same name as\g

Question 197: Which operator is used by Java run time implementations to free the memory of
an object when it is no longer needed?

a) delete

b) free

C) new

d) none of the mentioned
Answer : D

Explanation: Java handles deallocation of memory automatically, we do not need to explicitly
delete an element. Garbage collection only occurs during execution of the program. When no

references to the object exist, that object is assumed to be no longer needed, and the memory

occupied by the object can be reclaimed.
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Question 198: Which function is used to perform some action when the object is to be
destroyed?

a) finalize()

b) delete()

c) main()

d) none of the mentioned
Answer : A

Explanation: None.

Question 199: What is the output of this program?
class box
{
int width;
int height; < '
int length;

int volume; s\
box() Q)
{
width = 5; Q\'
height = 5;
length = 6 @

) | (Q
v0|d volume()
volume = &: ght*Iength

clas r _output

{
public static void main(String args[])
{

box obj = new box();
obj.volume();
System.out.printin(obj.volume);

}
}

a) 100
b) 150
c) 200
d) 250
Answer : B
Explanation: None.
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Question 200: What is the output of this program?
class San

{
San()throws IOException

{}
}

class Foundry extends San

{
Foundry()

{}

public static void main(String[Jargs)

{

! G)Q/
}
a) compile time error < "'
b) run time error

c¢) compile and runs fine x
d) unreported exception java.io.IOExcepti(@ efault constructor

Answer : A \

Explanation: If parent class constructor throw Qecked exception, compulsory child class
constructor should throw the same checke ion as its parent, otherwise code won’t
compile.

g

Question 201: What is the output isprogram?
class box

{
int width; Q)Q
int pAgr
int I
int volume;

void finalize()

{
volume = width*height*length;
System.out.printin(volume);

protected void volume()
{
volume = width*height*length;
System.out.printin(volume);
}
}
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class Output

{

public static void main(String args[])
{

box obj = new box();

obj.width=5;

obj.height=5;

obj.length=6;

obj.volume();
}

}
a) 150

b) 200
¢) Run time error 6

d) Compilation error

Answer : A < '

Explanation: None. K

Question 202: Which of the following statements &% incorrect?
{%f

a) default constructor is called at thefti
b) Constructor can be parameterj
c) finalize() method is called
needed

d) finalize() method mu
Answer : C

Explanation: finalize() metho@ailed just prior to garbage collection. it is not called when
) ]

object goes out of scope and is no longer

clared protected

object goes out of scope.

Question 203: What d be expressionl evaluate to in using ternary operator as in this line?
expression1 ? expression2 : expression3
a) Integer
b) Floating — point numbers
c) Boolean
d) None of the mentioned
Answer : C

Explanation: The controlling condition of ternary operator must evaluate to boolean.
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Question 204: What is the output of this program?
class area

{
int width;
int length;
int area;
void area(int width, int length)

this.width = width;
this.length = length;
}

}
class Output 6

{
public static void main(String args[]) < )
{
area obj = new area(); s\
obj.area(5 , 6);

System.out.printin(obj.length + " " %&);

}
} o

a)00 )

b) 56 @

c)65

d)55 (\'
Answer : C @
Explanation: this keyword used inside any method to refer to the current object. this is
always a reference t yeCt on which the method was invoked.
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Constructor

Question 205: What is true about private constructor?

a) Private constructor ensures only one instance of a class exist at any point of time
b) Private constructor ensures multiple instances of a class exist at any point of time
¢) Private constructor eases the instantiation of a class
d) Private constructor allows creating objects in other classes

Answer : A

Explanation: Object of private constructor can only be created within class. Private constructor is
used in singleton pattern.

e

b) Class.getInstance is same as new operator
c) Class.getInstance needs to have matching congffuct
d) Class.getlnstance creates object if class doia e any constructor

Question 206: What is true about Class.getInstance()? P
a) Class.getInstance calls the constructor 9

Answer : D

Explanation: Class class provides list of methods fo&%@e getinstance().

Question 207: What is true about constructorjay N,

a) It can contain return type AN/

b) It can take any number @neters
c) It can have any non agégsSynodifiers
d) Constructor cann% n exception

Explanation: Constructor
variables are newly

Answer : B

new object with variables defined as in the class. Instance
only one copy of static variables are created.

Question 208: What would be the behaviour if one parameterized constructor is explicitly
defined?

a) Compilation error
b) Compilation succeeds
¢) Runtime error
d) Compilation succeeds but at the time of creating object using default constructor,
it throws compilation error
Answer : D

Explanation: The class compiles successfully. But the object creation of that class gives a
compilation error.
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Question 209: What would be behaviour if the constructor has a return type?
a) Compilation error
b) Runtime error
¢) Compilation and runs successfully
d) Only String return type is allowed
Answer : A

Explanation: The constructor cannot have a return type. It should create and return new object.
Hence it would give compilation error.

X
&o
%
&Q
@Q(b
Q
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Heap and Garbage Collection

Question 210: Which of the following has the highest memory requirement?
a) Heap
b) Stack
c) JVM
d) Class
Answer : C

Explanation: JVM is the super set which contains heap, stack, objects, pointers, etc.

Question 211: Which of the following is a garbage collection technique?
a) Cleanup model

b) Mark and sweep model
c) Space management model 6
d) Sweep model < '

Answer : B

Explanation: A mark and sweep garbage collection con@two phases, the mark phase and
the sweep phase. | mark phase all the objects reachagle bYava threads, native handles and other
root sources are marked alive and others are garb sweep phase, the heap is traversed to
find gaps between live objects and the gaps ar d free list used for allocating memory to
new objects.

en java is out of memory?

Question 212: Which exception is th

a) MemoryFullExce
b) MemoryOutOfB
¢) OutOfMemor:

d) MemoryE
Answer : C 9@

Explanation: The Xms flag has no default value, and Xmx typically has a default value of
256MB. A common use for these flags is when you encounter a java.lang.OutOfMemoryError.

Question 213: What happens to the thread when garbage collection kicks off?

a) The thread continues its operation

b) Garbage collection cannot happen until the thread is running

¢) The thread is paused while garbage collection runs

d) The thread and garbage collection do not interfere with each other
Answer : C

Explanation: The thread is paused when garbage collection runs which slows the application
performance.
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Question 214: Garbage Collection can be controlled by a program?
a) True
b) False

Answer : B

Explanation: Garbage Collection cannot be controlled by a program.
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Overloading Methods & Argument Passing

Question 215: What is the process of defining two or more methods within same class that have
same name but different parameters declaration?

a) method overloading

b) method overriding

¢) method hiding

d) none of the mentioned
Answer : A

Explanation: Two or more methods can have same name as long as their parameters declaration
is different, the methods are said to be overloaded and process is called method overloading.
Method overloading is a way by which Java implements polymorphisrg# ,

~
Question 216: Which of these can be overloaded?
a) Methods o
b) Constructors

¢) All of the mentioned s\
d) None of the mentioned O
Answer : C

Explanation: None. Q

Question 217: Which of these is correc ‘K%assing an argument by call-by-value process?

a) Copy of argument is ynto the formal parameter of the subroutine
b) Reference to origi g¥ment is passed to formal parameter of the subroutine
c) Copy of argumenééuade into the formal parameter of the subroutine and

changes made o eters of subroutine have effect on original argument

d) Reference nal argument is passed to formal parameter of the subroutine

and ch on parameters of subroutine have effect on original argument
Answer : A

Explanation: When we pass an argument by call-by-value a copy of argument is made into the
formal parameter of the subroutine and changes made on parameters of subroutine have no effect
on original argument, they remain the same.

Question 218: What is the process of defining a method in terms of itself, that is a method that
calls itself?

a) Polymorphism
b) Abstraction
¢) Encapsulation
d) Recursion
Answer : D
Explanation: None.
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Question 219: What is the output of the following code?
class San

{
public void m1 (int ifloat f)

{

System.out.printin(" int float method");
}
public void m1(float f,int i);
{

System.out.printin(*float int method");

}
public static void main(String[Jargs)
| S

San s=new San();

s.m1(20,20); < )
}

}
a) int float method

b) float int method
c) compile time error \'
d) run time error @

ethod, compiler automatically promotes if exact
one to promote is an ambiguity.

Answer : C

Explanation: While resolving overlo
match is not found. But in this cas

Question 220: What is the o this program?

class overl
{
int X;
inty;
void add(int a)
{
X=a+1;
}
void add(int a, int b)
{
X=a+2;
}
}

e —
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class Overload_methods
{
public static void main(String args[])
{
overload obj = new overload();
inta=0;
obj.add(6);
System.out.printin(obj.x);
}
}
a)5

Answer : C

b) 6
c)7
B Q§<’

Explanation: None. KC}

g

Question 221: What is the output of this program? 6
class overload

{ int x; @Q\'
inty;
void add(int a) @
{ x=a+1; &\'

zloid add(int Q@‘

{

9

class Overload_methods

{

public static void main(String args[])

{
overload obj = new overload();
inta=0;
obj.add(6, 7);
System.out.printin(obj.x);

}

}
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a)6

b) 7

c)8

d) 9

Answer : C

Explanation: None.

Question 222: What is the output of this program?
class overload

{
int x;
double y;
void add(int a, int b)
| O
x=a+b;
) \
void add(double ¢ , double d) O

{y c+d; \'

}
overload()
( (Q
this.x =0;
thls y=0; 2&\'
cIass Over@g hods

pl@tlc void main(String args[])

{

overload obj = new overload();
inta=2;
double b =3.2;
obj.add(a, a);
obj.add(b, b);
System.out.printin(obj.x + " " + obj.y);
}
}

a)66

b) 6.4 6.4
c)6.46
d)46.4

e —
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Answer : D

Explanation: For obj.add(a,a); ,the function in line number 4 gets executed and value of x is 4.
For the next function call, the function in line number 7 gets executed and value of y is 6.4.

Question 223: What is the output of this program?
class test

{
int a;
int b;

void meth(int i, int )
{

*=2; %
class Output Os\

{
public static void main(String args])
{ \,

test obj = new test();
inta=10;
intb = 20; @
obj.meth(a, b);
System.out. prl%
}

}
a) 10 20 8
b) 20 1
c) 20 4(@

d) 40 20

Answer : A

Explanation: Variables a & b are passed by value, copy of their values are made on formal
parameters of function meth() that is i & j. Therefore changes done on i & j are not reflected

back on original arguments. a & b remain 10 & 20 respectively.
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Question 224: What is the output of this program?
class test
{
int a;
int b;
test(int i, int j)
{ .
a=i
b=j;
}

void meth(test o)

{
0.a*=2;
Ob/=2; 6@

}

} @

class Output

i N
O

public static void main(String args[])

{

test obj = new test(10 , 20); Q\v

obj.meth(obj);
System.out.printin(obj.a +, '@J b);

}
}

a) 10 20
b) 20 10

c) 20 40 Q(b’
d) 40 20 Q}

Answer : B Q

Explanation: Class objeCts are always passed by reference, therefore changes done are reflected
back on original arguments. obj.meth(obj) sends object obj as parameter whose variables a & b
are multiplied and divided by 2 respectively by meth() function of class test. a & b becomes 20
& 10 respectively.
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Access Control

Question 225: Which of these access specifiers must be used for main() method?
a) private
b) public
C) protected
d) none of the mentioned
Answer : B

Explanation: main() method must be specified public as it called by Java run time system,
outside of the program. If no access specifier is used then by default member is public within its
own package & cannot be accessed by Java run time system.

2
Question 226: Which of these is used to access a member of classas&cyfect of that class is

created?
a) public 4
b) private s\

C) static
d) protected O
Answer : C

Explanation: None. Q

Question 227: What is the process by w g can control what parts of a program can access
the members of a class?

a) Polymorphism

b) Abstraction @v

c¢) Encapsulatio
d) Recursion@
Answer : C Q

Explanation: None.

Question 228: Which of the following statements are incorrect?
a) public members of class can be accessed by any code in the program
b) private members of class can only be accessed by other members of the class
c) private members of class can be inherited by a subclass, and become protected
members in subclass
d) protected members of a class can be inherited by a subclass, and become private
members of the subclass

Answer : C

Explanation: private members of a class can not be inherited by a subclass.
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Question 229: What is the output of this program?
class access
{
public int x;
private int y;
void cal(int a, int b)

{

X=a+t1;
y=b;

}
}

class access_specifier
{
public static void main(String args[]) 6

{
access obj = new access(); < )
obj.cal(2, 3);
System.out.printin(obj.x + " " + obj.y); s\
}
}

3 Q}’\‘

¢) Runtime Error
d) Compilation Error
Answer : C &\'

Explanation: None.

Question 230: What is th of this program?

class @
{
public int x;

private int y;
void cal(int a, int b)

{

X=a+1;
y=Db;
}
void print()
{ system.out.printin(" " +y);
}
}
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class access_specifier

{

public static void main(String args[])

{
access obj = new access();
obj.cal(2, 3);
System.out.printin(obj.x);
obj.print();

}

}

a)23

b) 33

¢) Runtime Error

d) Compilation Error
Answer : B 6
Explanation: None. C}

X

Question 231: What is the output of this program? 6 M
class static_out

{ static int x; @Q\'

static int y;
void add(int a, int b @
{
X=athb; &\'
clas

yx+bQ
{

public static void main(String args[])

{
static_out obj1 = new static_out();
static_out obj2 = new static_out();
inta=2;
obj1.add(a, a + 1);
obj2.add(5, a);
System.out.printin(obj1.x + " " + obj2.y);

}

}
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a)77.4
b) 6 6.4
c)79
d9ov7
Answer : B

Explanation: None.

Question 232: Which one of the following is not an access modifier?
a) Public
b) Private

c) Protected
d) Void
Answer : D cd :

Explanation: Public, private, protected and default are the accfs medifiers.

Question 233: Which of the following modifier means s&cular variable cannot be accessed
within the package? 6
a) private

b) public Q’\'

C) protected

d) default @

Answer : A @
Y

Explanation: Private variables ar le only within the class.

ctpd modifier be accessed?
hin the class

a) accessifle
b) acce -@ pnly within package
c) accessiIN@within package and outside the package but through inheritance only

d) accessible by all
Answer : C

Question 234: How can a

Explanation: The protected access modifier is accessible within package and outside the package
but only through inheritance. The protected access modifier can be used with data member,
method and constructor. It cannot be applied in the class.

Question 235: What happens if constructor of class A is made private?
a) Any class can instantiate objects of class A
b) Objects of class A can be instantiated only within the class where it is declared
¢) Inherited class can instantiate objects of class A
d) classes within the same package as class A can instantiate objects of class A
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Answer : B

Explanation: If we make any class constructor private, we cannot create the instance of that class
from outside the class.

Question 236: All the variables of interface should be?

a) default and final

b) default and static

c) public, static and final

d) protect, static and final
Answer : C

Explanation: Variables of an interface are public, static and final by d ecause the
interfaces cannot be instantiated, final ensures the value assigned changed with the

implementing class and public for it to be accessible by all the'C ting classes.
)

Question 237: What is true of final class?
a) Final class cause compilation failure
b) Final class cannot be instantiated O

c) Final class cause runtime failure
d) Final class cannot be inherited

Answer : D
Explanation: Final class cannot be inheriteg?N\ ™ helps when we do not want classes to provide

extension to these classes. \
N

Question 238: How many copie &tic and class variables are created when 10 objects are
created of a class?

a)l,10
b) 10, 10

¢) 10, 1Q®

d)1,1
Answer : A
Explanation: Only one copy of static variables are created when a class is loaded. Each object
instantiated has its own copy of instance variables.

Question 239: Which is the modifier when there is none mentioned explicitly?

a) protected

b) private

c) public

d) default
Answer : D
Explanation: Default is the access modifier when none is defined explicitly. It means the member
(method or variable) can be accessed within the same package.
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Arrays Revisited & Keyword static

Question 240: Arrays in Java are implemented as?
a) class
b) object
c) variable
d) none of the mentioned
Answer : B

Explanation: None.

Question 241: Which of these keywords is used to prevent content of a variable from being
modified? P

a) final
b) last 6
C) constant
d) static
Answer : A s\

Explanation: A variable can be declared final, doin§o pgants its content from being modified.

Final variables must be initialized when it is decl .

Question 242: Which of these cannot be dgqustatic?

a) class Q
b) object
c) variable \'

\
d) method (b"
Q

Explanation: static s @are run as soon as class containing then is loaded, prior to any
object declaration.

Answer : B

Question 243: Which of the following statements are incorrect?
a) static methods can call other static methods only
b) static methods must only access static data
c) static methods can not refer to this or super in any way
d) when object of class is declared, each object contains its own copy of static
variables
Answer : D

Explanation: All objects of class share same static variable, when object of a class are declared,
all the objects share same copy of static members, no copy of static variables are made.
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Question 244: Which of the following statements are incorrect?

a) Variables declared as final occupy memory
b) final variable must be initialized at the time of declaration
c) Arrays in java are implemented as an object
d) All arrays contain an attribute-length which contains the number of elements
stored in the array
Answer : A

Explanation: None.

Question 245: Which of these methods must be made static?

a) main()

b) delete() @

c) run()

d) finalize() 6
Answer : A { ,

Explanation: main() method must be declared static, mai ethod is called by Java runtime
system before any object of any class exists.

Question 246: What is the output of this prograr@"
class access

{
public int x; @
static int y;
void cal(int a, int b) &\'

y+=b;
} } QD
class staQecifier

{

public static void main(String args(])
{
access obj1 = new access();
access obj2 = new access();
obj1.x=0;
obj1.y=0;
obj1.cal(1, 2);
obj2x=0;
obj2.cal(2, 3);
System.out.printin(obj1.x + " " + obj2.y);
}
}
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a)l2
b)23
c)32
d15
Answer : D

Explanation: None.

Question 247: What is the output of this program?
class access

{
static int x;
void increment() @
| 9
X+

} QO
}I tati $\
class static_use O

{
public static void main(String args])
{ bj1 () \
access obj1 = new access ;@

access 0bj2 = new accespi
obj1.x=0;
obj1.increment();

obj2.increment(),
System.out.pri 11.x+"" + 0bj2.x);
}

}

a)l2

b)11

c)22

d) Compilation Error
Answer : C

Explanation: All objects of class share same static variable, all the objects share same copy of
static members, obj1.x and obj2.x refer to same element of class which has been incremented
twice and its value is 2.
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Question 248: What is the output of this program?
class static_out

{

static int x;
static int y;
void add(int a, int b)
{
X=a+hb;
y=x+Db;
}
}

class static_use
{
public static void main(String args[])
{ C‘O
static_out obj1 = new static_out();
static_out obj2 = new static_out();
inta=2; s\
obj1.add(a, a + 1); O

0bj2.add(5, a);
System.out.printin(obj1.x + " " +
}

} »&
a)77

b) 66 \'Q
e N

Answer : C (b’

Explanation: None. Q
Question 249: What is the output of this program?

class Output

{

public static void main(String args[])

{
intarr] ={1, 2, 3, 4, 5};
for (inti=0;i<arr.length - 2; ++i)
System.out.printin(arr|i] + " ");
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a)l2
b)123
c)1234
d)12345
Answer : B

Explanation: arr.length() is 5, so the loop is executed for three times.

Question 250: What is the output of this program?
class Output

{

public static void main(String args[])
{
inta1[] = new int[10];
inta2[] ={1, 2, 3, 4, 5};
System.out.printin(al.length + " " + a2.|ength);< )

}
} S
a)105

o1 é\
d)05 @

Answer : A @

Explanation: Arrays in java are impl d as objects, they contain an attribute that is length
which contains the number of ele that can be stored in the array. Hence al.length gives 10
and a2.length gives 5.

c) variable
d) character array
Answer : A

Explanation: None.

Question 252: Which method of String class is used to obtain character at specified index?

a) char()

b) Charat()
c) charat()
d) charAt()
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Answer : D

Explanation: None.

Question 253: Which keyword is used to refer to member of base class from a subclass?

a) upper

b) super

c) this

d) none of the mentioned
Answer : B

Explanation: Whenever a subclass needs to refer to its immediate superghass, it can do so by use

of the keyword super.

a) isequal()
b) isequals()

c) equal()
d) equals() O

Answer : D Q\'

Question 254: Which method of String class can be used to te@@s for equality?

Explanation: None. @

Question 255: Which of the followin tdpents are incorrect?
a) String is a class &b

b) Strings in java ar

c) Every string is, ct of class String
d) Java define Q class of String, called StringBuffer, which allows string to be

altered
Answer : B Q

Explanation: Strings in Java are immutable that is they can not be modified.

Question 256: What is the output of this program?
class string_demo

{

public static void main(String args[])
{
String obj ="I" + "like" + "Java";
System.out.printin(obj);
}
}
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a) l
b) like
c) Java
d) llikeJava

Answer : D

Explanation: Java defines an operator +, it is used to concatenate strings.

Question 257: What is the output of this program?
class string_class

{

public static void main(String args]])

{
String obj = "I LIKE JAVA"; 6

System.out.printin(obj.charAt(3));
) @,
}
a) l
b) L 0\
c) K

A A E ’Q\'
nswer :
)

Explanation: charAt() is a method of cla@g which gives the character specified by the
index. obj.charAt(3) gives 4th characg®&\i™»l

class string_cl
{
p oid main(String args])
{
String obj = "I LIKE JAVA";
System.out.printin(obj.length());
}
}
a)9
b) 10
c) 11
d) 12

Question 258: What is the out?:%is program?

Answer : C

Explanation: None.
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Question 259: What is the output of this program?
class string_class

{

public static void main(String args[])
{
String obj = "hello”;
String obj1 = "world";
String obj2 = obj;
obj2 =" world";
System.out.printin(obj + " " + obj2);
}

} ,

a) hello hello

b) world world

c) hello world 6

d) world hello < ’
Answer : C

Explanation: None.

Question 260: What is the output of this prograr@'
class string_class

{
public static void mak&@gs{]
Strlng obj = %
String obj1 =
String ob ello";

Syste@ ntin(obj.equals(obj1) + " " + obj.equals(obj2));

}

a) false false

b) true true

c) true false

d) false true
Answer : D

Explanation: equals() is method of class String, it is used to check equality of two String objects,
if they are equal, true is retuned else false.

e —
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Methods Taking Parameters

Question 261: What is the process of defining more than one method in a class differentiated by
parameters?

a) Function overriding

b) Function overloading

¢) Function doubling

d) None of the mentioned

Answer : B

Explanation: Function overloading is a process of defining more than one method in a class with
same name differentiated by function signature i:e return type or paramteys type and number.
Example — int volume(int length, int width) & int volume(int lengthmi ighh | int height) can
be used to calculate volume. &

e

Question 262: Which of the following can be used to diffgren 0 or more methods having
the same name?

a) Parameters data type

b) Number of parameters

¢) Return type of method \v
d) All of the mentioned @Q

Answer : D @
X

Explanation: None. (

Question 263: Which statem Yicorrect?
a) Two or m(@ ods with same name can be differentiated on the basis of their
parame pe
b) Two e method having same name can be differentiated on basis of number
of parameters
c¢) Any already defined method in java library can be defined again in the program
with different data type of parameters
d) If a method is returning a value the calling statement must have a variable to
store that value

Answer : D

Explanation: Even if a method is returning a value, it is not necessary to store that value.
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Question 264: What is the output of this program?
class box
{
int width;
int height;
int length;
int volume;
void volume(int height, int length, int width)

{
}

}
class Prameterized_method{
public static void main(String args[])
| <

volume = width * height * length;

box obj = new box();

obj.height = 1;

obj.length = 5;

obj.width = 5; Q\
obj.volume(3, 2, 1); O

System.out.printin(obj.volume);

}
}
a)0

T @‘?’Q
d) 25 \
>

Explanation: None.

Answer : C

)]
Question 265: Wha put of this program?

class Ity
{
int x;
inty;
boolean isequal()
{
return(x ==y);
}
}
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class Output

{

public static void main(String args])

{
equality obj = new equality();
obj.x =5;
obj.y =5;
System.out.printin(obj.isequal);

}

}

a) false

b) true

c)0

d)1
Answer : B 6
Explanation: None. C}

Question 266: What is the output of this program? 6 M
class box
{
int width;
int height;

int length; @
int volume; \'

v0|d volume()
vqume wi t length;
v0|d volum
}
!

class Output

{

public static void main(String args[])
{
box obj = new box();
obj.height = 1;
obj.length = 5;
obj.width = 5;
obj.volume(5);
System.out.printin(obj.volume);
}
}

e —
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a)0
b) 5
c) 25
d) 26
Answer : B

Explanation: None.

Question 267: What is the output of this program?
class Output

{

static void main(String args[])

{ @
intx,y=1;
x=10; 6
if(x =10 &&x /0 ==0)
System.out.printin(y);
else &
System.out.printin(++y);
) O
} é
a)l
b) 2 @
¢) Runtime Error
d) Compilation Error @
Answer : D Q

Explanation: main() method mus e public. Without main() being public java run time
system will not be able to acce ) and will not be able to execute the code.

Question 268: What is
class

of this program?

int width;
int length;
int height;
area()
{
width = 5;
length = 6;
height = 1;
}
void volume()
{
volume = width * height * length;

}

}
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class cons_method

public static void main(String args[])

{

area obj = new area();
obj.volume();
System.out.printin(obj.volume);

}
}
a)0
b) 1
c) 25

d) 30
Answer : D @

Explanation: None.
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Command Line Arguments

Question 269: Which of this method is given parameter via command line arguments?

a) main()

b) recursive() method

¢) Any method

d) System defined methods
Answer : A

Explanation: Only main() method can be given parameters via using command line arguments.

Question 270: Which data types is used to store command line arguments?

a) Array

b) Stack
¢) String 6
d) Integer < )

Answer : C s\
Explanation: None. 0

Question 271: How many arguments can be pas@main()?

a) Infinite

b) Only 1 @
c) System Dependent @
d) None of the mention

Answer : A

Explanation: None. Qa
(/

Question 272: Whi »fect statement about args in this line of code?
public S\tig'void main(String args[])

a) args is a String

b) args is a Character

c) args is an array of String

d) args in an array of Character
Answer : C

Explanation: args in an array of String.
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Question 273: What is the output of this program, Command line execution is done as — “java
Output This is a command Line”?
class Output

{

public static void main(String args[])

{
System.out.print("args[0]");

}
}

a) java
b) Output

c) This
d) is
Answer : C 6

Explanation: None. < 1

Question 274: What is the output of this program, Com line exceution is done as — “java
Output This is a command Line”?
class Output

{ Q
public static void main Stnn@

{
System.out.print a@
S

a) Java

b) is Q
c) This @

d) com
Answer : D

Explanation: None.

Question 275: What is the output of this program, Command line execution is done as — “java
Output This is a command Line”?
class Output

{

public static void main(String args[])

{

System.out.print("args");
}
}
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a) This
b) java Output This is a command Line
¢) This is a command Line
d) Compilation Error
Answer : C

Explanation: None.

Question 276: Which of these access specifiers must be used for main() method?

a) private

b) public

C) protected

d) none of the mentioned @
Answer : B
Explanation: main() method must be specified public as it call§d byglava run time system,
outside of the program. If no access specifier is used then gy d member is public within its

own package & cannot be accessed by Java run time sysiagM

ag

Question 277: What would be the output of the foI%ing snippet, if attempted to compile and

run this code with command line argument “javagb®Rakesh Sharma”?

public class abc
{ <

int a=2000;
public static void maMQtMmg argv(])
{
System.ou rgv[1]+" :-Please pay Rs."+a);

c) Rakesh :-Please pay Rs.2000
d) Sharma :-Please pay Rs.2000
Answer : A

Explanation: Main method is static and cannot access non static variable a
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Question 278: What would be the output of following snippet, if attempted to compile and
execute?
class abc

{

public static void main(String args[])

{
if(args.length>0)
System.out.printin(args.length);
}

}

a) The snippet compiles, runs and prints 0

b) The snippet compiles, runs and prints 1

¢) The snippet does not compile

d) The snippet compiles and runs but does not print a@

Answer : D
Explanation: As no argument is passed to the code, the Ierg(h@s is 0. So the code will not

print. Q \

Question 279: What would be the output of foIIow&nlppet if compiled and executed with
command line argument “java abc 1 2 37? Q
public class abc

{
sta’uc public void mam%'
for int n= 1n<x®. n++)
System a@ n(xyz[n]+"");
' Q°

a)l2

b)23

c)l23

d) Compilation error
Answer : B

Explanation: The index of array starts with 0. Since the loop is starting with 1 it will print 2 3.
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Question 280: What is the output of the following snippet running with “java demo | write java
code”?
public class demo

{

public static void main(String args[])

{
System.out.printin(args[0]+
}

}

+args[args.length-1]);

a) The snippet compiles, runs and prints “java demo”

b) The snippet compiles, runs and prints “java code”

c¢) The snippet compiles, runs and prints “demo code”

d) The snippet compiles, runs and prints “I code”
Answer : D

Explanation: The index of array starts with O till length — 1. H@:}%ould print “I code”.

Question 281: What would be the output of the followingSNppet, if compiled and executed with
command line “hello there”?

public class abc

\
{ String[] xyz; Q

public static void main(pa#gV[])

{ Xyz=argy; \'

publlc void r
é printin(argv[1]);

a) Complle time error

b) Output would be “hello”

¢) Output would be “there”

d) Output would be “hello there”
Answer : A

Explanation: Error would be “Cannot make static reference to a non static variable”. Even if
main method was not static, the array argv is local to the main method and would not be visible
within runMethod.
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Question 282: Which annotation is used to represent command line input and assigned to correct

data type?
a) @Input
b) @Variable
¢) @Command Line
d) @Parameter
Answer : D

99 ¢

Explanation: @Parameter, (@Parameter(names = { “-log”, “-verbose” }, description = “Level of

verbosity”), etc are various forms of using (@Parameter

¢
S

&
&
&
@QQS\
Q
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Recursion

Question 283: Which of the following is used by operating system to manage the Recursion in

Java?

a) Array

b) Stack

c) Queue

d) Tree
Answer : B

Explanation: Recursions are always managed by using stack.

e

Question 284: Which of these is not a correct statement? P
a) A recursive method must have a base case
b) Recursion always uses stack a
c) Recursive methods are faster that programmergwri
repeatedly using a stack
d) Recursion is managed by Java Runtime en%nment
Answer : D

Explanation: Recursion is always managed by op quystem.

oop to call the function

Question 285: What is the output of this p
class recursion

{
|nt func (int n) &\'

int result;
result -g*
} :

class Output

{

public static void main(String args[])
{
recursion obj = new recursion() ;
System.out.print(obj.func(12));

}
}

a)0

b) 1

c) Compilation Error
d) Runtime Error
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Answer : D

Explanation: Since the base case of the recursive function func() is not defined hence infinite
loop occurs and results in Stack Overflow.

Question 286: What is the output of this program?
class recursion

{

int func (int n)

{

int result;
if (n==1)

return 1;
result = func (n - 1);
return result;
}
) G
class Output
{ \

public static void main(String argsf[]) O
{
recursion obj = new recursion() Q\'

System.out.print(obj.func(5

}

}
)1 (\,&
3)) %\lzoone of the er@’

Answer : B

Explanation: None. Q

Question 287: What is the output of this program?
class recursion
{
int fact(int n)
{
int result;
if(n==1)
return 1;
result = fact(n - 1) * n;
return result;
}
}
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class Output

{

public static void main(String args[])
{
recursion obj = new recursion() ;
System.out.print(obj.fact(5));
}
}
a) 24
b) 30
c) 120
d) 720
Answer : C

Explanation: fact() method recursively calculates factorial of a r, vhen value of n reaches
1, base case is excuted and 1 is returned. )

class recursion

{ i{nt fact(int n) @Q’\v

Question 288: What is the output of this program? :\

int result;

i (n == 1) @
return 1;

result = fact(n - 1) *.&\,

return result; @

} Q
}
class & @
N
public Matic void main(String argsf])

{

recursion obj = new recursion() ;
System.out.print(obj.fact(1));

}
}
a)l
b) 30
c) 120
d) Runtime Error
Answer : A
Explanation: fact() method recursively calculates factorial of a number, when value of n reaches
1, base case is excuted and 1 is returned.
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Question 289: What is the output of this program?
class recursion
{
int fact(int n)
{
int result;
if(n==1)
return 1;
result = fact(n - 1) * n;
return result;

}
}
class Output 6@

{
public static void main(String args[]) < )
{

recursion obj = new recursion() ; s\

System.out.print(obj.fact(6));
}

. @é\

b) 30
c) 120 @
d) 720

Answer : D ) é'\'

Explanation: None. g ?

Prepared By : Mr. M.Islabudeen, Associate Professor, CSE, SAEC, Ramanathapuram 109




SYED AMMAL ENGINEERING COLLEGE

RAMANATHAPURAM

Department of Computer Science and Engineering < Tg{}/’

(Accreditated by NBA)

JAVA PROGRAMMING

Method overriding

Question 290: Which of this keyword can be used in a subclass to call the constructor of
superclass?

a) super

b) this

c) extent

d) extends
Answer : A

Explanation: None.

Question 291: What is the process of defining a method in a subclass i g same name & type
signature as a method in its superclass?
a) Method overloading

-~
b) Method overriding ‘O
¢) Method hiding s\

d) None of the mentioned

Answer : B O
Explanation: None. Q\n

-

Question 292: Which keyword can be use@ent Method overriding?
a) static Q
b) constant
C) protected \'

| \
d) final (b"
Q

Explanation: To dis hod from being overridden, specify final as a modifier at the start
of its declaration. Me declared as final cannot be overridden.

Answer : D

Question 293: Which is the correct way of calling a constructor having no parameters, of
superclass A by subclass B?

a) super(void);

b) superclass.();

c) super.A();

d) super();
Answer : D

Explanation: None.
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Question 294: At line number 2 below, choose 3 valid data-type attributes/qualifiers among
“final, static, native, public, private, abstract, protected”
public interface Status
{
[* insert qualifier here */ int MY_VALUE = 10;

}

a) final, native, private

b) final, static, protected

c) final, private, abstract

d) final, static, public
Answer : D

Explanation: Every interface variable is implicitly public static andghal®

Question 295: Which concept supports method overriding in €va?|

a) Abstraction
b) Encapsulation s\
c¢) Polymorphism O
d) None of the mentioned

Answer : C \"
o)

Explanation: None.

A3

Question 296: What is the output of gram?
class Alligator

publlc stati maln (String[] args)
% {{1,2}, {3,4,5}, {6,7,8,9}};
[]y X;
System out.printin(y[2][1]);

}
}

a) 2

b) 3

c)7

d) Compilation Error
Answer : C

Explanation: Both x,and y are pointing to the same array.
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Question 297: What is the output of this program?
final class A

{
inti;
}

class B extends A

{

int j;

System.out.printin(j + " " + i);
}

class inheritance

{
public static void main(String args][])
| S

B obj = new B();

obj.display(); < )
}

}
a)22
b) 33
c) Runtime Error Q\'
d) Compilation Error @

Answer : D
Explanation: class A has been declar mnce it cannot be inherited by any other class.
Hence class B does not have mempeN ing compilation error.

Question 298: What is the 0

class Abc
dess A2 &

pub ¢ void main(String[Jargs)
{
String[] elements = { "for", "tea", "too" };
String first = (elements.length > 0) ? elements|[0]: null;
}
}

this program?

a) Compilation error

b) An exception is thrown at run time

c) The variable first is set to null

d) The variable first is set to elements[0].
Answer : D

Explanation: The value at the Oth position will be assigned to the variable first.
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Question 299: What is the output of this program?
class A
{
int i;
public void display()
{
System.out.printin(i);

}

class B extends A

{
intj;

public void display() @
{ System.out.printin(j); 6

} @

}

class Dynamic_dispatch s\

{ O

public static void main(String args]]) \

{
B obj2 = new B();

obj2.i=1;

obj2.,j=2; @
Ar; \'

r=obj2;

| } r.display(); é

a)l
b) 2 Q
c)3

d) 4
Answer : B

Explanation: r is reference of type A, the program assigns a reference of object obj2 to r and uses

that reference to call function display() of class B.
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The Object Class

Question 300: Which class is superclass of every class in Java?
a) String class
b) Object class
c¢) Abstract class
d) ArrayList class

Answer : B

Explanation: Object class is superclass of every class in Java.

Question 301: Which method of Object class can clone an object? P
a) Objectcopy()
b) copy() 6
c) Object clone()
d) clone() s\
Answer : C O
Explanation: None. Q\n

Question 302: Which method of Object clg@!ed to obtain class of an object at run time?

a) get()
b) void getclass() \'Q

c) Class getclass()

d) None of the menl@g
Answer : C @Q
Explanation: None. Q

Question 303: Which keyword cannot be used for a class which has been declared final?
a) abstract
b) extends
¢) abstract and extends
d) none of the mentioned

Answer : A

Explanation: A abstract class is incomplete by itself and relies upon its subclasses to provide
complete implementation. If we declare a class final then no class can inherit that class, an
abstract class needs its subclasses hence both final and abstract cannot be used for a same class.
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Question 304: Which class relies upon its subclasses for complete implementation of its
methods?

a) Object class

b) abstract class

c) ArrayList class

d) None of the mentioned

Answer : B

Explanation: None.

Question 305: What is the output of this program?
abstract class A
| <

int i

abstract void display(); < ,
}
class B extends A O‘\

{

intj;

void display() Q\"
{System.out.println(j); @

} Q

} &

class Abstract_d

{

public stalg vyd main(String args(])

a)0

b) 2

¢) Runtime Error

d) Compilation Error

Answer : B

Explanation: class A is an abstract class, it contains a abstract function display(), the full

implementation of display() method is given in its subclass B, Both the display functions are the
same. Prototype of display() is defined in class A and its implementation is given in class B.
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Question 306: What is the output of this program?
class A

{
inti;
intj;

{

class Output
{
public static void main(String args[]) 6
A obj1 =new A();
A obj2 = new A(); &

System.out.print(obj1.equals(obj2));

! O

a) false

b) true Q\'
c)l

d) Compilation Error @
Answer : A \

Explanation: obj1 and obj2 are tv*a&erent objects. equals() is a method of Object class, Since
S

class @

{

public static void main(String args[])

{

Obiject class is superclass of e s it is available to every object.
Question 307: Wha this program?

Object obj = new Object();
System.out.print(obj.getclass());
}
}

a) Object

b) class Object

¢) class java.lang.Object

d) Compilation Error
Answer : C

Explanation: None.
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Question 308: What is the output of this program?
class A

{
inti;
int j;

public static void main(String args]])

{
A obj1 = new A(); C}

System.out.print(obj1.toString()); s\
}
}
a) true Q’&
b) false
c) String associated with obj1 @
d) Compilation Error @
Answer : C \'

Explanation: toString() is metho@hss Obiject, since it is superclass of every class, every
object has this method. toStri urns the string associated with the calling object.

Y

class Output
| S
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Inheritance — Abstract Class and Super

Question 309: Which keyword is used to define an abstract class?
a) abst
b) abstract
c) Abstract
d) abstract class

Answer : B

Explanation: None.

Question 310: If a class inheriting an abstract class does not define al f izs function then it will
be known as?
a) Abstract

7~
b) A simple class ‘O
c) Static class s\

d) None of the mentioned

Answer : A O

Explanation: Any subclass of an abstract class m \ﬁer implement all of the abstract method
in the superclass or be itself declared abstract. \
Question 311: Which is not a correct st eg?

a) Every class containin act method must be declared abstract

b) Abstract class defiE nty the structure of the class not its implementation

c) Abstract class ca wiltiated by new operator
d) Abstract clas inherited

Answer : C @
Explanation: Abstra cannot be directly initiated with new operator, Since abstract class

does not contain any deflnition of implementation it is not possible to create an abstract object.

Question 312: Which package contains abstract keyword?
a) java.lang
b) java.util
C) java.io
d) java.system
Answer : A

Explanation: None.
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Question 313: What is the output of this program?
class A
{
public int i;
private int j;

class B extends A

void display()
{

super.j = super.i + 1;

System.out.printin(super.i + " " + super.j);
!
1
class inheritance
( 6
public static void main(String args|])
{
B obj = new B();
obj.i=1;
obj.j=2; O

obj.display();

g Ry

a) 22 \ Y,
b) 33 (Q
¢) Runtime Error

A\

d) Compilation Erro
Answer : D %’

Explanation: Class contair@%ate member variable j, this cannot be inherited by subclass B

and does not have a@ 12
Question 314: What is the output of this program?
class A

public int i;
public int j;
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class B extends A

{
int a;
B()
{

super();
}
}

class super_use

{

public static void main(String args[])

B obj = new B();

System.out.printin(obj.i + " " + obj.j) @
}

; o)
a)12 4
b)21 C}
¢) Runtime Error s\
d) Compilation Error 0

Answer : A \'

Explanation: Keyword super is used to call co
Constructor of a initializes i & jto 1 & 2 res

Question 315: What is the output of li\' OYyram?
class A

{
inti; @
void displayq’g
{
£ Jut-printingi);
}
}

class B extends A

{
intj;
void display()

System.out.printin(j);

}
}
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class method_overriding

public static void main(String args[])
{
B obj = new B();
obj.i=1;
0bj.j=2;
obj.display();
}
}

a)0
b) 1

c)2
d) Compilation Error
Answer : C CE
I

Explanation: class A & class B both contain display() method inherits class A, when
display() method is called by object of class B, display() class B is executed rather
than that of Class A.

Question 316: What is the output of this program?\
class A

{

public int i; @
protected int j; @

}

class B extends A 2&\'

{
intj;
void displ%

{
»@ 3
Syst&h.out.printin(i + " " + );

}
}

class Output

{

public static void main(String argsf[])
{
B obj = new B();
obj.i=1;
obj.j=2;
obj.display();
}
}
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a)l2
b)21
)13
d)31

Answer : A

Explanation: Both class A & B have member with same name that is j, member of class B will be
called by default if no specifier is used. | contains 1 & j contains 2, printing 1 2.

S
&
<&
&

0‘2’&

e —
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Inheritance

Question 317: Which of this keyword must be used to inherit a class?
a) super
b) this
C) extent
d) extends
Answer : D

Explanation: None.

Question 318: A class member declared protected becomes a member of subclass of which

type? .
a) public member
b) private member 6
c) protected member
d) static member

Answer : B s\

Explanation: A class member declared protected begqn'errivate member of subclass.

Question 319: Which of this is correct way opﬁng class A by class B?
a) class B + class A {} )
b) class B inherits class A @

c) class B extends A {}

d) class B extends cl %
Answer : C

Explanation: None. %Q

Question 320: Whi(@classes use the Shape class correctly?

A. public class Circle implements Shape { private int radius; }
B. public abstract class Circle extends Shape { private int radius; }
C. public class Circle extends Shape
{
private int radius;
public void draw();

D. public abstract class Circle implements Shape

{

private int radius;
public void draw();

}
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E. public class Circle extends Shape
{
private int radius;
public void draw()
{
[* code here */
}
}
F. public abstract class Circle implements Shape
{
private int radius;
public void draw()

{
[* code here */ @
) Cfa
} 1
a) B,E

A )

d) T,H
Answer : A \'
Explanation: If one is extending any class, y should use extends keyword not
implements.
X\
Question 321: What is the output is program?
class A

{
int i; Q
voi@@
{
System.out.printin(i);

}
}
class B extends A
{
int j;
void display()
{
System.out.printin(j);
}
}
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class inheritance_demo

{

public static void main(String args[])
{
B obj = new B();
obj.i=1;
0bj.j=2;
obj.display();
}
}
a)0
b) 1

c)2
d) Compilation Error 6

Answer : C

display() method is called by object of class B, display() od of class B is executed rather
than that of Class A.

Explanation: Class A & class B both contain display() me%od,CD! B inherits class A, when

X\
Question 322: What is the output of this prograr@'

E;Iass A @

it @
}
class B extends A é'\'

{
intj;
void dis;@Q

{
:j + 1,
System.out.printinj + " " +1i);

}
}

class inheritance

{

public static void main(String args[])
{
B obj = new B();
obj.i=1;
obj.j=2;
obj.display();
}
}
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a)2?2
b) 33
c)23
d)32

Answer : C

Explanation: None.

Question 323: What is the output of this program?
class A

{

public int i;

public int j; 6
class B extends A Q\'
{ <

SRS

super();

} } ‘2 »

|

? ass super @Q

pub&)c void main(String args])

{
B obj = new B();
System.out.printin(obj.i + " " + obj.))
}
}
a)l2
b)21
¢) Runtime Error
d) Compilation Error
Answer : A

Explanation: Keyword super is used to call constructor of class A by constructor of class B.
Constructor of a initializes i & j to 1 & 2 respectively.
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Question 324: What is not type of inheritance?

a) Single inheritance

b) Double inheritance

¢) Hierarchical inheritance

d) Multiple inheritance
Answer : B

Explanation: Inheritance is way of acquiring attributes and methods of parent class. Java
supports hierarchical inheritance directly.

Question 325: Using which of the following, multiple inheritance in Jaya can be implemented?
a) Interfaces Q

d) Private methods

b) Multithreading
c) Protected methods
Answer : A C}

Explanation: Multiple inheritance in java is implemente@ng interfaces. Multiple interfaces
can be implemented by a class.

A4
Question 326: All classes in Java are inherit thich class?

a) java.lang.class @
b) java.class.inherited

c) java.class.object \'

d) java.lang.Object 6&

Answer : D

Object Class.

Explanation: All classez 5@ inherited from Object class. Interfaces are not inherited from

Question 327: In order to restrict a variable of a class from inheriting to subclass, how variable
should be declared?

a) Protected

b) Private

c) Public

d) Static
Answer : B

Explanation: By declaring variable private, the variable will not be available in inherited to
subclass.
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Question 328: If super class and subclass have same variable name, which keyword should be
used to use super class?

a) super

b) this

C) upper

d) classname
Answer : A

Explanation: Super keyword is used to access hidden super class variable in subclass.

Question 329: Static members are not inherited to subclass.

a) True
b) False
Answer : B 6

Explanation: Static members are also inherited to subclasses. ‘ )

Question 330: Which of the following is used for imple g inheritance through an
interface?

a) inherited
b) using Q,\'
c) extends @

d) implements
Answer : D \'

Explanation: Interface is implem sing implements keyword. A concrete class must
implement all the methods of ga (eJYace, else it must be declared abstract.

a
v

ing is used for implementing inheritance through class?

c) extends
d) implements
Answer : C

Explanation: Class can be extended using extends keyword. One class can extend only one class.
A final class cannot be extended.
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Question 332: What would be the result if a class extends two interfaces and both have a method
with same name and signature?

a) Runtime error

b) Compile time error

c¢) Code runs successfully

d) First called method is executed successfully
Answer : B

Explanation: In case of such conflict, compiler will not be able to link a method call due to

ambiguity. It will throw compile time error.

¢
S

&
&
&
@QQS\
Q

e —
Prepared By : Mr. M.Islabudeen, Associate Professor, CSE, SAEC, Ramanathapuram 129




SYED AMMAL ENGINEERING COLLEGE

RAMANATHAPURAM

Department of Computer Science and Engineering < Tg{}/’

(Accreditated by NBA)

JAVA PROGRAMMING

String Handling Basics
Question 333: Which class is superclass of String and StringBuffer class?
a) java.util
b) java.lang
c) ArrayList
d) None of the mentioned
Answer : B

Explanation: None.

Question 334: 2. Which operator can be used to concatenate two or more String objects?
a) +

b) +=
S
d) |l

Answer : A

Explanation: Operator + is used to concatenate strings, e String s = “i ” + “like ” +
“java”; String s contains “I like java”. &

Question 335: Which of this method of class g#&JNg 1S used to obtain a length of String object?

a) get() \Y,
b) Sizeof()
c) lengthof() \'@

d) length()

Answer : D é

Explanation: Method Ieng@Qtring class is used to get the length of the object which invoked

method length(). Q
Question 336: Which constructor is used to create an empty String object?
a) String()
b) String(void)
¢) String(0)
d) None of the mentioned
Answer : A

Explanation: None.
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Question 337: What is the output of this program?
class String_demo

{

public static void main(String args(])
{
char chars[] = {'a', 'b', 'c'};
String s = new String(chars);
System.out.printin(s);

}
}

a)a
b) b

c)c
d) abc 6@

Explanation: String(chars) is a constructor of class string, § ingizes string s with the values
stored in character array chars, therefore s contains “abc”

Answer : D

Q'

Question 338: What is the output of this program?\
class String_demo

{

public static void main(Strin

{

int ascii[] = { 65, 66 ;
String s = new S@' sCii, 1, 3);

System.out.py
}
}

a) AB

b) BCD

c) CDA

d) ABCD
Answer : B

Explanation: ascii is an array of integers which contains ascii codes of Characters A, B, C, D.
String(ascii, 1, 3) is an constructor which initializes s with Characters corresponding to ascii
codes stored in array ascii, starting position being given by 1 & ending position by 3, Thus s
stores BCD.
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Question 339: What is the output of this program?
class String_demo
{
public static void main(String args(])
{
char chars[] = {'a', 'b', 'c'};
String s = new String(chars);
String s1 = "abcd",
int len1 = s1.length();
int len2 = s.length();
System.out.printin(len1 +" " + len2);

}

) {//
a)30 6

b) 03

c)34 C}
Answer : D D43 0‘\
X

Explanation: None.

N
Question 340: Which constructor is used to cpe;th' empty String object?

a) String() J
b) String(void) @
c) String(0) \'
d) None of the mentj &
Answer : A %
Explanation: None. ,Q
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Character Extraction

Question 341: Which method of class String is used to extract more than one character at a time
a String object?

a) getchars()

b) GetChars()

c) Getchars()

d) getChars()
Answer : D

Explanation: None.

Question 342: What will be output of the following code?
public class Boxer1 6

{

Integer i;

int x;

public Boxer1(int y) s\
{ O

X = ity;
System.out.printin(x); \v
}

public static void main(Strin )

{

new Boxer1 (new r®));
) $
) )

a) The value “4’¢ Wied at the command line
b) Compilati qryangoecause of an error in line
c) A NulPeg&eZ xception occurs at runtime
d) An IINgalptateException occurs at runtime

Answer : D

Explanation: Because we are performing operation on reference variable which is null.

Question 343: Which method can be used to convert all characters in a String into a character

array?

a) charAt()
b) both getChars() & charAt()
c) both toCharArray() & getChars()
d) all of the mentioned
Answer : C

Explanation: charAt() return one character only not array of character.
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Question 344: What is the output of this program?
class output

{

public static void main(String args])

{
String ¢ = "Hello i love java";
int start = 2;
intend =9;
char s[]=new char[end-start];
c.getChars(start,end,s,0);
System.out.printin(s);

}

}

a) Hello, i love java

b) i love ja < ’
c)loilo
d)loil O‘\

Explanation: getChars(start,end,s,0) returns an a the string c, starting index of array is
pointed by start and ending index is pointed b s Is the target character array where the new

string of letters is going to be stored and thp% ring will be stored from Oth position in s.

Answer : D

Question 345: Which method is an iﬁﬁe to getChars() that stores the characters in an array

of bytes?
a) getBytes() ’b"'
b) GetByte()

c) giveByte()
d) Giv
Answer : A

Explanation: getBytes() stores the character in an array of bytes. It uses default character to byte
conversions provided by the platform.

Question 346: What is the output of this program?
class output
{
public static void main(String args[])
{
String a = "hello i love java";
System.out.printin(a.indexOf('i")+" "+a.indexOf('0") +" "+a.lastindexOf('i")+" "+a.lastindexOf('0"));
}
}
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2)64609
b)5459
c)7889
d)43609

Answer : A

Explanation: indexof(‘c’) and lastIndexof(‘c’) are pre defined function which are used to get the
index of first and last occurrence of the character pointed by c in the given array.

Question 347: What is the output of this program?
class output

public static void main(String args(]) @
{
char c[]={a','1",'b",'" A", '0%; 6
for (inti=0;i<5; ++)
{ O
if(Character.isDigit(c]i]))

System.out.printin(c[i]+" is a digit"); &
if(Character.isWhitespace(c]i]))

System.out.printin(c[i]+" is a WhiQspace character");
if(Character.isUpperCase(c[i]))

System.out.printin(c[i]+" | per case Letter");

a lower case Letter");

}
} Q@
a)
ais aloys @L er
is W @ pce character
b)

b is a lower case Letter
is White space character
c)

a is a lower case Letter
A is an upper case Letter
d)
a is a lower case Letter
0 is a digit
Answer : C

Explanation: Character.isDigit(c[i]),Character.isUpperCase(c[i]),Character.isWhitespace(c[i])

are the function of library java.lang. They are used to find weather the given character is of
specified type or not. They return true or false i:e Boolean variable.
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Question 348: What is the output of this program?
class output
{
public static void main(String args])
{
char ch;
ch ="hello".charAt(1);
System.out.printin(ch);
}
}
a) h
b) e
c)l
90 Cfo
Answer : B
Explanation: “hello” is a String literal, method charAt() t s the character specified at the
index position. Character at index position 1 is e of hell§ h§nCe ch contains e.

&
&
&
@QQS\
Q
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String Comparison

Question 349: Which method of class String is used to compare two String objects for their

equality?
a) equals()
b) Equals()
c) isequal()
d) Isequal()
Answer : A

Explanation: None.

Question 350: Which method is used to compare a specific region insj 1 string with another
specific region in another string?
a) regionMatch()

-~
b) match() ( ’
¢) RegionMatches() s\

d) regionMatches()

Answer : D O

Explanation: None. \.o

-

Question 351: Which method of class Stri @ed to check whether a given object starts with
a particular string literal?

a) startswith()
b) endsWith() {\'
c) Starts()

d) ends() @be’

Answer : A

Explanation: Metho@\witho of string class is used to check whether the String in question
starts with a specified stfing. It is a specialized form of method regionMatches().

Question 352: What is the value returned by function compareTo() if the invoking string is less
than the string compared?

a) zero

b) value less than zero

c) value greater than zero

d) none of the mentioned
Answer : B

Explanation: compareTo() function returns zero when both the strings are equal, it returns a
value less than zero if the invoking string is less than the other string being compared and value
greater than zero when invoking string is greater than the string compared to.
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Question 353: Which data type value is returned by equals() method of String class?

a) char

b) int

c) boolean

d) all of the mentioned
Answer : C

Explanation: equals() method of string class returns boolean value true if both the string are
equal and false if they are unequal.

Question 354: What is the output of this program?
class output
{
public static void main(String args[])
i O
String ¢ = "Hello i love java";
boolean var; O‘\

var = c.startsWith("hello");
System.out.printin(var);

; &

a) true J

b) false @

c)0

d)1 {\'
Answer : B %’

Explanation: startsWith @ogs case sensitive “hello” and “Hello” are treated differently,
hence false is stored §

Question 355: What is the output of this program?
class output

{

public static void main(String args[])
{
String s1 ="Hello i love java";
String s2 = new String(s1);
System.out.printin((s1 ==s2) +" " + s1.equals(s2));
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a) true true

b) false false

c) true false

d) false true
Answer : D

Explanation: The == operator compares two object references to see whether they refer to the
same instance, where as equals() compares the content of the two objects.

Question 356: What is the output of this program?
class output

{
public static void main(String args[])
| <

String s1 = "Hello";
String s2 = new String(s1); < )
String s3 = "HELLO",

System.out.printin(s1.equals(s2) +" " + s als(s3));
}
}

a) true true é’
b) false false @

c) true false
d) false true @
Answer : C &\'

Explanation: None.

-

Question 357: In the belo
output will be: “123 c’?
1 String rsb1 = new StringBuilder("123");
2 String s1="123";
3 /linsert code here
4 System.out.printin(sb1 +" " + s1);

which code fragment should be inserted at line 3 so that the

a) sbl.append(‘“abc”); s1.append(‘‘abc”™);

b) sbl.append(“abc”); s1.concat(‘“‘abc’);

¢) sbl.concat(‘“abc”); s1.append(*“‘abc”™);

d) sbl.append(“abc”); s1 = sl.concat(“abc”);
Answer : D

Explanation: append() is stringbuffer method and concat is String class method. append() is
stringbuffer method and concat is String class method.
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Question 358: What is the output of this program?
class output

{

public static void main(String args])

{
String chars|] = {"a", "b", "c", "a", "c¢"};
for (inti=0; i < chars.length; ++i)
for (intj =i+ 1; ] < chars.length; ++j)
if(chars[i].compareTo(chars[j]) == 0)
System.out.print(charsfj]);

}
) {//
a) ab
b) bc 6
c) ca < ’
d) ac s\

Answer : D
Explanation: compareTo() function returns zero whﬂ:):;the strings are equal, it returns a

value less than zero if the invoking string is less other string being compared and value
greater than zero when invoking string is gre n the string compared to.

®‘U
-
g

Q@
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Searching & Modifying a String

Question 359: Which of this method of class String is used to extract a substring from a String

object?

a) substring()

b) Substring()

¢) SubString()

d) None of the mentioned
Answer : A

Explanation: None.

String s1 = "one";
String s2 = s1.concat("two") cj
a) one
b) two
c) onetwo s\
d) twoone O
Answer : C \'

Question 360: What will s2 contain after following lines of code? @
4

Explanation: Two strings can be concatenated irng concat() method.

Question 361: Which method of class S used to remove leading and trailing whitespaces?
a) startswith()
b) trim() {\'

c) Trim()

d) doTrim() Qa
Answer : B @
Explanation: None. Q

Question 362: Which of the following statement is correct?
a) replace() method replaces all occurrences of one character in invoking string with
another character
b) replace() method replaces only first occurrences of a character in invoking string with
another character
c) replace() method replaces all the characters in invoking string with another character
d) replace() method replaces last occurrence of a character in invoking string with
another character

Answer : A

Explanation: replace() method replaces all occurrences of one character in invoking string with
another character.
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Question 363: What is the output of this program?
class output

{
public static void main(String args])
{
Stringc=" Hello World ";
String s = c.trim();
System.out.printin("\""+s+"\"");
}
}

a) “’Hello World™”
b) “’Hello World”
¢) “Hello World” 6

d) Hello world

Answer : C < ,

Explanation: trim() method is used to remove leading ar@ing whitespaces in a string.
A g

Question 364: What is the output of this program?\
class output

{
public static void main(Strin
{
String s1 = "one";
String s2 = s1 +, &X'
System.out. 'r@?);
}
}
a) one
b) two
C) one two
d) compilation error

Answer : C

Explanation: None.
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Question 365: What is the output of this program?
class output

{

public static void main(String args[])

{
String s1 = "Hello";

String s2 = s1.replace(l','w");
System.out.printin(s2);

}
}

a) hello

b) helwo

c) hewlo

d) hewwo 6

Explanation: replace() method replaces all occurrences ofgneglzcter in invoking string with

Answer : D

another character. s1.replace(‘l’,’w’) replaces every occu e of ‘I’ in hello by ‘w’, giving
hewwo.

Question 366: What is the output of this prograr@"
class output

{
public static void mam&SS@s[]

Strlng s1="Hel
String s2 = s
System ou n 32

e
a) Hell

b) Hello

c) Worl

d) World
Answer : A

Explanation: substring(0,4) returns the character from 0 th position to 3 rd position.
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Question 367: What is the output of this program?
class output

{

public static void main(String args])
{ String s = "Hello World";
inti = s.indexOf('0");
int j = s.lastindexOf('l");
System.out.print(i + " " +j);

}
}
a)48

b)59

)49

d)58 6
Answer : C < ,

Explanation: indexOf() method returns the index of first rence of the character where as
lastindexOf() returns the index of last occurrence of theghdyacter.

N\
o)
&

OQ’Q@
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StringBuffer Class

Question 368: Which class is used to create an object whose character sequence is mutable?
a) String()
b) StringBuffer()
¢) String() & StringBuffer()
d) None of the mentioned

Answer : B

Explanation: StringBuffer represents growable and writable character sequence.

Question 369: Which of this method of class StringBuffer is used to fatenate the string
representation to the end of invoking string?
a) concat()

”~
b) append() ( ‘O’
c) join() s\

d) concatenate()

Answer : B \O
Explanation: None. Q

Question 370: Which method of class S ééffer is used to find the length of current character

sequence?
a) length()
b) Length() (b"
c) capacity()
d) Capacity()
Answer : A

Explanation: None.

Question 371: What is the string contained in s after following lines of code?
StringBuffer s new StringBuffer("Hello");
s.deleteCharAt(0);
a) Hell
b) ello
c) Hel
d) llo
Answer : B

Explanation: deleteCharAt() method deletes the character at the specified index location and
returns the resulting StringBuffer object.
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Question 372: Which of the following statement is correct?

a) reverse() method reverses all characters
b) reverseall() method reverses all characters
c) replace() method replaces first occurrence of a character in invoking string with
another character
d) replace() method replaces last occurrence of a character in invoking string with
another character

Answer : A

Explanation: reverse() method reverses all characters. It returns the reversed object on which it
was called. P

Question 373: What is the output of this program? %
class output
{ @

public static void main(String args][])
( X\

String a = "hello i love java"; Q
System.out.printin(a.indexOf('e")+" "+a.indexOf('a')(: Nl IndexOf('l')+" "+a.lastindexOf('v'));

}

} o3
2)6469
b)5459
c)7889

d) 114815 {\,
Answer : D @d
Explanation: indexof(‘c’) ndexof(‘c’) are predefined function which are used to get the
index of first and last evf the character pointed by c in the given array.

Question 374: Wha& output of this program?
class output

public static void main(String args[])

StringBuffer ¢ = new StringBuffer("Hello");
c.delete(0,2);
System.out.printin(c);
}
}

a) He
b) Hel
c)lo

d) llo
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Answer : D

Explanation: delete(0,2) is used to delete the characters from 0 th position to 1 st position.

Question 375: What is the output of this program?
class output

{

public static void main(String args[])

StringBuffer ¢ = new StringBuffer("Hello");
StringBuffer ¢c1 = new StringBuffer(" World");
c.append(c);

System.out.printin(c); @
} ;:
}

a) Hello

b) World ( )

c¢) Helloworld

d) Hello World s\
Answer : D O

Explanation: append() method of class StringBufferg used to concatenate the string
representation to the end of invoking string.

Question 376: What is the output of this
class output

{

public static void &tring args[])
| oy
StringBu @ new StringBuffer("Hello");
StringB&Gér s1.reverse();
@ ouL.printin(s2):
}

}

a) Hello
b) olleH
c) HelloolleH
d) olleHHello

Answer : B

Explanation: reverse() method reverses all characters. It returns the reversed object on which it

was called.
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Question 377: What is the output of this program?
class output

{

class output

{

public static void main(String args[])

{
char c[]={'A,"1','b",'" 'a", '0';
for (inti=0;i<5; ++i)
{ .
I++;
if(Character.isDigit(c[i]))
System.out.printin(c[i]+" is a digit");
if(Character.isWhitespace(c[i]))
System.out.printin(c[i]+" is a Whitespace ¢ ey);
if(Character.isUpperCase(c[i]))
System.out.printin(c[i]+" is an Uppeg cas r");
if(Character.isLowerCase(c[i])) g\
System.out.printin(ci]+" is a low
i++;

\
&
a is a lower case Letter {&Q

is White space charact
) &
b is a lower case L
is White space@ er
c)
lisa digit@
a is a lower case Letter
d)

ais a lower case Letter
0 is a digit

e Letter");

a)

Answer : C

Explanation: Character.isDigit(c[i]),Character.isUpperCase(c[i]),Character.isWhitespace(c[i])
are the function of library java.lang they are used to find whether the given character is of
specified type or not. They return true or false i:e Boolean variable.
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Object & Math Class

Question 378: Which of these class is a superclass of all other classes?
a) Math
b) Process
c) System
d) Object

Answer : D

Explanation: The object class class is a superclass of all other classes.

Question 379: Which method of Object class can generate duplicate ¢ S/ f the object on which
it is called?

) clone() C

a) clone

b)) SOPIY_() te() ‘O
c) duplicate s\( )

d) dito()
Answer : A \O
N\

Explanation: None.
Question 380: What is the value of dou ogonant ‘E’ defined in Math class?
a) approximately 3 \'
b) approximately 3.1
C) approximately 2.%»
d) approximatel
Answer : C

Explanation: None. Q

Question 381: Which of these classes contains only floating point functions?
a) Math
b) Process
) System
d) Object
Answer : A

Explanation: Math class contains all the floating point functions that are used for geometry,
trigonometry, as well as several general purpose methods. Example : sin(), cos(), exp(), sqrt()
etc.
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Question 382: What is the value of “d” after this line of code has been executed?
double d = Math.round ( 2.5 + Math.random() );

a) 2
b) 3
c)4
d) 2.5
Answer : B

Explanation: The Math.random() method returns a number greater than or equal to 0 and less
than 1. so 2.5 will be greater than or equal to 2.5 and less than 3.5, we can be sure that
Math.round() will round that number to 3.

Question 383: What is the output of this program? 6@‘

class Output
{ @,
public static void main(String args[])
( \
intx =3.14; O
int y = (int) Math.abs(x);

System.out.print(y); Q\'
} <

a) g @

b

c)) 3.0 &\'

d) 3.1 @"
Answer : B Q

Explanation: None. QQ
Question 384: What is the output of this program?

class Output

{

public static void main(String args[])
{
double x = 3.1;
double y = 4.5;
double z = Math.max( x, y );
System.out.print(z);
}
}
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a) true
b) 4
c)3.1
d) 4.5
Answer : D

Explanation: None.

Question 385: What is the output of this program?
class Output

{
public static void main(String args[])
{
double x = 2.0;
double y = 3.0;
double z = Math.pow( X, y ); { ,
System.out.print(z);

) N
a) }9 &O
b) 8 Q
$ a0 <
Answer : C @

Explanation: Math.pow(X, y) metb%\eﬁrns value of y to the power x, i:e x*y, 2.0 * 3.0 = 8.0.
¢
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Java.io Byte & Character Streams

Question 386: Which of these classes is used for input and output operation when working with

bytes?

a) InputStream

b) Reader

c) Writer

d) All of the mentioned
Answer : A

Explanation: InputStream & OutputStream are designed for byte stream. Reader and writer are
designed for character stream. »

~
Question 387: Which of these classes is used to read and write b ile?
a) FileReader r
b) FileWriter
¢) FilelnputStream s\
d) InputStreamReader O

Answer : C Q\v

Explanation: None.

Question 388: Which method of Inpd&MNarh is used to read integer representation of next
available byte input?
a) read()

b) scanf() Q‘a’

c) get()
d) getl

Answer : A

Explanation: None.

Question 389: Which of these is a method to clear all the data present in output buffers?
a) clear()
b) flush()
c) fflush()
d) close()

Answer : B

Explanation: None.
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Question 390: Which of these method(s) is/are used for writing bytes to an outputstream?
a) put()
b) print() and write()
c) printf()
d) write() and read()

Answer : B

Explanation: write() and print() are the two methods of OutputStream that are used for printing
the byte data.

p 4

Question 391: What is the output of this program?
import java.io.*; 6

class filesinputoutput

{

public static void main(String args[])
{ InputStream o'bj = new F.illeITputStreaoutput.java");
} System.out.print(obj.availab e(&'
Note: inputoutp&t.java is stored in the disk @
a) true

b) false \‘F

C) prints number of n ile

d) prints numberd faJ¥cters in the file
Answer : C @

Explanation: obj.ava@ returns the number of bytes.

Question 392: What is the output of this program?
import java.io.”;
public class filesinputoutput

{

public static void main(String[] args)
{
String obj = "abc";
byte b[] = obj.getBytes();
ByteArraylnputStream obj1 = new ByteArraylnputStream(b);
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for (inti=0;i<2;++1i)

{
int c;
while ((c = obj1.read()) I=-1)
{
if(i == 0)
System.out.print((char)c);
}
}
}
}
a) abc

b) ABC
c)ab
d) AB
Answer : A
Explanation: None. C}

X

Question 393: What is the output of this program? 0 -
import java.io.”;

public class filesinputoutput
{
public static void main(String][] @
{
String obj = "abc"; x
S(

byte b[] = obj.getB

ByteArraylnput
for (inti =0

{
int
@%= obj1.read()) = -1)

if (i==0)
System.out.print(Character.toUpperCase((char)c));

bj1 = new ByteArrayInputStream(b);

}
}
}
}

a) abc

b) ABC

c) ab

d) AB
Answer : B
Explanation: None.
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Question 394: What is the output of this program?
import java.io.*;
public class filesinputoutput

{

public static void main(String[] args)
{
String obj = "abc";
byte b[] = obj.getBytes();
ByteArraylnputStream obj1 = new ByteArraylnputStream(b);
for (inti=0;i<2;++i)

{

int c;

while ((c = obj1.read()) 1= -1) @

{

if i==0) 6

System.out.print(Character Uggdse((char)c));
obj2.write(1); ‘O&

. O

System.out.print(obj2); \v
} <

}
; } é \
a) AaBaCa
b) ABCaaa &\'
c) AaaBaaCaa @v
d) AaBaaCaaa
Answer : D

Explanation: None. Q

Question 395: Which of this class is used to read characters in a file?

a) FileReader

b) FileWriter

c) FilelnputStream

d) InputStreamReader
Answer : A

Explanation: None.
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Question 396: Which method of FileReader class is used to read characters from a file?
a) read()
b) scanf()
c) get()
d) getinteger()

Answer : A

Explanation: None.

e —
Prepared By : Mr. M.Islabudeen, Associate Professor, CSE, SAEC, Ramanathapuram 156




SYED AMMAL ENGINEERING COLLEGE

RAMANATHAPURAM

Department of Computer Science and Engineering < Tg{}/'

(Accreditated by NBA)

JAVA PROGRAMMING

Java’s Built in Exceptions

Question 397: Which of these exceptions handles the situations when an illegal argument is used
to invoke a method?

a) IllegalException

b) Argument Exception

c) Illegal ArgumentException

d) lllegalMethodArgumentExcepetion
Answer : C

Explanation: None.

Question 398: Which of these exceptions will be thrown if we declar A rray with negative
size?

a) Illegal ArrayException

-~
b) lllegal ArraySizeExeption ‘O
c) NegativeArrayException

d) NegativeArraySizeExeption s\

Answer : D O

Explanation: Array size must always be positive | &eclare an array with negative size then
built in exception “NegativeArraySizeExceptigag N thrown by the java’s run time system.

all the Java’s built in exceptions?

Question 399: Which of these packages@
a) java.io
b) java.util ’&
c) java.lang @v
d) java.net
Answer : C

Explanation: None. Q

Question 400: Which of these exceptions will be thrown if we use null reference for an
arithmetic operation?

a) ArithmeticException

b) NullPointerException

c) Illegal AccessException

d) IllegalOperationException
Answer : B

Explanation: If we use null reference anywhere in the code where the value stored in that
reference is used then NullPointerException occurs.
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Question 401: Which of this class is used to create user defined exception?

a) java.lang

b) Exception

¢) RunTime

d) OwnException
Answer : B

Explanation: Exception class contains all the methods necessary for defining an exception. The
class contains the Throwable class.

Question 402: What is the output of this program?
class exception_handling
{
public static void main(String args]])
{
§ @
{
inta[] ={1, 2, 3, 4, 5}; O

for (inti=0;i<7;++)
System.out.print(a[i]);
}

catch(ArraylndexOutOfBoun, ption e)
}

{
System.out.print("0"); @
} \,
}

a) 12345

b) 123450

c) 123

d) Comp n Error

Answer : B

Explanation: When array index goes out of bound then ArraylndexOutOfBoundsException
exception is thrown by the system.
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Question 403: What is the output of this program?
class exception_handling

{

public static void main(String args[])

{
try
{
intaf] ={1,23,4,5}
for (inti=0;i < 5; ++i)
System.out.print(al[i]);
int x =1/0;

}
catch(ArraylndexOutOfBoundsException €)
{
System.out.print("A");
} 6
catch(ArithmeticException e)
{
System.out.print("B"); &
} O
}

}
a) 12345 é’
b) 12345A @

¢) 123458
d) Compilation Error @
Answer : C \'

Question 404: Whaigs thy otitput of this program?
class Exga

{

static void throwexception() throws ArithmeticException
{
System.out.print("0");
throw new ArithmeticException ("Exception");
}
public static void main(String args[])
{
try
{

throwexception();

}
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catch (ArithmeticException e)

{

}
}
}

System.out.printin("A");

a) A

b) 0

c) 0OA

d) Exception
Answer : C

Explanation: None. R

Question 405: What is the output of this program?
class exception_handling ( )

{
public static void main(String args{]) $\
{ O
try \'

{

|Ma-1

}%{\@

|f(
{

Q%[] ={1};
o[8] = 9;

finally

{
System.out.print("A");

}

catch (NullPointerException e)

{

}
}
}

System.out.printin("B");
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a)A

b) B

c) AB

d) BA

Answer : A

Explanation: The inner try block does not have a catch which can tackle
ArraylndexOutOfBoundException hence finally is executed which prints ‘A’ the outer try block
does have catch for NullPointerException exception but no such exception occurs in it hence its
catch is never executed and only ‘A’ is printed.

public static void main(String args[])
{
fry
{ $\
int a = args.length; O

intb=10/a;

System.out.print(a); \'

try
{
f(a==
::a/a a; \'@
3@%&
}
<

@ ArraylndexOutOfBoundException e)

Question 406: What is the output of this program?
class exception_handling
| <

System.out.printin("TypeA");

catch (ArithmeticException €)

{
System.out.printin("TypeB");
}
}
}

a) TypeA
b) TypeB
c) 0TypeA
d) 0TypeB
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Answer : D

Explanation: Execution command line is “$ java exception_ handling one two” hence there are
two input making args.length = 2, hence “c[8] = 9” in second try block is executing which
throws ArraylndexOutOfBoundException which is caught by catch of nested try block. Hence
0TypeB is printed
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Java.lang - Rounding Functions
Question 407: Which of this class provides various types of rounding functions?
a) Math
b) Process
c) System
d) Object
Answer : A

Explanation: None.

Question 408: Which of these methods return a smallest whole number greater than or equal to
variable X? Pn

a) double ceil(double X)

b) double floor(double X) 6

¢) double max(double X)

d) double min(double X)
Answer : A s\

Explanation: ceil(double X) returns the smallest wwg)er greater than or equal to variable
X.

-

variable X?

Question 409: Which of these method ret&@]rgest whole number less than or equal to

c) double max(dou
d) double min(d
Answer : B

a) double ceil(double X
b) double f|oor(doub!2{\'
)

Explanation: double@iouble X) returns a largest whole number less than or equal to variable
X.

Question 410: Which function return absolute value of a variable?
a) abs()
b) absolute()
c) absolutevariable()
d) none of the mentioned
Answer : A

Explanation: abs() returns the absolute value of a variable.
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Question 411: What is the output of this program?
class Output

{
public static void main(String args[])
{
double x = 3.14;
inty = (int) Math.ceil(x);
System.out.print(y);
}
}
a)0
b) 3
c) 3.0
d) 4
Answer : D 6
Explanation: ceil(double X) returns the smallest whole nugu& er than or equal to variable
X.

Qv

Question 412: What is the output of this program?\

class Output Q
! &

public static void main(Stri

{
double x = 3.14; x’
inty = (int) Ma r(X);
System.out ,
}
}
a)0
b) 3
c) 3.0
d)4

Answer : B

Explanation: double floor(double X) returns a largest whole number less than or equal to variable
X. Here the smallest whole number less than 3.14 is 3.

Prepared By : Mr. M.Islabudeen, Associate Professor, CSE, SAEC, Ramanathapuram 164




SYED AMMAL ENGINEERING COLLEGE

RAMANATHAPURAM

Department of Computer Science and Engineering < Tg{}/’

(Accreditated by NBA)

JAVA PROGRAMMING

ThreadGroup class & Runnable Interface

Question 413: Which of the interface contains all the methods used for handling thread related
operations in Java?

a) Runnable interface

b) Math interface

c) System interface

d) ThreadHandling interface
Answer : A

Explanation: Runnable interface defines all the methods for handling thread operations in Java.

b) System
c) Thread
d) Runnable
Answer : C s\

Explanation: Thread class is used to make threads ig*':\zghread encapsulates a thread of
execution. To create a new thread the program W@ r extend Thread or implement the

Question 414: Which class is used to make a thread? P
a) String 6

Runnable interface. .
Question 415: Which of these methods gread class is used to suspend a thread for a period
of time?

a) sleep()
b) terminate()

c) suspend() QQO

d) stop()
Answer : A @

Explanation: None.

Question 416: What is the output of this program?
class newthread implements Runnable
{
Thread t1,t2;
newthread)

t1 = new Thread(this,"Thread_1");
t2 = new Thread(this,"Thread_2");
t1.start();
t2.start();

}
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public void run()

{
t2.setPriority(Thread.MAX_PRIORITY);

System.out.print(t1.equals(t2));
}
}
class multithreaded_programing

{

public static void main(String args[])

{

new newthread();

b) false
c) truetrue < ’
d) falsefalse

Answer : D s\

thgthat is implementing runnable
run() method specifying the actions to be
irst the run() method of t1 executes than

}
) {//
a) true 6

Explanation: Threads t1 & t2 are created by class n
interface, hence both the threads are provided thej
taken. When constructor of newthread class i
the run method of t2 printing 2 times “fals
different priority than other, hence false

Question 417: What is the output isprogram?

class newthread j ts Runnable
Thread 5
n;w Thread(this,"New Thread");

t start();

publlc void run()
{
t.setPriority(Thread. MAX_PRIORITY);
System.out.printin(t);
}
}
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class multithreaded_programing

{

public static void main(String args[])

{

new newthread();

}
}

a) Thread[New Thread,0,main].

b) Thread[New Thread,1,main].

c¢) Thread[New Thread,5,main].

d) Thread[New Thread,10,main].
Answer : B

Explanation: Thread t has been made with default priority value 5% method the priority

‘t.setPriority(Thread. MAX PRIORITY);’ using the setPrioritffunci®n of thread t.

has been explicitly changed to MAX_PRIORITY of class thre}%} 19910 by code

Question 418: What is the output of this program? \
class newthread implements Runnable O

{
Thread t Q’\'
newthread()
{ <&
t = new Thread(this,"@ad");
t.start();
R

class multithre rograming

{
puky g&id main(String args][])
{

new newthread();

}
}

a) My Thread

b) Thread[My Thread,5,main].
¢) Compilation Error

d) Runtime Error

Answer : C
Explanation: Thread t has been made by using Runnable interface, hence it is necessary to use

inherited abstract method run() method to specify instructions to be implemented on the thread,
since no run() method is used it gives a compilation error.
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Question 419: What is the output of this program?
class newthread implements Runnable

{
Thread t;

newthread)

{
t = new Thread(this,"My Thread");

t.start();

public void run()

{
System.out.printin(t.getName());
}
) C‘O
class multithreaded_programing
{

public static void main(String args]) s\

{
new newthread();

}} AQ\'

a) My Thread \J/
b) Thread[My Thread,5,mq®

¢) Compilation Error

d) Runtime Error &

Answer : A @

Explanation: None. 4@ <

Question 420: What output of this program?
class newthread implements Runnable

Thread t;

newthread)

{
t = new Thread(this,"My Thread");
t.start();

public void run()

{
System.out.printin(t);

}
}
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class multithreaded_programing

{

public static void main(String args])

{
new newthread();
}
}
a) My Thread
b) Thread[My Thread,5,main].
¢) Compilation Error
d) Runtime Error
Answer : B

Explanation: None. 7

¢
S

N\
o)
&

0‘2’&
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Java.util — ArrayList Class

Question 421: Which standard collection class implements a dynamic array?

a) AbstractList

b) LinkedList

c) ArrayList

d) ArraySet
Answer : C

Explanation: ArrayList class implements a dynamic array by extending AbstractList class.

Question 422: Which method can be used to increase the capacity of ArrayList object manually?

a) Capacity()

b) increaseCapacity()

¢) increasecapacity() 6
d) ensureCapacity() < )

Answer : D
Explanation: When we add an element, the capacity of @:(Xist object increases automatically,
but we can increase it manually to specified length g{y' g function ensureCapacity(x);

Question 423: Which method of ArrayL.ist clza8) Sed to obtain present size of an object?

a) size() /)
b) length()
¢) index() \'@

d) capacity()

Answer : A 6&

Explanation: None. %Q

Question 424: Whic od can be used to obtain a static array from an ArrayL.ist object?

a) Array()

b) covertArray()

c) toArray()

d) covertoArray()
Answer : C

Explanation: None.
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Question 425: Which method is used to reduce the capacity of an ArrayL.ist object?

a) trim()

b) trimSize()

c) trimTosize()

d) trimToSize()
Answer : D

Explanation: trimTosize() is used to reduce the size of the array that underlines an ArrayList
object.

Question 426: What is the output of this program?

import java.util.”;
class Arraylist
| <

public static void main(String args[])
{ @,
ArrayList obj = new ArrayList();
obj.add("A"): \
obj.add("B"); O
obj.add("C");
(1,

obj.add(1, "D"); Q’\'
System.out.printin(obj); @

——

}
a) [A, ,% D] &Qé

B
b) [A, D,
, D,
B

Cl

oDl KO

) [A, B, C] Q
Answer : B @
Explanation: obj is an ct of class ArrayL.ist hence it is an dynamic array which can increase
and decrease its size. obj.add(“X”’) adds to the array element X and obj.add(1,”X"") adds element
x at index position 1 in the list, Hence obj.add(1,”D”) stores D at index position 1 of obj and
shifts the previous value stored at that position by 1.
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Question 427: What is the output of this program?
import java.util.”;
class Output

{

public static void main(String args[])
{
ArrayList obj = new ArrayList();
obj.add("A");
obj.add(0, "B");
System.out.printin(obj.size());
}

} ,

c)2
d) Any Garbage Value < ’
Answer : C

a)0
3 >4

Explanation: None.

O

Question 428: What is the output of this prograr@'
import java.util.”;

class Output
{ &
public static void ma@' argsl])
ArrayLlst rrayList();
obj.add("
Obj en city(3)

Jprintin( Obj S|ze

}

a)l
b) 2
c)3
d) 4
Answer : A

Explanation: Although obj.ensureCapacity(3); has manually increased the capacity of obj to 3
but the value is stored only at index 0, therefore obj.size() returns the total number of elements
stored in the obj i:e 1, it has nothing to do with ensureCapacity().
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Question 429: What is the output of this program?
class Output

{

public static void main(String args[])
{
ArrayList obj = new ArrayList();
obj.add("A");
obj.add("D");
obj.ensureCapacity(3);
obj.trimToSize();
System.out.printin(obj.size());

}

o (9{'/

b) 2

c)3 < ’
d) 4

Answer : B s\

Explanation: trimTosize() is used to reduce the size the;rray that underlines an ArrayL.ist

object. 'Q'
%,
&
&
Q
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Java.util — Array Class

Question 430: Which of these standard collection classes implements all the standard functions
on list data structure?

a) Array

b) LinkedList

c) HashSet

d) AbstractSet
Answer : A

Explanation: None.

e

Question 431: Which of this method is used to make all elements of agfegaial to specified value?
a) add()
b) fill() 6
c) all()
d) set()
Answer : B s\

Explanation: fill() method assigns a value to all the@g in an array, in other words, it fills

the array with specified value. Q
.

Question 432: Which method of Array cla;@’ed sort an array or its subset?

a) binarysort() Q
b) bubblesort()
c) sort() \'

d) insert() ‘6&
Answer : C Q
Explanation: None. @

Question 433: Which method can be used to search an element in a list?

a) find()

b) sort()

c) get()

d) binaryserach()
Answer : D

Explanation: binaryserach() method uses binary search to find a specified value. This method
must be applied to sorted arrays.
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Question 434: What is the output of this program?
import java.util.*;
class Arraylist

{

public static void main(String args[])

ArrayList obj1 = new ArrayList();
ArrayList obj2 = new ArrayList();
obj1.add("A");

obj1.add("B");

obj2.add("A");

obj2.add(1, "B");
System.out.printin(obj1.equals(obj2));

}
} 7~

% &

b) 1

c) true

d) false s\
Answer : C O
Explanation: obj1 and obj2 are an object of class ist hence it is a dynamic array which can
increase and decrease its size. obj.add(“X”) a the array element X and obj.add(1,”X”’) adds
element x at index position 1 in the list, Bo bjects obj1 and obj2 contain same elements i:e

A & B thus objl.equals(obj2) method refmgs ¥ue.

X\

Question 435: What is the output Rrogram”
import java.util.*;

cIass Array Q
pub @ main(String args[])

wQ = new int [5];

for (inti=5;i>0;i-)
array[5-i] =1i;
Arrays.sort(array);
for (inti=0;i<5; ++i)
System.out.print(array(i]);;
}

}

a) 12345
b) 54321
c) 1234
d) 5432
Answer : A
Explanation: Arrays.sort(array) method sorts the array into 1,2,3,4,5.
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Question 436: What is the output of this program?
import java.util.*;
class Array
{
public static void main(String args])
{
int array[] = new int [5];
for (inti=5;i>0;i-)
array[5 -] =i;
Arrays.sort(array);
System.out.print(Arrays.binarySearch(array, 4));
}
}

a) 2
b) 3 < ’
c)4
d)5
Answer : B Os\

oL
Q
&
R

Q@

Explanation: None. ,Q\'
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Exceptional Handling

Question 437: When does Exceptions in Java arises in code sequence?

a) Run Time

b) Compilation Time

c) Can Occur Any Time

d) None of the mentioned
Answer : A

Explanation: Exceptions in Java are run-time errors.

Question 438: Which of these keywords is not a part of exception handling?

a) try

b) finally

c) thrown 6
d) catch < )

Answer : C
Explanation: Exceptional handling is managed via 5 ke@ try, catch, throws, throw and

finally. &

Question 439: Which keyword must be used Itor for exceptions?

a) try
b) finally @
c) throw
d) catch ’K\'

Answer : A

Explanation: None. 4@:

Question 440: Whic ord must be used to handle the exception thrown by try block in
some rational manner?

a) try

b) finally

c) throw

d) catch
Answer : D

Explanation: If an exception occurs within the try block, it is thrown and cached by catch block
for processing.
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Question 441: Which keyword is used to manually throw an exception?
a) try
b) finally
c) throw
d) catch
Answer : C

Explanation: None.

Question 442: What is the output of this program?
class exception_handling

{
public static void main(String args[])
{ <

try

| @,
System.out.print("Hello" +" " + 1/ 0);

) \

catch(ArithmeticException e) O

{
System.out.print("World"); Q\'

}

} <

a) }Hello §

b) World
c) Helloworld

d) Hello World Q(b.
<&

Answer : B

Explanation: System. nt() function first converts the whole parameters into a string and then
prints, before “Hello” goes to output stream 1 / 0 error is encountered which is cached by catch
block printing just “World”.
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Question 443: What is the output of this program?
class exception_handling
{
public static void main(String argsf[])
{
ry
{
inta, b;
b=0;
a=5/b;
System.out.print("A");

}
catch(ArithmeticException e)
{
System.out.print("B"); 6

}

a)A
b) B 0
c¢) Compilation Error

d) Runtime Error \'
Answer : B Q

| ‘\Q

Explanation: None. ,Q

Question 444: What is the output ofﬁ yrogram?
class exception_handjy

pubhc static @@ String args[])
|nt ;E

b=0;

a=5/b;

System.out.print("A");
catch(ArithmeticException e)

System.out.print("B");

}
finally
{
System.out.print("C");
}

}
}

e —
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a)A
b) B
c) AC
d) BC
Answer : D

Explanation: finally keyword is used to execute the code before try and catch block end.

Question 445: What is the output of this program?
class exception_handling

{

public static void main(String args])
{

try

{

inti, sum; ( ,
sum =10;
for (i = -1; i < 3 ++)) :s\

sum = (sum/ i);

}

catch(ArithmeticException e) Q\'

{
System.out.print("0"); @
}
System.out.print(syM
}
}
a)0

b) 05 @
c) ComgfatN™&rror

d) Runti ror
Answer : C

Explanation: Value of variable sum is printed outside of try block, sum is declared only in try
block, outside try block it is undefined.

Question 446: Which of the following class can catch all exceptions?

a) RuntimeException
b) Error
c) Exception
d) ParentException
Answer : C
Explanation: None.
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Question 447: Which of the following is a super class of all exception type classes?
a) Catchable
b) RuntimeExceptions
c) String
d) Throwable
Answer : D

Explanation: Throwable is built in class and all exception types are subclass of this class. It is the
super class of all exceptions.

which can be thrown using throw?

a) thrown
b) alloc C}@

p 3

Question 448: Which of the following operator is used to generate instw@)f an exception

c¢) malloc

d) new
Answer : D O‘\

Explanation: new operator is used to create instancaQf an exception. Exceptions may have
parameter as a String or have no parameter. Q

Question 449: Which of the following ke used by calling function to handle exception
thrown by called function? @

a) throws

o sz}

d) catch

Answer : A @
Explanation: A meth@cifies behaviour of being capable of causing exception. Throws
clause in the method declaration guards caller of the method from exception.

Question 450: Which of the following handles the exception when a catch is not used?
a) finally
b) throw handler
c) default handler
d) java run time system
Answer : C

Explanation: Default handler is used to handle all the exceptions if catch is not used to handle
exception. Finally is called in any case.
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Question 451: Which part of code gets executed whether exception is caught or not?
a) finally
b) try
c) catch
d) throw
Answer : A

Explanation: Finally block of the code gets executed regardless exception is caught or not. File
close, database connection close, etc are usually done in finally.

Question 452: At runtime, error is recoverable.
a) True
b) False
Answer : B
Explanation: Error is not recoverable at runtime. The control is losyf™ application.

’
Question 453: Which class is related to all the exceptions thaw)t e caught?

a) Error
b) Exception s\
¢) RuntimeExecption O
d) All of the mentioned \'

Answer : A Q
Explanation: Error class is related to j ava(ru@N or that can’t be caught usually,

RuntimeExecption is subclass of Exceptig hich contains all the exceptions that can be
caught.

Answer : D
Explanation: parselnt() method parses input into integer. The exception thrown by this method is
NumberFormatException.

Question 455: What is the output of this program?
class exception_handling

{

public static void main(String args[])

{
try
{

}

System.out.print("Hello" +" " + 1/ 0);
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finally

{
System.out.print("World");
}
}
}

a) Hello

b) World

¢) Compilation Error

d) It prints information about Exception then World
Answer : D

Explanation: None.

Vel

Question 456: What is the output of this program?
class exception_handling ( '

{
public static void main(String args[]) &
{ O

fry
{ \v
inti, sum; Q
sum = 10; @
for (i=-1;i<3;++i)
{
sum = (sum/i);
System out ?ﬁ\'
catch Ar@Qxcephon e)

.out.print("0");
}

}
}

a)-1

b) 0

c) -10

d) -101
Answer : C

Explanation: For the 1st iteration -1 is displayed. The 2nd exception is caught in catch block and
0 is displayed.
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Question 457: Which keyword is used to generate an exception explicitly?

a) try

b) finally

c) throw

d) catch
Answer : C
Explanation: None.

Question 458: What is the output of this program?
class exception_handling

{

public static void main(String args[])
{
try
{ 6

int a = args.length; C
intb=10/a;
System.out.print(a);
try
Cpamn O
a =
a=al a a; \'

fa::

|nt []c @
c[8] \'
catch Ar%@' utOfBoundException e)
rintin("TypeA");

A
QArithmeticException e)

{
System.out.printin("TypeB");

}
}
}
}

a) TypeA
b) TypeB
c) Compile Time Error
d) 0TypeB
Answer : C
Explanation: Because we can’t go beyond array limit
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Question 459: What is the output of this program?
class exception_handling

{

public static void main(String args])

{
try
{
System.out.print("A");
throw new NullPointerException ("Hello");

catch(ArithmeticException e)

{
System.out.print("B"); @
}
} 9

} &
a)A
b) B
c) Hello 0‘\
d) Runtime Exception

Answer : D Q\'

Explanation: None.

Question 460: What is the output of th|@hm’7

public class San

{
trlng[] args)
n;
}
finally
{
System.out.printin( "Finally" );
}
}
}
a) Finally

b) Compilation fails

c) The code runs with no output

d) An exception is thrown at runtime
Answer : A
Explanation: Because finally will execute always.
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Question 461: What is the output of this program?
public class San

{

public static void main(String argsf[])

{
try
{
System.out.print("Hello world ");

}
finally

{
System.out.printin("Finally executing ");
}
) <

b) The program will not compile because ng h clauses are specified
c) Hello world

} ‘ 1
a) The program will not compile because no %xce WS are specified

d) Hello world Finally executing
Answer : D Q\'

Explanation: None.

b) catch

c) finally & catch

d) none of the ned
Answer : C
Explanation: try bIo oIIowed by any of finally or catch block, try block checks for
exceptions and work ormed by finally and catch block as per the exception.

Question 462: A single try block must ed by which of these?
a) finally &

Question 463: Which of these exceptions handles the divide by zero error?

a) ArithmeticException

b) MathException

c) Illlegal AccessException

d) lllegarException
Answer : A

Explanation: None.
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Question 464: Which of these exceptions will occur if we try to access the index of an array
beyond its length?

a) ArithmeticException

b) ArrayException

c) ArraylndexException

d) ArraylndexOutOfBoundsException
Answer : D

Explanation: ArraylndexOutOfBoundsException is a built in exception that is caused when we
try to access an index location which is beyond the length of an array.

Question 465: What is the output of this program?
class exception_handling
{
public static void main(String args[])
{ @,
try
{

int a = args.length;
intb=10/g;

System.out.print(a); \v
} QO

catch (ArithmeticExcepti
{
System.out.pr
}
) (o
-}
Note : Execution comman
a)0
b) 1
c¢) Compilation Error

d) Runtime Error
Answer : B

java exception_handling

Explanation: None.
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Question 466: What is the output of this program?
class exception_handling

{

public static void main(String args])

{
try
{
throw new NullPointerException ("Hello");

catch(ArithmeticException e)

{

System.out.print("B");
| &
} ( ',)
}

a) A < "'
b) B
c¢) Compilation Error s\

d) Runtime Error

Answer : D \
Explanation: Try block is throwing NuIIPoint@ion but the catch block is used to counter

Arithmetic Exception. Hence NullPointer n occurs since no catch is there which can
handle it, runtime error occurs.

Question 467: What is the output is rogram’7
class exception_

publlc st@ ain(String args]))

{
inta=1;
intb=10/a;
try
{
if (a==1)
a=ala-a;

if (a == 2)
{

int cf] = {1};
c[8]=9;
}

}

e —
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finally

{
System.out.print("A");
}

}

catch (Exception e)

{

}
}
}

System.out.printin("B");

a)A

b) B
c) AB @
d) BA 6

Answer : A < ,

Explanation: The inner try block does not have a catch wiftgcan tackle
ArrayIndexOutOfBoundException hence finally is exec @ \

it hence its catch is never executed and only ‘A’ § d.

ich prints ‘A’ the outer try block
does have catch for ArraylndexOutOfBoundExcepl&r&ix Eption but no such exception occurs in

QO

Question 468: What is the output of this p ‘
class exception_handling

{

public static void mi@%rgs[])
{

try %

{

i ) leMgth;
3
\ .out.print(a);

try
{
if (a==1)
a=ala-a;
if (a==2)

int [Jc = {1},
o8] = 9;
}

}
catch (ArrayIindexOutOfBoundException e)

{
System.out.printin("TypeA");

}
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catch (ArithmeticException e)

{

}
}
}

Note: Execution command line: $ java exception_handling one two
a) TypeA
b) TypeB
¢) Compilation Error
d) Runtime Error
Answer : C

System.out.printin("TypeB");

Explanation: try without catch or finally. Y

Question 469: What is the use of try & catch? C}

a) It allows us to manually handle the exceptign
b) It allows to fix errors &m

c) It prevents automatic terminating of the @
occurs

d) All of the mentioned \,
Answer : D @Q
Explanation: None.
A

Question 470: Which of these ke%’&%?e used for the block to be examined for exceptions?
a) try

b) catch Q

c) throw

d) chec @
Answer : A

Explanation: try is used for the block that needs to checked for exception.

in cases when an exception

Question 471: Which of these keywords are used for the block to handle the exceptions
generated by try block?

a) try

b) catch

c) throw

d) check
Answer : B

Explanation: None.
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Question 472: Which of these statements is incorrect?

a) try block need not to be followed by catch block
b) try block can be followed by finally block instead of catch block
c) try can be followed by both catch and finally block
d) try need not to be followed by anything
Answer : D

Explanation: try must be followed by either catch or finally block.

Question 473: What is the output of this program?
class Output

{
public static void main(String args[])
| <

fry

| O
inta=0;
intb = 5: Q\
intc=b/a;
System.out.print("Hello"); O

}

E:atch(Exception e) Q\'

System.out.print("World");
}
}

) N
a) Hello
b) World
c) HellowOr Q
d) Compybe ro

Answer : B
Explanation: None.

Question 474: What is the output of this program?
class Output

public static void main(String args[])
{
try
{
inta=0;
intb=5;
intc=alb;
System.out.print("Hello");
}
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catch(Exception e)

System.out.print("World");

}
}
}
a) Hello

b) World

c¢) HellowOrld

d) Compilation Error
Answer : A

Explanation: None.

Question 475: What is the output of this program?

class Output

{

public static void main(String args[]) s\
{ O

try
C N
oo éQ
intc=b/a;
System.out.print("{@
}
} } Qa
Hell
5 worly &

C) HeII
d) Compildon Error

Answer : D
Explanation: try must be followed by either catch or finally.
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Question 476: What is the output of this program?
class Output

{

public static void main(String args])

{
try
{
inta=0;
intb =5;
intc=a/b;
System.out.print("Hello");

}
finally
{ é(’

System.out.print("World");

, O

| S
a) Hello

b) World
c) HellowOrld Q\l
d) Compilation Error @

Answer : C

Explanation: finally block is always @fter try block, no matter exception is found or not.

class Output

Question 477: What is the oute::®h|s program?

|d main(String args][])

try
{
inta=0;
inth =95;
intc=b/a;
System.out.print("Hello");
}

catch(Exception e)

{
System.out.print("World");

}
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finally
{
System.out.print("World");
}
}
}
a) Hello
b) World
c) HellowOrld
d) WorldWorld

Answer : D
Explanation: finally block is always executed after tryblock, no matter eyception is found or not.
catch block is executed only when exception is found. Here divide by xception is found

hence both catch and finally are executed. 7

Question 478: Which method return description of an excepti‘n? 3

a) getException()
b) getl\{lessage() _ 0‘\

c) obtainDescription()
d) obtainException()
Answer : B \"

Explanation: getMessage() returns a descriptigfMpi¥he exception.

Question 479: Which of these methods ¢ @ to print stack trace?

a) obtainStackTrace()
b) prmtStackTrace()

C) getStackTrace
d) dlsplaySta
Answer : B

Explanation: None

Question 480: What is the output of this program?
class Myexception extends Exception

{

int detail;
Myexception(int a)

{

detail = a;

}
public String toString()
{

}
}

return "detail";
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class Output

static void compute (int a) throws Myexception

{

throw new Myexception(a);

public static void main(String args|[])

{
try
{
compute(3);

}

catch(Myexception €)

{
System.out.print("Exception");
} 6

| @
}
a)3
b) Exception Os\
¢) Runtime Error

d) Compilation Error \'
Answer : B Q

Explanation: Myexception is self defined‘@n.

class Myexception Exception

{
int detail;
N
R
dewff = a;

}
public String toString()

{

}
}

class Output

{

static void compute (int a) throws Myexception

{
}

\
Question 481: What is the output o;&g‘hgram?

return "detail";

throw new Myexception(a);
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public static void main(String args[])

{
try
{
compute(3);

}

catch(DevideByZeroException e)

{

System.out.print("Exception”);

}
}

} ,

a)3
b) Exception 6@

¢) Runtime Error

d) Compilation Error < ’
Answer : C

Explanation: Mexception is self defined exception, we erating Myexception but catching
DevideByZeroException which causes error. X

N
Question 482: What is the output of this prog@Q
class exception_handling
{
public static void main(S )
( N\
try @
{
throw ointerException ("Hello");
@p t(llAl!);
}
at

C

{

}
}
}

thmeticException e)

System.out.print("B");

a) A

b) B

c¢) Compilation Error

d) Runtime Error
Answer : D
Explanation: try block is throwing NullPointerException but the catch block is used to counter
Arithmetic Exception. Hence NullPointerException occurs since no catch is there which can
handle it, runtime error occurs.
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Question 483: What is the output of this program?
class Myexception extends Exception

{

int detail;
Myexception(int a)

{

detail =

}
public String toString()
{

return "detail";
}
} f:§<’

class Output
| O
static void compute (int a) throws Myexcep%m\

{
throw new Myexception(a); O
}

public static void main(String arg%\v

{
try

compute §
catch Exceptm@u

Syst int("Exception");

}
QO
)

a)3

b) Exception

¢) Runtime Error

d) Compilation Error
Answer : B

Explanation: Myexception is self defined exception.

Prepared By : Mr. M.Islabudeen, Associate Professor, CSE, SAEC, Ramanathapuram

197




RAMANATHAPURAM

SYED AMMAL ENGINEERING COLLEGE

(Accreditated by NBA)

Department of Computer Science and Engineering

JAVA PROGRAMMING

TOV
SUD

. 1S0 9001

Question 484: What is the output of this program?
class exception_handling
{
public static void main(String args(])
{
try
{
int a = args.length;
intb=10/g;
System.out.print(a);
try
{
if(a==1)
a=ala-a;
if (@a==2)

{ @
intc={1};

| o[8] = 9; O‘\

}
catch ( ArraylndexOutOfBoun %mn e)
{

System out.printin("
catch (Arithmeti fioh e)

System o@n ("TypeB");

} Q@
}
}
Note : Execution command line : $ java exception_handling one

a) TypeA

b) TypeB

¢) Compilation Error

d) Runtime Error
Answer : C

Explanation: try without catch or finally
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isAlive(), Join() & Thread Synchronization

Question 485: Which of this method can be used to make the main thread to be executed last
among all the threads?

a) stop()

b) sleep()

c) join()

d) call()
Answer : B

Explanation: By calling sleep() within main(), with long enough delay to ensure that all child
threads terminate prior to the main thread.

/
Question 486: Which of this method is used to find out that a threqﬁi&ﬁmning or not?

a) run()

b) Alive() < ‘O'
c) isAlive()

d) checkRun() s\
Answer : C O

Explanation: The isAlive( ) method returns true i@mead upon which it is called is still

running. It returns false otherwise.
Question 487: What is the default valug érity variable MIN_PRIORITY AND
MAX_PRIORITY?

a) 0 & 256
b)0&1

0)1&10 Qa
d) 1 & 256
Answer : C Q®

Explanation: None.

Question 488: Which of these method waits for the thread to terminate?

a) sleep()

b) isAlive()

¢) join()

d) stop()
Answer : C

Explanation: None.

Prepared By : Mr. M.Islabudeen, Associate Professor, CSE, SAEC, Ramanathapuram

199




SYED AMMAL ENGINEERING COLLEGE

RAMANATHAPURAM

Department of Computer Science and Engineering < Tg{}/'

(Accreditated by NBA)

JAVA PROGRAMMING

Question 489: Which method is used to explicitly set the priority of a thread?
a) set()
b) make()
c) setPriority()
d) makePriority()

Answer : C

Explanation: The default value of priority given to a thread is 5 but we can explicitly change that
value between the permitted values 1 & 10, this is done by using the method setPriority().

Question 490: What is synchronization in reference to a thread?
a) It’s a process of handling situations when two or more thgeads need access to a
shared resource
b) It’s a process by which many thread are able to ac shared resource

simultaneously
¢) It’s a process by which a method is able to acc@ny different threads
simultaneously
d) It’s a method that allow too many thread cess any information require
Answer : A 6

Explanation: When two or more threads need to he same shared resource, they need some
way to ensure that the resource will be used b one thread at a time, the process by which
this is achieved is called synchronization.

)3
Question 491: What is the output of, gram?
class newthread exte ead
{
newthread()

{

%@hread");
}

public void run()

{
System.out.printin(this);

}

class multithreaded_programing

{

public static void main(String args[])

{

new newthread();

}
}
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a) My Thread
b) Thread[My Thread,5,main].
¢) Compilation Error
d) Runtime Error
Answer : B

Explanation: Although we have not created any object of thread class still we can make a thread

pointing to main method, we can refer it by using this.

Question 492: What is the output of this program?
class newthread extends Thread

Thread t;
newthread()
{ 6
t = new Thread(this,"My Thread");
t.start();
}
public void run() O

try \'
{ tjoin() Q

System.out.printin(t.get

}
catch(Exception e)
{ \v

System.out. i ception");

@Q

d_programing

{

cIass

pUblIC static void main(String args[])

{

new newthread();

}
}

a) My Thread
b) Thread[My Thread,5,main].
c) Exception
d) Runtime Error
Answer : D

Explanation: join() method of Thread class waits for thread being called to finish or terminate,
but here we have no condition which can terminate the thread, hence code ‘t.join()’ leads to

runtime error and nothing will be printed on the screen.
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Question 493: What is the output of this program?
class newthread extends Thread

{
Thread t;

newthread)

{
t = new Thread(this,"New Thread");

t.start();

public void run()

{
System.out.printin(tisAlive()) @
}
| 9

class multithreaded_programing < )
{

public static void main(String args]) s\

{ O

new newthread();

}} AQ\'

a) 0 \
b) 1 @
c) true
d) false {\'
Answer : C @
Explanation: isAlive() me sed to check whether the thread being called is running or not,

here thread is the ma@ d which is running till the program is terminated hence it returns
true.

Question 494: What is the output of this program?
class newthread extends Thread
{
Thread t1,t2;
newthread)

t1 = new Thread(this,"Thread_1");
t2 = new Thread(this,"Thread_2");
t1.start();
t2.start();

}
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public void run()
{
t2.setPriority(Thread.MAX_PRIORITY);
System.out.print(t1.equals(t2));
}
}

class multithreaded_programing

{

public static void main(String args[])

{

new newthread();

b) false
c) truetrue < ’
d) falsefalse
Answer : D s\
Explanation: This program was previously done by§ing;unnable interface, here we have used

}
) {//
a) true 6

Thread class. This shows both the method are e we can use any of them to create a

thread.

Question 495: Which method is used t Ment Runnable interface?
a) stop()
b) run()

¢) runThread()

d) stopThread Q
Answer : B

Explanation: To mp@ Runnable interface, a class needs only to implement a single method
called run().

Question 496: Which method is used to begin the execution of a thread?

a) run()

b) start()

¢) runThread()

d) startThread()
Answer : B

Explanation: None.
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Question 497: Which statement is incorrect?
a) A thread can be formed by implementing Runnable interface
b) A thread can be formed by a class that extends Thread class
c) start() method is used to begin execution of the thread
d) run() method is used to begin execution of a thread before start() method in
special cases

Answer : D

Explanation: run() method is used to define the code that constitutes the new thread, it contains
the code to be executed. start() method is used to begin execution of the thread that is execution
of run(). run() itself is never used for starting execution of the thread.

Question 498: What is the output of this program?
class newthread implements Runnable C}

Thread t;
newthread() s\
| O
t = new Thread(this,"My Thread")
t.start(); \"

} e
public void run()
{
System.out.print@());
}

}

class multithre rograming

{
puky ggid main(String args[])
{

new newthread();
}
}
a) My Thread
b) Thread[My Thread,5,main].
c) Compilation Error
d) Runtime Error
Answer : A

Explanation: None.
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Question 499: What is the output of this program?
class newthread implements Runnable

Thread t;
newthread()

{
t = new Thread(this,"My Thread");

t.start();
}

public void run()

{
System.out.printin(t);

}
}
class multithreaded_programing
{ 6

public static void main(String args|[])
{
new newthread(); &
} O
}

a) My Thread

b) Thread[My Thread,5,main]. Q’\'

¢) Compilation Error

d) Runtime Error @
Answer : B
Explanation: None. ,&\,

Question 500: What is the ou %is program?
class newth lements Runnable

{
Id()

{
t = new Thread(this,"My Thread");

t.start();
}

class multithreaded_programing

{
public static void main(String args[])

{

}
}

new newthread();
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a) My Thread
b) Thread[My Thread,5,main].
¢) Compilation Error
d) Runtime Error
Answer : C

Explanation: Thread t has been made by using Runnable interface, hence it is necessary to use
inherited abstract method run() method to specify instructions to be implemented on the thread,

since no run() method is used it gives a compilation error.

Question 501: What is the output of this program?

class newthread implements Runnable
{
Thread t; 6

newthread()
| @,
t = new Thread(this,"New Thread");

t.start(); s\
} O
public void run()
{ \
t.setPriority(Thread. MAX_R) TY);

System.out.printin(t);

}

{

}
}

ead();

a) Thread[New Thread,0,main]

b) Thread[New Thread,1,main]

c) Thread[New Thread,5,main]

d) Thread[New Thread,10,main]
Answer : D

Explanation: Thread t has been made with default priority value 5 but in run method the priority

has been explicitly changed to MAX_PRIORITY of class thread, that is 10 by code
‘t.setPriority(Thread. MAX PRIORITY);’ using the setPriority function of thread t.
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Question 502: What is the output of this program?
class newthread implements Runnable
{

Thread t;

newthread()

{
t1 = new Thread(this,"Thread_1");
t2 = new Thread(this,"Thread_2");
t1.start();
t2.start();

}

public void run()

{
t2.setPriority(Thread. MAX_PRIORITY); 6

System.out.print(t1.equals(t2));

} @,
}
class multithreaded_programing s\
| O

public static void main(String args]])
{ \E

thread();
| } new newthrea @Q
o {&é:

c) truetrue

d) falsefalse Qa
Answer : D @

Explanation: Thread@tZ are created by class newthread that is implementing runnable
interface, hence both the"threads are provided their own run() method specifying the actions to be
taken. When constructor of newthread class is called first the run() method of t1 executes than
the run method of t2 printing 2 times “false” as both the threads are not equal one is having
different priority than other, hence falsefalse is printed.

Question 503: Which method of Thread class is used to find out the priority given to a thread?

a) get()

b) ThreadPriority()

c) getPriority()

d) getThreadPriority()
Answer : C

Explanation: None.
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Question 504: Which method of Thread class is used to suspend a thread for a period of time?

a) sleep()
b) terminate()

c) suspend()

d) stop()
Answer : A

Explanation: None.

Question 505: Which function of pre defined class Thread is used to check weather current

thread being checked is still running? ys
a) isAlive() %
b) Join()
¢) isRunning() 6
d) Alive() { )
Answer : A

Explanation:isAlive() function is defined in class Threa@s used for implementing
multithreading and to check whether the thread calld( upon is still running or not.
N4

Question 506: What is the output of this pro@.
class multithreaded_programy

{
public static void mag args[])
{
Thread t = @urrentThread();
t.setNa e%ﬂhread");
S te@. intin(t);
}
}

a) Thread[5,main]

b) Thread[New Thread,5]

¢) Thread[main,5,main]

d) Thread[New Thread,5,main]
Answer : D

Explanation: None.
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Question 507: What is the priority of the thread in output of this program?
class multithreaded_programing

{

public static void main(String args[])
{
Thread t = Thread.currentThread();
t.setName("New Thread");
System.out.printin(t.getName());
}
}
a) main
b) Thread

c) New Thread
d) Thread[New Thread,5,main] 6

Answer : C

Explanation: The getName() function is used to obtain the‘{r@he thread, in this code the

name given to thread is ‘New Thread’.

Question 508: What is the name of the thread in o ut%ﬁhis program?
class multithreaded_programing

{

public static void main(Strin

Thread t = Thread.g®&eNThread();
System.out.pri etPriority());
}

QN
a)0
9

c)4
d)5
Answer : D

Explanation: The default priority given to a thread is 5.
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Question 509: What is the name of the thread in output of this program?
class multithreaded_programing

{

public static void main(String args[])

{
Thread t = Thread.currentThread();

System.out.printin(t.isAlive());

}

}
a)0
b) 1

c) true

d) false

Answer : C %
Explanation: Thread t is seeded to currently program, hence w@ r
thread becomes active & code ‘t.isAlive’ returns true. K

un the program the

hd

Question 510: What is multithreaded programming?
a) It’s a process in which two differen&ocesses run simultaneously
b) It’s a process in which two or m@ of same process run simultaneously
¢) It’s a process in which many (@ t process are able to access same

information
d) It’s a process in which afigle®process can access information from many

sources
Answer : B &

Explanation: Multithreaded
process run simultaneousl

mming a process in which two or more parts of the same

Question 511: Which ese are types of multitasking?
a) Process based
b) Thread based
¢) Process and Thread based
d) None of the mentioned
Answer : C

Explanation: There are two types of multitasking: Process based multitasking and Thread based
multitasking.
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Question 512: Thread priority in Java is?
a) Integer
b) Float
c) double
d) long
Answer : A

Explanation: Java assigns to each thread a priority that determines hoe that thread should be
treated with respect to others. Thread priority is integers that specify relative priority of one
thread to another.

p
Question 513: What is the priority of the thread in output of this prog%

class multithreaded_programing

{
public static void main(String args]]) < )
{

Thread t = Thread.currentThread(); O‘\

System.out.printin(t);

3 Q™
s <
c)0 @
Answer : B O &\'

Explanation: The output of E@'ﬂ is Thread[main,5,main], in this priority assigned to the

thread is 5. It’s the default ince we have not named the thread they are named by the

group to they belon ethod.

Question 514: What requires less resources?
a) Thread
b) Process
¢) Thread and Process
d) Neither Thread nor Process
Answer : A

Explanation: Thread is a lightweight and requires less resources to create and exist in the
process. Thread shares the process resources.
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Question 515: What does not prevent JVM from terminating?
a) Process
b) Daemon Thread
¢) User Thread
d) JVM Thread
Answer : B

Explanation: Daemon thread runs in the background and does not prevent JVM from
terminating. Child of daemon thread is also daemon thread.

Question 516: What decides thread priority?
a) Process
b) Process scheduler @
c) Thread
d) Thread scheduler 6
Answer : D { ,

Explanation: Thread scheduler decides the priority of th d execution. This cannot
guarantee that higher priority thread will be executed fi epends on thread scheduler

implementation that is OS dependent. X
Q

cates CPU time to available runnable thread
ivide the available CPU time to available runnable

Question 517: What is true about time slicin
a) Time slicing is OS service
b) Time slicing is the pr

thread

c¢) Time slicing dep ’ga its implementation in OS

d) Time slicing a more resources to thread
Answer : B

Explanation: Time s@s:ﬁe process to divide the available CPU time to available runnable
thread.

Question 518: Deadlock is a situation when thread is waiting for other thread to release acquired
object.

a) True
b) False
Answer : A

Explanation: Deadlock is java programming situation where one thread waits for an object lock
that is acquired by other thread and vice-versa.
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Question 519: What is true about threading?
a) run() method calls start() method and runs the code
b) run() method creates new thread
¢) run() method can be called directly without start() method being called
d) start() method creates new thread and calls code written in run() method
Answer : D

Explanation: start() eventually calls run() method. Start() method creates thread and calls the
code written inside run method.

Question 520: Which of the following is a correct constructor for thread?

a) Thread(Runnable a, String str)

b) Thread(int priority) @
c¢) Thread(Runnable a, int priority)

d) Thread(Runnable a, ThreadGroup t) C}@

Answer : A

Explanation: Thread(Runnable a, String str) is a valid co tor for thread. Thread() is also a
valid constructor.

Question 521: Which of the following will ens@‘fﬁread will be in running state?
a) yield()

b) notify() @Q
c) wait()
d) Thread.killThread() \,

Explanation: wait() always he current thread to go into the object’s wait pool. Hence,
using this in a thread wj 10NN running state.

Answer : C

Question 522: Which e following stops execution of a thread?
a) Calling stop() method on a Thread object
b) Calling notify() method on an object
c¢) Calling wait() method on an object
d) Calling read() method on an InputStream object
Answer : B

Explanation: notify() wakes up a single thread which is waiting for this object.
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Question 523: Which keyword is used to implement synchronization?
a) synchronize
b) syn
C) synch
d) synchronized
Answer : D

Explanation: None.

Question 524: Which method is used to tell the calling thread to give up a monitor and go to
sleep until some other thread enters the same monitor?

a) wait()

b) notify() @

c) notifyAll()

d) sleep() 6
Answer : A { ,

Explanation: wait() method is used to tell the calling thr give up a monitor and go to sleep
until some other thread enters the same monitor. This h n avoiding polling and minimizes

CPU idle time. X
N
Question 525: Which method wakes up the fj ad that called wait()?

a) wake() @

b) notify()

c) start() \'

d) notifyAll() &
Answer : B &

Explanation: None.

Question 526: Which od wakes up all the threads?
a) wakeAll()
b) notify()
c) start()
d) notifyAll()
Answer : D

Explanation: notifyAll() wakes up all the threads that called wait() on the same object. The
highest priority thread will run first.
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Question 527: What is the output of this program?
class newthread extends Thread
{
Thread t;
String name;
newthread(String threadname)
{
name = threadname;
t = new Thread(this,name);
t.start();
}

public void run()

0 @Q/

class multithreaded_programing

{ @,
public static void main(String args[])

{ X\
newthread obj1 = new newthread("o
newthread obj2 = new newthreagg'two,
try Q
{

obj1.t.wait(); @
System.out.print(@mive());
}
catch(Excepti ﬂ\'
{
Syst %t("Main thread interrupted");
~&
}
}
a) true
b) false

¢) Main thread interrupted
d) None of the mentioned
Answer : C

Explanation: obj1.t.wait() causes main thread to go out of processing in sleep state hence causes

exception and “Main thread interrupted” is printed.
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Question 528: What is the output of this program?
class newthread extends Thread
{
Thread t;
String name;
newthread(String threadname)
{
name = threadname;
t = new Thread(this,name);
t.start();

}

public void run()
U <

class multithreaded_programing

{ _ C}
public static void main(String args[])

{
newthread obj1 = new newthread("o r’
newthread obj2 = new newthreagg'tw
try
{
Thread.sleep(1000); @
System out. prmt@llve );
catch (Interrup &thon e)
Sys "rint("Main thread interrupted");
~&
}
}
a) true
b) false

¢) Main thread interrupted
d) None of the mentioned
Answer : B

Explanation: Thread.sleep(1000) has caused all the threads to be suspended for some time, hence

onjl.t.isAlive() returns false.
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Question 529: What is the output of this program?
class newthread extends Thread

{
Thread t;

String name;
newthread(String threadname)

{

name = threadname;
t = new Thread(this,name);
t.start();

}

public void run()
{}
}
class multithreaded_programing
{ @,
public static void main(String args[])
{ X\
newthread obj1 = new newthread("o
o )

newthread obj2 = new newthreagg'tw

try
{

System.out.print(obj %Is(objzt));
}
catch(Exception e
{
Systerr@w nt("Main thread interrupted");

}
}

VA
a) true Q
b) false
) Main thread interrupted
d) None of the mentioned

Answer : B

Explanation: Both obj1 and obj2 have threads with different name that is “one” and “two” hence
objl.t.equals(obj2.t) returns false.

\ Question 530: What is the output of this program?
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class newthread extends Thread

Thread t;
newthread)

{
t1 = new Thread(this,"Thread_1");

t2 = new Thread(this,"Thread_2");
t1.start();
t2.start();

public void run()

{
t2.setPriority(Thread. MAX_PRIORITY);
System.out.print(t1.equals(t2));
} 9
} @
class multithreaded_programing
{ X\
public static void main(String args[]) O

{

thread(); \v
| } new newthrea Q
e \Q\g

c) truetrue

d) falsefalse @g

Answer : D

Thread class. This sh oth the method are equivalent, we can use any of them to create a

Explanation: This pr@% previously done by using Runnable interface, here we have used
thread.
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Input & Output Basics

Question 531: What does AWT stands for?

a) All Window Tools

b) All Writing Tools

c) Abstract Window Toolkit

d) Abstract Writing Toolkit
Answer : C

Explanation: AWT stands for Abstract Window ToolKit, it is used by applets to interact with the
user.

Question 532: Which of these is used to perform all input & output og#fajons in Java?
a) streams
b) Variables 6
c) classes
d) Methods
Answer : A s\

Explanation: Like in any other language, streams a Qr input and output operations.

Question 533: What is the output of this pro e input given is ‘abeqfghgbed’?
class Input_Output g@

{
{

public static void mai @s{] throws IOException

char c;
BufferedR J = new BufferedReader(new InputStreamReader(System.in));

O
Qhar) obj.read();
stem.out.print(c);

} while(c !="q");
}
}

a) abcqgfgh

b) abc

c) abcq

d) abcqfghq
Answer : C

Explanation: None.
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Reading & Writing Console
Question 534: Which exception is thrown by read() method?
a) IOException
b) InterruptedException
c) SystemException
d) SystemInputException
Answer : A

Explanation: read method throws IOException.

Question 535: Which of these methods can be used to writing console output?
a) print()

b) printin()
c) write() 6
d) all of the mentioned
Answer : D s\
Explanation: None. 0

Question 536: Which of these classes are used b x}acter streams output operations?
a) InputStream

b) Writer @
c) ReadStream @
d) InputOutputStream
Answer : B &\'

Explanation: Character strez@;mriter and Reader classes for input & output operations.

'}
Question 537: Whi »/Used to read from a file?
a) Input
b) BufferedinputStream
c) FilelnputStream
d) BufferedFilelnputStream
Answer : C

Explanation: None.
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Question 538: What is the output of this program?
class output

{

public static void main(String args|[])
{
String a="hello i love java";
System.out.printin(indexof('i’)+" "+indexof('0’)+" "+lastindexof('i')+" "+lastindexof('0") ));

}
}

) 6469
b)5459
c)7889

d)4369
Answer : A %

Explanation: indexof(‘c’) and lastIndexof(‘c”) are pre defined functioll which are used to get the
index of first and last occurrence of the character pointed lgy ¢ given array.

Question 539: Which exception is thrown in cases whe Ile specified for writing is not

found?
a) I0Exception é’
b) FileException @
c) FileNotFoundException
d) FileInputException @
Answer : C

Explanation: In cases when th '@Ecified is not found, then FileNotFoundException is
thrown by java run-time syst rlier versions of java used to throw IOException but after

Java 2.0 they throw FileN Exception.

Question 540: Which ese methods are used to read in from file?

a) get()

b) read()

c) scan()

d) readFilelnput()
Answer : B

Explanation: Each time read() is called, it reads a single byte from the file and returns the byte as
an integer value. read() returns -1 when the end of the file is encountered.

Prepared By : Mr. M.Islabudeen, Associate Professor, CSE, SAEC, Ramanathapuram 221




SYED AMMAL ENGINEERING COLLEGE

RAMANATHAPURAM

Department of Computer Science and Engineering < Tg{}/'

(Accreditated by NBA)

JAVA PROGRAMMING

Question 541: Which of these values is returned by read() method is end of file (EOF) is
encountered?

a)0

b) 1

c)-1

d) Null
Answer : C

Explanation: Each time read() is called, it reads a single byte from the file and returns the byte as
an integer value. read() returns -1 when the end of the file is encountered.

Question 542: Which of these exception is thrown by close() and read()gnethods?
a) IOException

b) FileException
c) FileNotFoundException
d) FilelnputOutputException { ’

Answer : A

Explanation: Both close() and read() method throw IOEion.

Question 543: Which of these methods is used @)Q&) into a file?
a) put()

b) print() @Q

c) write()

d) writeFile() X
Answer : C @%

Explanation: None. &
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Question 544: Which of these functions is called to display the output of an applet?

a) display()

b) paint()

c) displayApplet()

d) PrintApplet()
Answer : B

Explanation: Whenever the applet requires to redraw its output, it is done by using method
paint().

Question 545: Which method can be used to output a string in an applgf? ,
a) display()
b) print() 6
c) drawString() < )

d) transient()
Answer : C s\

Explanation: drawString() method is defined in Gra%@ss, it is used to output a string in an

applet. Q
.

Question 546: Which method is a part of A@d Window Toolkit (AWT) ?

a) display() Q
b) paint()
¢) drawsString() \'

d) transient() @g
Answer : B

Explanation: paint() Q@act method defined in AWT.

Question 547: What is the Message is displayed in the applet made by this program?

import java.awt.”;
import java.applet.”;
public class myapplet extends Applet
{

public void paint(Graphics g)

{

g.drawString("A Simple Applet", 20, 20);

}

}
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a) A Simple Applet
b) A Simple Applet 20 20
¢) Compilation Error
d) Runtime Error
Answer : A
Explanation: None.

Question 548: What is the output of this program?
import java.awt.”;
import java.applet.”;
public class myapplet extends Applet

{
Graphic g;
g.drawString("20", 20, 20);
}
a) 20 20 20 c)
b) “20” 20 20
c¢) Compilation Error 0‘\

d) 20

Answer : C

Explanation: To implement the method drawStri eed first need to define abstract method
of AWT that is paint() method. Without paint od we can not define and use drawString or
any Graphic class methods.

»

Question 549: Which of these pack tains all the classes and methods required for even
handling in Java?

a) java.applet Q’@"

b) java.awt

C) java.event

d) java. €
Answer : D
Explanation: Most of the event to which an applet response is generated by a user. Hence they
are in Abstract Window Kit package, java.awt.event.

Question 550: What is an event in delegation event model used by Java programming language?
a) An event is an object that describes a state change in a source
b) An event is an object that describes a state change in processing
c) An event is an object that describes any change by the user and system
d) An event is a class used for defining object, to create events
Answer : A
Explanation: An event is an object that describes a state change in a source.
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Question 551: Which method is used to register a keyboard event listener?

a) KeyL.istener()

b) addKistener()

c) addKeyL.istener()

d) eventKeyboardListener()
Answer : C

Explanation: None.

Question 552: Which method is used to register a mouse motion listener?

a) addMouse()

b) addMouseL.istener() @
c¢) addMouseMotionL.istner()

d) eventMouseMotionListener() C}@

Answer : C

Explanation: None. \

ag

Question 553: What is a listener in context to even®gandling?
a) A listener is a variable that is nota{ie en an event occurs
b) A listener is a object that is n% hen an event occurs
c) A listener is a method that { ed when an event occurs

d) None of the mentione
Answer : B

Explanation: A listener is a obj is notified when an event occurs. It has two major
requirements first, it must Eg n registered with one or more sources to receive notification

about specific event types, s@&ondly it must implement methods to receive and process these
notifications. @

Question 554: Which method can be used to determine the type of event?

a) getID()

b) getSource()

c) getEvent()

d) getEventObject()
Answer : A

Explanation: getID() can be used to determine the type of an event.
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Question 555: Which class is super class of all the events?

a) EventObject

b) EventClass

c¢) ActionEvent

d) ItemEvent
Answer : A

Explanation: EventObject class is a super class of all the events and is defined in java.util
package.

Question 556: Which of these events will be notified if scroll bar is manipulated?

a) ActionEvent

b) ComponentEvent @

¢) AdjustmentEvent

d) WindowEvent 6
Answer : C { ,

Explanation: AdjustmentEvent is generated when a scro is manipulated.

a) ActionEvent

b) ComponentEvent @
c¢) AdjustmentEvent @
d) WindowEvent

Answer : D ,&\'

Explanation: WindowEvent is g§ { M when a window is activated, closed, deactivated,
deiconfied, iconfied, opened8 ﬁi it.

Question 557: Which of these events will be gm%@if we close an applet’s window?

)

Question 558: Whia @ ese events is generated when a button is pressed?

a) Actiontént

b) KeyEvent

¢) WindowEvent

d) AdjustmentEvent
Answer : A

Explanation: Action event is generated when a button is pressed, a list item is double-clicked or a

menu item is selected.
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Question 559: Which of these methods can be used to obtain the command name for invoking
ActionEvent object?

a) getCommand()

b) getActionCommand()

c) getActionEvent()

d) getActionEventCommand()
Answer : B

Explanation: None.

Question 560: Which integer constants defined in ActionEvent class?

a) ALT_MASK

b) CTRL_MASK @

¢) SHIFT_MASK

d) All of the mentioned 6
Answer : D { ,

Explanation: Action event defines 4 integer constants A ASK, CTRL_MASK,
SHIFT_MASK and ACTION_PERFORMED.

P

Question 561: Which of these methods can be @o‘ﬁnow which key is pressed?
a) getKey()

b) getModifier() @Q
c) getActionKey()
d) getActionEvent() \'

Explanation: The getModifj
(ALT, CTRL, META,

Answer : B

ethods returns a value that indicates which modifiers keys
re pressed when the event was generated.

Question 562: Which ese events is generated when the size of an event is changed?
a) ComponentEvent
b) ContainerEvent
¢) FocusEvent
d) InputEvent
Answer : A

Explanation: A ComponentEvent is generated when the size, position or visibility of a
component is changed.
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Question 563: Which of these events is generated when the component is added or removed?
a) ComponentEvent
b) ContainerEvent
¢) FocusEvent
d) InputEvent
Answer : B

Explanation: A ContainerEvent is generated when a component is added to or removed from a
container. It has two integer constants COMPONENT_ADDED & COMPONENT_REMOVED.

Question 564: Which of these methods can be used to get reference to a component that was
removed from a container? ys
a) getComponent()

b) getchild()
¢) getContainerComponent() C}

d) getComponentChild()
Answer : B

Explanation: The getChild() method returns a reference @e component that was added to or

removed from the container. X
N
Question 565: Which of these events is gene hen computer gains or loses input focus?

a) ComponentEvent @

b) ContainerEvent

¢) FocusEvent \'

d) InputEvent &
Answer : C &

Explanation: None.

Question 566: Focus is subclass of which of these classes?
a) ComponentEvent
b) ContainerEvent
c) ltemEvent
d) InputEvent
Answer : A

Explanation: None.
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Question 567: Which of these events is generated when the window is closed?
a) TextEvent
b) MouseEvent
¢) FocusEvent
d) WindowEvent
Answer : D
Explanation: A WindowEvent is generated when a window is opened, close, activated or
deactivated.

Question 568: Which of these methods can be used to obtain the coordinates of a mouse?
a) getPoint()

b) getCoordinates()
c) getMouseXY/()
d) getMouseCordinates()

Answer : A
Explanation: getPoint() method can be used to obtain coordin@a mouse, alternatively we
can use getX() and getY() methods for x and y coordinates{ e respectively.

Question 569: Which of these are integer constants of @Oent class?
a) TEXT_CHANGED \
b) TEXT_FORMAT_CHANGED Q
c) TEXT_VALUE_CHANGED@
d) TEXT_slIZE_CHANGED

Answer : C
Explanation: TextEvent defines a si iMeger constant TEXT VALUE_CHANGED.
Question 570: MouseEvent is, Ss of which of these classes?

a) Componen

b) Contaipg
C) Item
d) InputEWN

Answer : D
Explanation: None.

Question 571: Which of these methods is used to get x coordinate of the mouse?
a) getX()
b) getXCoordinate()
¢) getCoordinateX()
d) getPointX()
Answer : A
Explanation: getX() and getY () are used to obtain X AND Y coordinates of the mouse.
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Question 572: Which of these are constants defined in WindowEvent class?

a) WINDOW_ACTIVATED

b) WINDOW_CLOSED

c) WINDOW_DEICONIFIED

d) All of the mentioned
Answer : D
Explanation: WindowEvent class defines 7 constants - WINDOW_ACTIVATED,
WINDOW_CLOSED, WINDOW_OPENED, WINDOW_DECONIFIED,
WINDOW_CLOSING, WINDOW_DEACTIVATED, WINDOW _ICONIFIED.

Question 573: Which of these is superclass of WindowEvent class?
a) WindowEvent
b) ComponentEvent @
c) ItemEvent 6

d) InputEvent
Answer : B Q
Explanation: ComponentEvent is superclass of Container%mt, usEvent, KeyEvent,

MouseEvent and WindowEvent.

ag

Question 574: Which of these interfaces handles thXQ/'ent when a component is added to a

container? Q
a) ComponentListener @
b) ContainerListener @
¢) FocusL.istener
d) InputListener \'
Answer : B &

Explanation: The ContainerLigiq

b) ContainerListener

c) ActionListener

d) InputListener
Answer : C
Explanation: ActionListener defines the actionPerformed() method that is invoked when an
adjustment event occurs.
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Question 576: Which of these interfaces define a method itemStateChanged()?
a) ComponentListener
b) ContainerListener
c) ActionListener
d) ItemListener
Answer : D
Explanation: None.

Question 577: Which of these methods will be invoked if a character is entered?
a) keyPressed()
b) keyReleased()

c) keyTyped()
d) keyEntered()
Answer : C 6

Explanation: None. o~

)
Question 578: Which of these methods is defined in Mouwo Adapter class?

a) mouseDragged()
b) mousePressed() O
¢) mouseReleased()

d) mouseClicked() Q\'

Answer : A zf
Explanation: The MouseMotionAdapter cl nes 2 methods — mouseDragged() and
mouseMoved().

N
Question 579: Which of these is p&erclass of all Adapter classes?
a) Applet N
b) Componen

c) Event
d) Inpu
Answer : A

Explanation: All Adapter classes extend Applet class.
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Random Number

Question 580: Which class is used to generate random number?

a) java.lang.Object
b) java.util.randomNumber
¢) java.util.Random
d) java.util.Object
Answer : C

Explanation: java.util.random class is used to generate random numbers in java program.

Question 581: Which method is used to generate boolean random values in java?

a) nextBoolean()

b) randomBoolean()

c) previousBoolean() 6

d) generateBoolean() < |
Answer : A

Explanation: nextBoolean() method ofjava.util.RandowéSis used to generate random

numbers. &

Question 582: What is the return type of Matheg om() method?

a) Integer )

b) Double @

c) String

d) Boolean ’K\'
Answer : B @

Explanation: Math.randol'@od returns floating point number or precisely a double.

Question 583: What range of numbers returned by Math.random() method?

a)-1.0t0 1.0

b)-1tol

c) 0 to 100

d) 0.0t0 1.0
Answer : D

Explanation: Math.random() returns only double value greater than or equal to 0.0 and less than

1.0.
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Packages

Question 584: Which keyword is used to define packages in Java?
a) pkg
b) Pkg
C) package
d) Package
Answer : C
Explanation: None.

Question 585: Which of these is a mechanism for naming and visibility control of a class and its
content?

VS

a) Object
b) Packages 6

c) Interfaces

d) None of the Mentioned
Answer : B

Explanation: Packages are both naming and visibility cont® mechanism. We can define a class
inside a package which is not accessible by code outside{t ckage.

Question 586: Which of this access specifies can xDsed for a class so that its members can be
accessed by a different class in the same packgeg

a) Public \J/
b) Protected
c) No Modifier(Default

d) All of the mention

Answer : D

Explanation: Either we can u c, protected or we can name the class without any specifier.

]

Question 587: Whi access specifiers can be used for a class so that its members can
be accessed by a diffe lass in the different package?

a) Public

b) Protected

c) Private

d) No Modifier
Answer : A
Explanation: None.

Prepared By : Mr. M.Islabudeen, Associate Professor, CSE, SAEC, Ramanathapuram 233




SYED AMMAL ENGINEERING COLLEGE
RAMANATHAPURAM
Department of Computer Science and Engineering | g TOV
(Accreditated by NBA) |1
JAVA PROGRAMMING )

Question 588: Which of the following is the correct way of importing an entire package ‘pkg’?

a) import pkag;
b) Import pkg.
c) import pkg.*
d) Import pkg.*
Answer : C
Explanation: Operator * is used to import the entire package.

Question 589: Which of the following package stores all the standard java classes?

a) lang
b) java

c) util
d) java.packages
Answer : B 6

Explanation: None. o~

package pkg;

class display

{
int x; \'
void show()

{
if (x> 1)
System out. prm&
cIass packagesQ

|d main(String args]])
{

display[] arr=new display[3];

for(int i=0;i<3;i++)
arrfij=new display();

arrf0].x = 0;

ar1].x=1;

arr2].x = 2;

for (inti=0;i<3; ++i)
arrfi].show();

}

Note : packages.class file is in directory pkg;

)
Question 590: What is the output of this program? s\(\/
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a)0

b) 1

c)2

d)012
Answer : C
Explanation: None.

Question 591: What is the output of this program?
package pkg;
class output

{

public static void main(String args(])

{

StringBuffer s1 = new StringBuffer("Hello");
s1.setCharAt(1, x);

System.out.printin(s1); < ,
}
} S
a) xello

b) xxxxx

i QS
exio
2

Answer : C
Explanation: None. §

Prepared By : Mr. M.Islabudeen, Associate Professor, CSE, SAEC, Ramanathapuram 235




SYED AMMAL ENGINEERING COLLEGE

RAMANATHAPURAM

Department of Computer Science and Engineering < Tg{}/'

(Accreditated by NBA)

JAVA PROGRAMMING

Core Java APl Packages

Question 592: Which package is used for graphical user interface?

a) java.applet

b) java.awt

C) java.awt.image

d) java.io
Answer : B

Explanation: java.awt provides capabilities for graphical user interface.

Question 593: Which of this package is used for analyzing code during run-time?

a) java.applet

b) java.awt

C) java.io 6

d) java.lang.reflect < )
Answer : D

Explanation: Reflection is the ability of software to anal@ elf. This is provided by
java.lang.reflect package. &

Question 594: Which of this package is used jag, ndling security related issues in a program?

a) java.security )
b) java.lang.security @

C) java.awt.image

d) java.io.security \'

Answer : A é

Explanation: java.security@ certificates, keys, digests, signatures, and other security
functions.
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Interfaces

Question 595: Which keyword is used to define interfaces in Java?
a) interface
b) Interface
c) intf
d) Intf
Answer : A

Explanation: None.

Question 596: Which of these can be used to fully abstract a class from its implementation?
a) Objects

b) Packages
¢) Interfaces 6
d) Final
Answer : C s\
Explanation: None. 0

Question 597: Which of these access specifiers @ﬂsed for an interface?

a) Public

b) Protected @

C) private @

d) All of the mentioned
Answer : A &\'
Explanation: Access specifie nterface is either public or no specifier. When no access
specifier is used then defa ss specifier is used due to which interface is available only to
other members of th In which it is declared, when declared public it can be used by any
code.

Question 598: Which keyword is used by a class to use an interface defined previously?
a) import
b) Import
¢) implements
d) Implements
Answer : C

Explanation: interface is inherited by a class using implements.
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Question 599: Which of the following is the correct way of implementing an interface salary by
class manager?

a) class manager extends salary {}
b) class manager implements salary {}
c) class manager imports salary {}
d) none of the mentioned
Answer : B

Explanation: None.

Question 600: Which of the following is an incorrect statement about interfaces?

a) Interfaces specifies what class must do but not how it dg

b) Interfaces are specified public if they are to be accesw@y code in the
program

c) All variables in interface are implicitly final an @

d) All variables are static and methods are public@r ace is defined pubic

Answer : D \
Explanation: All methods and variables are |mpI|C|tIy p it interface is declared public.

Question 601: What is the output of this prograrQ
interface calculate

{ @
void cal(int item);
}
{%af

class display imple culate

int x; %
publlc vc@ item)
* item;

}
}

class interfaces

{

public static void main(String args[])
{
display arr = new display;
arrx=0;
arr.cal(2);
System.out.print(arr.x);

}
}
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a)0
b) 2
c)4
d) None of the mentioned
Answer : C

Explanation: None.

Question 602: What is the output of this program?
interface calculate

{ void cal(int item);
zzlass displayA implements calculate 6@
{ int x; C)

public void cal(int item) s\

: X = item * item; O

} Q&
class displayB implements calcul

{
int x; @
public void cal(int ite
{ N
X = item/ ite @
} Q
}

class j

{

public static void main(String args[])
{
displayA arr1 = new displayA,
displayB arr2 = new displayB;
arrl.x=0;
arr2.x=0;
arr1.cal(2);
arr2.cal(2);
System.out.print(arr1.x +

}
}

+arr2.x);
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a)00
b)22
)41
d14
Answer : C

Explanation: class displayA implements the interface calculate by doubling the value of item,
where as class displayB implements the interface by dividing item by item, therefore variable x
of class displayA stores 4 and variable x of class displayB stores 1.

Question 603: What is the output of this program?

interface calculate
{
int VAR = 0; 6

void cal(int item);

} @,
class display implements calculate
{ \
int x; O
public void cal(int item)

T Q™
if (item
x =VAR; @
else @
X = item @'
}
) Q"b’

class interfa

)
atic void main(String args|])

display[] arr=new display[3];
for(int i=0;i<3;i++)
arrfi]=new display();

arr[0].cal(0);
arr[1].cal(1);
arr[2].cal(2);
System.out.print(arr{0].x+" " + arr[1].x + " " + arr[2].X);
}
}
a)012
b)024
c)004
d0o14
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Answer : C

Explanation: None.

Question 604: What does an interface contain?
a) Method definition
b) Method declaration
¢) Method declaration and definition
d) Method name

Answer : B

Explanation: Interface contains the only declaration of the method. y

P
Question 605: What type of methods an interface contain by defa%c

a) abstract

b) static ( ’
c) final s\

d) private O

Answer : A

Explanation: By default, interface contains abstr t\ﬂ'uods. The abstract methods need to be
implemented by concrete classes. @

Question 606: What will happen if w@ﬁ concrete implementation of method in interface?
a) The concrete class ir& nting that method need not provide implementation
of that method
b) Runtime excep# rown
¢) Compilatio

d) Metho n®exception is thrown
Answer : C

Explanation: The methods of interfaces are always abstract. They provide only method
declaration.

Question 607: What happens when a constructor is defined for an interface?
a) Compilation failure
b) Runtime Exception
¢) The interface compiles successfully
d) The implementing class will throw exception
Answer : A

Explanation: Constructor is not provided by interface as objects cannot be instantiated.
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Question 608: What happens when we access the same variable defined in two interfaces
implemented by the same class?

a) Compilation failure

b) Runtime Exception

c) The JVM is not able to identify the correct variable

d) The interfaceName.variableName needs to be defined
Answer : D

Explanation: The JVM needs to distinctly know which value of variable it needs to use. To avoid

confusion to the JVM interfaceName.variableName is mandatory.

¢
S

Q\'
&
&
@QQS\
Q
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Generics

Question 609: What is the output of this program?
import java.util.”;
public class genericstack <E>

{
Stack <E> stk = new Stack <E>();

public void push(E obj)

{
stk.push(obj);

public E pop()
{
E obj = stk.pop(); @
return obj; 6
| @
class Output
| S

public static void main(String args[])

{
genericstack <String> gs = neyysene¥icstack<String>();
gs.push("Hello");

System.out.printin(gs.pgd)N
}

} &
a) H @,

b) Hello

¢) Runtime E Q

d) Compybeiy ro

Answer : B
Explanation: None.

Question 610: What is the output of this program?
import java.util.”;
public class genericstack <E>
{
Stack <E> stk = new Stack <E>();
public void push(E obj)
{

}

stk.push(obyj);
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public E pop()
{
E obj = stk.pop();
return obyj;
}
}

class Output

{

public static void main(String args[])

{

genericstack <String> gs = new genericstack<String>();
gs.push("Hello");

System.out.print(gs.pop() + " ");

genericstack <Integer> gs = new genericstack<Inte \
gs.push(36);

System.out.printin(gs.pop()); C}
i é&
a) Error
(l:;))) :I;IBeIIo Q’\t
SE— d) Hello 36 @
Explanation: None. @

QO
A4
Question 611: What is the 0ut;::®h‘m program?

import java.uti
stack <E>

public clas@
{
<E> stk = new Stack <E>();

public void push(E obj)
{

}
public E pop()

{

stk.push(obj);

E obj = stk.pop();
return obj;

}
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class Output

{

public static void main(String args])
{
genericstack <Integer> gs = new genericstack<Integer>();
gs.push(*Hello”);
System.out.printin(gs.pop());
}
}
a)H
b) Hello

¢) Runtime Error
d) Compilation Error
Answer : D

Explanation: genericstack’s object gs is defined to contain a s@;’ﬁmeter but we are sending
an integer parameter, which results in compilation error. K

Question 612: Which of the following is Type paramet&iz¥d’?
a) Overloaded Methods

b) Generic methods Q’\'
c) Class methods @
d) Overriding methods

Answer : B \'@

Explanation: None. é
¢

Question 613: What are gen@®\c §rethods?
a) Generi re the methods defined in a generic class
b) Gen ds are the methods that extend generic class methods
c) Generi thods are methods that introduce their own type parameters

d) Generic methods are methods that take void parameters
Answer : C

Explanation: Generic methods are methods that introduce their own type parameters. This is
similar to declaring a generic type, but the type parameter scope is limited to the method where it
is declared. Static and non-static generic methods are allowed, as well as generic class
constructors.
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Question 614: What is the output of this program?
import java.util.”;
class Output

{

public static double sumOfList(List<? extends Number> list)
{
double s =0.0;
for (Number n : list)
s += n.doubleValue();
return s;

}

public static void main(String args]])

{
List<Double> Id = Arrays.asList(1.2, 2.3, 3.9); 6

System.out.printin(sumOfList(ld));

i @,

250 S

c) 8.0

d) 6.0 Q’\'
Answer : B
Explanation: None. A@
Question 615: Which of these is wil ymbol?

a)?

>

c) % Q

b O
Answer : A
Explanation: In gener e, the question mark (?), called the wildcard, represents an unknown

type.

Question 616: What is use of wildcards?

a) It is used in cases when type being operated upon is not known

b) It is used to make code more readable

c) It is used to access members of super class

d) It is used for type argument of generic method
Answer : A
Explanation: The wildcard can be used in a variety of situations: as the type of a parameter, field,
or local variable; sometimes as a return type (though it is better programming practice to be more
specific). The wildcard is never used as a type argument for a generic method invocation, a
generic class instance creation, or a supertype.
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Question 617: Which of these keywords is used to upper bound a wildcard?
a) stop
b) bound
c) extends
d) implements
Answer : C

Explanation: None.

Question 618: Which of these is an correct way making a list that is upper bounded by class
Number? P
a) List<? extends Number>

b) List<extends ? Number> %
c) List(? extends Number) C}

d) List(? UpperBounds Number)

Answer : A s\

Explanation: None.

Question 619: Which of the following keyword PN Y2d for lower bounding a wild card?
a) extends @
b) super @
c) class
d) lower \'
Answer : B @%

Explanation: A lower boun Q@dcard is expressed using the wildcard character (‘?°),
following by the super i, Nollowed by its lower bound.
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